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12838(X) e =5 18 ot e
12848 () e & 10 VD L
12858 (&) e T 10 ot e
12888(H) e = 10 T Lo
12898(8) e & 10 Lo o
128 108 (X) e = 10 VD L
128 11H (K) e T 10 ot e
128128(8) e = 10 VD L
128 156(8) e ol 10 S e
128165 () e = 10 TNED Lo
128178(K) e ) 10 T e
128 18H () e = 10 TN e
12H 1905 (X) e T 10 T e
128226 (8) e = 10 S too
128238(8) e ) 10 ot o0
128245 (X) e = 10 0D Lo
128256 (K) e ) 10 Bt Lo
186E(8) e = 10 T o
1A78(X) = e e o
1H8E () e e 0 13250 S
EEleS e e 10 13,590 77%
18128(8) e = 10 -~ e
18138(8) e ) 18 D L
1B 146 (X) e = 10 et e
1H158 () e =T 10 e e
1816E () e = 10 P e
1H198(H) e =T 10 e L
18208(8) e = 10 P =
1A218(X) e =T 10 T e
18228 (K) e = 10 P e
1A238(A) e =T 10 T e
1826E(H) e o 10 ot e
1A278(8) e =T 10 e e
18286 (X) e = 10 P e
1A 298 () e =T 10 T e
13308 (k) e =T 10 et e
2B28(8) e =T 10 ot o
2B38(8) e ) 1 o Lo
2B48(N) e =T 18 Tt L2
2B5H(K) e ) 10 o T
2A6E () A o 3290 o
2898 (H) e T 0 re50 o
28108 (B) e =T 18 ot Lo
2B11E(X) na =T 10 o L
2B 128(K) e =T 10 Tt L2
2B 136 (A) e =T 10 o T
2B 16H(H) e =T 10 T o
2B176(B) e ) 10 TN Lo
2B 188(X) e =T 10 13?38 L2
2 L = . 7 2
H19H(K) A& rE] | 10 14,590 7202




Bx-d X[ (G IBEX4Fifi
28208 (k) s & 10 14,590 75%
2823H(H) iE & 10 15,590 73%
28248(B) s & 10 14,590 75%
28258 () s & 10 14,590 75%
2826H(K) s & 10 14,590 75%
2827H(X) s & 10 14,590 75%
12818(8) el s 11 16,590 73%
12828(H) Pl s 11 15,090 75%
12538(X) el s 11 15,090 75%
12548 (%K) Pl s 11 15,090 75%
12558 (K) el s 11 15,090 75%
1256H (%) Pl s 11 15,090 75%
12878(1) el s 11 16,590 73%
1258H(H) Pl s 11 16,590 73%
12898 (A) & s 11 15,090 75%
125108 (X) & s 11 15,090 75%
128118 (K) el s 11 15,090 75%
125128 (k) el s 11 15,090 75%
128138(®) el s 11 15,090 75%
125148 (%) & s 11 16,590 73%
128158(8) el s 11 15,090 75%
12516H(A) & s 11 13,590 78%
128178(X) el s 11 13,590 78%
12518H(K) & s 11 13,590 78%
128198 (k) el s 11 13,590 78%
12H208(&) & s 11 13,590 78%
12H218(%) el s 11 15,090 75%
128228 (8) el s 11 18,590 69%
128238(A) & s 11 17,090 72%
128248 (N) el s 11 17,090 72%
128258 (K) & s 11 17,090 72%
12H26H(K) el s 11 17,090 72%

186H(B) & s 11 18,590 68%
1B7H(K) el s 11 10,090 83%
1A8H(K) & s 11 10,090 83%
159H (k) el s 11 10,090 83%
1A10H(®) & s 11 15,590 73%
18118(1) el s 11 15,590 73%
1A128(8) & s 11 15,590 73%
18138(H) el s 11 16,590 71%
18148 (X) & s 11 16,590 71%
18158 (%K) el s 11 10,090 83%
1A16H(X) eI s 11 10,090 83%
18178(%) & s 11 10,090 83%
1A18H(1) eI s 11 14,590 75%
18198 (R) el s 11 14,590 75%
18208(A) eI s 11 10,090 83%
18218(X) el s 11 10,090 83%
18228 (K) eI s 11 10,090 83%
18238 (k) el s 11 10,090 83%
1A248(%) P s 11 10,590 82%
18258 (1) & s 11 14,590 75%
1826H(H) P s 11 14,590 75%
18278(8) el s 11 10,090 83%
18288 (X) eI s 11 10,090 83%




Bx-d X[ (G IBEX4Fifi

18298 (%K) & s 11 10,090 83%
18530H(K) & s 11 10,090 83%
1831H(®) el s 11 10,590 82%
281H (L) Pl s 11 14,590 75%
2828(8) el s 11 14,590 75%
283H(A) Pl s 11 11,090 81%
2848 (N) el s 11 11,090 81%
2858 (K) Pl s 11 11,090 81%
286H (k) el s 11 11,090 81%
287H(2) Pl s 11 11,590 80%
2A8HE(L) el s 11 14,590 75%
289H(H) Pl s 11 14,590 75%
2A108(B) el s 11 11,090 81%
2B11HCN) Pl s 11 11,090 81%
28128 (K) & s 11 11,090 81%
2813H(X) & s 11 11,090 81%
2A148(%) el s 11 11,590 80%
28158(1) & s 11 14,590 75%
2A16H(H) el s 11 14,590 75%
2817H(B) & s 11 11,090 81%
28188 (N) el s 11 11,090 81%
2819H(K) & s 11 11,090 81%
28208 (k) el s 11 11,090 81%
2821H(%) & s 11 11,590 80%
28228(1) el s 11 14,590 75%
2823H(H) & s 11 14,590 75%
28248(B) el s 11 11,090 81%
28258 () el s 11 11,090 81%
2826E(K) & s 11 11,090 81%
2827H(X) el s 11 11,090 81%
2F288 (%) & s 11 11,590 80%
383H(8) el s 11 11,090 82%
3848 (X) & s 11 11,090 82%
3858 0K) el s 11 11,090 82%
386H(K) & s 11 11,090 82%
3878(2) & s 11 11,090 82%
3810H(B) & s 11 11,090 82%
3B11H(KN) el s 11 11,090 82%
38128(K) & s 11 11,090 82%
3813H(X) el s 11 11,090 82%
3B148(%) & s 11 11,090 82%
38178(B) el s 11 11,090 82%
3A18H(K) eI s 11 11,090 82%
38198 (K) el s 11 11,090 82%
38208 (X) eI s 11 11,090 82%
3821H(%) & s 11 11,090 82%
12828(8) s & 12 16,090 73%
12838(N) s & 12 16,090 73%
12848 (K) s & 12 16,090 73%
12558 (K) s & 12 16,090 73%
1258H(R) s & 12 17,590 71%
1289H(B) s & 12 16,090 73%
128108 (X) s & 12 16,090 73%
128118 (K) s & 12 16,090 73%
128 128(K) s & 12 16,090 73%




a%H [XF& B IBEX#il
12H15H(H) =y &l 12 16,090 73%
12H16H(H) NS, &l 12 14,590 76%
12H17H(CN) W=y @] 12 14,590 76%
12H18H(K) NS, &l 12 14,590 76%
12H19H(K) W=y @] 12 14,590 76%
12H22H(H) NS, &l 12 19,590 68%
12H23H(H) W=y @] 12 18,090 70%
12H24H(N) NS, &l 12 18,090 70%
12H25H(K) W=y @] 12 18,090 70%

156H(H) NS, &l 12 17,590 70%
1H7H(X) W=y @] 12 13,590 77%
1H8H(K) NS, &l 12 13,590 77%
1H9H(XK) W=y @] 12 13,590 77%
1H12H(H) NS, &l 12 15,590 73%
1H13H(H) W= @] 12 15,590 73%
1H14H(X) =y e ] 12 15,590 73%
1H15H(K) =y @] 12 13,590 77%
1H16H(K) =3 e ] 12 13,590 77%
1H19H((H) =y @] 12 15,590 73%
1H20H(H) =y e ] 12 13,590 77%
1H21H(X) =y @] 12 13,590 77%
1H22H(K) =y e ] 12 13,590 77%
1H23H(K) =y @] 12 13,590 77%
1H26H(H) =3 e ] 12 15,590 73%
1H27H(H) =y @] 12 13,590 77%
1H28H(X) =y e ] 12 13,590 77%
1H29H(K) =y @] 12 13,590 77%
1H30H(K) =3 &l 12 13,590 77%
2H2H(H) =y ] 12 15,590 73%
2H3H((A) =3 &l 12 14,590 75%
2H4H(N) = ] 12 14,590 75%
2H5B8(0K) =3 &l 12 14,590 75%
2H6H(K) = ] 12 14,590 75%
2H9H(H) =3 &l 12 15,590 73%
2H10H(H) = ] 12 14,590 75%
2H11HX) =3 &l 12 14,590 75%
2H12H(K) = ] 12 14,590 75%
2H13H(XK) =3 &l 12 14,590 75%
2H16H(H) = ] 12 15,590 73%
2H17H(H) =3 &l 12 14,590 75%
2H18H(X) =y @] 12 14,590 75%
2H19H(K) W=y &l 12 14,590 75%
2H20H(K) W=y il 12 14,590 75%
2H23H(H) W=y &l 12 15,590 73%
2H24H(H) W=y il 12 14,590 75%
2H25H(N) W=y &l 12 14,590 75%
2H26H(K) W=y il 12 14,590 75%
2H27H(XK) W=y &l 12 14,590 75%
12H1H(H) &l =) 13 16,590 73%
12852H(H) &l =3 13 15,090 75%
12H3H(X) &l (= 13 15,090 75%
12H4H(K) &l =3 13 15,090 75%
12H5H(K) &l (= 13 15,090 75%
12H6H(E) &l =3 13 15,090 75%
12H7H(XL) &l =) 13 16,590 73%




a%H [XF& B IBEX#il
12H8H(H) &l =3 13 16,590 73%
12H9H(AH) &l = 13 15,090 75%
12H108(CN) f& ] e 13 15,090 75%
12H11H(K) &l = 13 15,090 75%
12H12H(K) f& ] e 13 15,090 75%
12H13H(%&) &l = 13 15,090 75%
12H14H(%) &l e 13 16,590 73%
12H15H(H) &l = 13 15,090 75%
12H16H(H) &l e 13 13,590 78%
12H17H(CN) &l = 13 13,590 78%
12H18H(K) f& ] e 13 13,590 78%
12H19H(K) &l = 13 13,590 78%
12H208 (&) &l e 13 13,590 78%
12H21H(X) &l = 13 15,090 75%
12H22H(H) &l =y 13 18,590 69%
12H23H(H) &l il= 13 17,090 72%
12H24H(N) & ] =) 13 17,090 72%
12H25H(K) &l il= 13 17,090 72%
12H26H(K) & ] =) 13 17,090 72%

1H6H(H) &l il= 13 18,590 68%

1878B(X) & ] =) 13 10,090 83%

1H8H(K) &l = 13 10,090 83%

1H9H(K) & ] =) 13 10,090 83%
1H10H(E) &l il= 13 15,590 73%
1H11H(XL) &l =) 13 15,590 73%
1812H(H) &l = 13 15,590 73%
1H13H(H) &l =) 13 16,590 71%
1H148(N) fe ] (U=} 13 16,590 71%
1H15H(K) & =y 13 10,090 83%
1H16H(K) &l =3 13 10,090 83%
1H17H(ER) &l =) 13 10,090 83%
1H18H(L) &l =3 13 14,590 75%
1H19H(H) &l =y 13 14,590 75%
1820H(H) &l =3 13 10,090 83%
1H21H(CX) & =) 13 10,090 83%
1H22H(K) &l =3 13 10,090 83%
1H23H(K) & =y 13 10,090 83%
1H24H(E) &l =3 13 10,590 82%
1H25H(XL) &l =y 13 14,590 75%
1H26H(H) &l =3 13 14,590 75%
1H27H(H) fE ] =) 13 10,090 83%
1H28H(X) &l =3 13 10,090 83%
1H29H(K) &l (= 13 10,090 83%
1H30H(K) &l =3 13 10,090 83%
1H31H(ER) &l =) 13 10,590 82%

2H1H(L) &l =3 13 14,590 75%

2H2H(H) &l =) 13 14,590 75%

2H3H((A) &l =3 13 11,090 81%

2H48(X) &l (= 13 11,090 81%

2H5H(K) &l =3 13 11,090 81%

2H6H(K) &l (= 13 11,090 81%

2H7H (&) &l =3 13 11,590 80%

2H8H(X) &l = 13 14,590 75%

2H9H(H) &l =3 13 14,590 75%
2H10H(H) &l =) 13 11,090 81%




a%H [XF& B IBEX#il

2H11H(N) &l =3 13 11,090 81%
2H12H(K) &l = 13 11,090 81%
2H13H(XK) f& ] =) 13 11,090 81%
2H14H(E) &l = 13 11,590 80%
2H15H(L) &l =) 13 14,590 75%
2H16H(H) &l = 13 14,590 75%
2H17H(H) &l =) 13 11,090 81%
2H18H(X) &l = 13 11,090 81%
2H19H(K) f& ] =) 13 11,090 81%
2H20H(K) &l = 13 11,090 81%
2H21H(®) &l =) 13 11,590 80%
2H22H (%) &l = 13 14,590 75%
2H23H(H) &l =) 13 14,590 75%
2H24H(H) &l = 13 11,090 81%
2H25H(X) & ] =) 13 11,090 81%
2H26H(K) &l il= 13 11,090 81%
2H27H(K) & ] =) 13 11,090 81%
2H28H (&) &l il= 13 11,590 80%

3H3H(H) &l =) 13 11,090 82%

3H48(X) &l il= 13 11,090 82%

3H5H(K) & ] =) 13 11,090 82%

3H6H(K) G=lid = 13 11,090 82%

3H7H(GE) &l =) 13 11,090 82%
3H10H(H) &l il= 13 11,090 82%
3H11HX) & ] =) 13 11,090 82%
3H12H(K) &l = 13 11,090 82%
3H13H(K) & ] =) 13 11,090 82%
3H14H(%) &l =3 13 11,090 82%
3H17H(H) & =) 13 11,090 82%
3H18H(N) &l =3 13 11,090 82%
3H19H(K) & =) 13 11,090 82%
3H20H(XK) &l =3 13 11,090 82%
3H21H(5&) &l =) 13 11,090 82%
1281H((H) =3 &l 14 16,590 73%
12H2H(H) = ] 14 15,090 75%
12H3HX) =3 &l 14 15,090 75%
12H4H(K) = ] 14 15,090 75%
12H5H(K) =3 &l 14 15,090 75%
12H6H(E) = ] 14 15,090 75%
12H7H(XL) =3 &l 14 16,590 73%
12H8H(H) =y @] 14 16,590 73%
12859H(H) W=y &l 14 15,090 75%
12H10H(N) W=y il 14 15,090 75%
12H11H(K) W=y &l 14 15,090 75%
12H12H(K) W=y il 14 15,090 75%
12H13H(%) W=y &l 14 15,090 75%
12H14H(X) W=y e ] 14 16,590 73%
12515H(H) W=y &l 14 15,090 75%
12H16H(H) W=y il 14 13,590 78%
12H17H(N) =y &l 14 13,590 78%
12H18H(K) = fE 14 13,590 78%
12H19H(K) =y &l 14 13,590 78%
12H208H (&) = e ] 14 13,590 78%
12H21H(X) =y &l 14 15,090 75%
12H22H(H) = &l 14 18,590 69%
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128248(K) e = 12 ST Lo
128258 (K) e & 14 L e

186H(8) e ol 1 o5 Lo
1H78(X) e & 12 ET e
1H8H(K) e T 14 TG 53
1B (A) e = 14 T 53
18108(2) e ) 14 Th o
1118 (1) e = 14 T o
18128(8) e ol 14 T2'250 o
18138(8) e = 14 o e
1148 (X) e T 14 TELn e
1H158 () e & 14 T 5
1H16H(A) e T 14 TG 53
1H178(%) e = 14 T 53
1H188 (1) e ) 14 P oo
18198(H) e = 14 e o
1H208(8) e ) 14 e 5o
1A21E(X) e = 14 T 53
18228 0K) e ) 14 Tt o3
18236 () e = 14 T 53
1H248 (%) e ) 14 et 5o
18256(1) e = 14 T e
1H268(8) e ) 14 T L2
18276(8) e = 14 T o
18288 (N) e ) 14 Tt o3
18298 (K) e = 14 T 53
1H308 (&) e ) 14 Tt 53
18310 (2) e o 14 e 53
2B1A(T) e =T 1 et e
>H2E(R) e T ; 14290 =
EEIC e e 14 14,590 75%
>B4E(N) e = 12 ot oo
2B58(K) e =T 14 i Sio
2B6E (k) e = 14 ot oo
>A7B(%) a = 550 S0
Il e ¥§E‘| 14 11,590 80%
 Hon(a) e *gm 14 14,590 75%
28108 (8) e &5 13 et S
2B11R(X) e =T 14 i Sio
28 126 (K) e = 14 ot oo
2B 136 (A) e T 14 T Si0
2B 148 (%) e = 14 it 505
2B158(1) e =T 14 T Son
2B168(H) na o 14 e o
2B178(8) e =T 14 N too
28 18 (X) na =T 14 N 510
2B 198(K) e =T 14 I oo
28208 () na =T 14 N 510
2B210(%) e =T 14 EG S0
2B228(1) e = 14 ot S
28236 (H) e =T 14 YT L
28245 (B) e =T 14 T =
2B258(K) e =T 14 ﬂggg Sio
2 L = . 2
H26H(K) A& rE] | 14 11,090 2102




a%H [XF& B IBEX#il

2H27H(XK) =y &l 14 11,090 81%
2H28H(E) NS, &l 14 11,590 80%

3H3H(A) W=y @] 14 11,090 82%

3H48(X) NS, &l 14 11,090 82%

3H5H(K) W=y @] 14 11,090 82%

3H6H(K) NS, &l 14 11,090 82%

3H7H(GE) W=y @] 14 11,090 82%
3H10H(H) NS, &l 14 11,090 82%
3H11HX) W=y @] 14 11,090 82%
3H12H(K) NS, &l 14 11,090 82%
3H13H(XK) W=y @] 14 11,090 82%
3814HGE) NS, &l 14 11,090 82%
3H17H(H) W=y @] 14 11,090 82%
3H18H(X) NS, &l 14 11,090 82%
3H19H(K) W= @] 14 11,090 82%
3H20H(XK) =y &l 14 11,090 82%
3H21H(®) =y @] 14 11,090 82%
1281H(H) &l il= 15 16,590 73%
12H2H(H) &l =) 15 15,090 75%
12H3HX) &l il= 15 15,090 75%
12H4H(K) & ] =) 15 15,090 75%
12H5H(K) &l = 15 15,090 75%
12H6H(ER) &l =) 15 15,090 75%
12H7H(XL) &l il= 15 16,590 73%
12H8H(H) &l =) 15 16,590 73%
12859H(H) &l = 15 15,090 75%
12H10H(CN) & ] =) 15 15,090 75%
12H11H(K) &l = 15 15,090 75%
12H12H(K) & =y 15 15,090 75%
12H13H(%&) &l =3 15 15,090 75%
12H14H(X) &l =) 15 16,590 73%
12H15H(H) &l =3 15 15,090 75%
12H16H(A) & =y 15 13,590 78%
12H17H(CN) &l =3 15 13,590 78%
12H18H(K) & =) 15 13,590 78%
12H19H(XK) &l =3 15 13,590 78%
12H208H (&) &l =) 15 13,590 78%
12H21H(X) &l =3 15 15,090 75%
12822H(H) &l =) 15 18,590 69%
12H23H(A) &l =3 15 17,090 72%
12H24H(N) fE ] =) 15 17,090 72%
12H25H(K) &l =3 15 17,090 72%
12H26H(XK) &l (= 15 17,090 72%

1H6H(H) &l =3 15 18,590 68%

1H7H(CN) &l (= 15 10,090 83%

1H8H(K) &l =3 15 10,090 83%

1H9H(XK) &l (= 15 10,090 83%
1H10H(E) &l =3 15 15,590 73%
1H11H(EL) &l =) 15 15,590 73%
1H12H(H) &l =3 15 15,590 73%
1H13H(H) &l (= 15 16,590 71%
1H14H(KX) &l =3 15 16,590 71%
1H15H(K) &l (= 15 10,090 83%
1H16H(K) &l =3 15 10,090 83%
1H17H(E) &l =) 15 10,090 83%




a%H [XF& B IBEX#il
1H18H(XL) &l =3 15 14,590 75%
1H19H(H) &l = 15 14,590 75%
1H20H(H) &l =) 15 10,090 83%
1H21H(CKX) &l = 15 10,090 83%
1H22H(K) f& ] e 15 10,090 83%
1H23H(K) &l = 15 10,090 83%
1H24H(&) &l =) 15 10,590 82%
1H25H(%) &l = 15 14,590 75%
1H26H(H) &l =) 15 14,590 75%
1H27H(H) &l = 15 10,090 83%
1H28H(X) f& ] e 15 10,090 83%
1H29H(K) &l = 15 10,090 83%
1H30H(K) f& ] e 15 10,090 83%
1831H(%) &l = 15 10,590 82%
2H1H(X) &l =) 15 14,590 75%
2H2H((H) &l il= 15 14,590 75%
2H3H(H) &l =) 15 11,090 81%
2H4B(X) &l il= 15 11,090 81%
2H5HK) & ] =) 15 11,090 81%
2H6H(K) &l il= 15 11,090 81%
2H7H(ER) &l =) 15 11,590 80%
2H8H(L) &l = 15 14,590 75%
2H9H(H) &l =) 15 14,590 75%
2H10H(H) &l il= 15 11,090 81%
2H11HCN) & ] =) 15 11,090 81%
2H12H(K) &l = 15 11,090 81%
2H13H(K) & ] =) 15 11,090 81%
2H14H(®) &l =3 15 11,590 80%
2H15H(%) &l =) 15 14,590 75%
2H16H(H) &l =3 15 14,590 75%
2H17H(H) & =) 15 11,090 81%
2H18H(N) &l =3 15 11,090 81%
2H19H(K) & =) 15 11,090 81%
2H20H(XK) &l =3 15 11,090 81%
2H21H(5&) &l =) 15 11,590 80%
2H22H(%) &l =3 15 14,590 75%
2H23H(H) &l =) 15 14,590 75%
2H24H(H) &l =3 15 11,090 81%
2H25H(X) & =) 15 11,090 81%
2H26H(K) &l =3 15 11,090 81%
2H27H(K) fE ] =) 15 11,090 81%
2H28H (%) &l =3 15 11,590 80%
3H3H((H) &l (= 15 11,090 82%
3H48(X) &l =3 15 11,090 82%
3H5H(K) &l (= 15 11,090 82%
3H6H(K) &l =3 15 11,090 82%
3H7H(GE) &l =) 15 11,090 82%
3H10H(A) &l =3 15 11,090 82%
3H11H(X) &l (= 15 11,090 82%
3H12H(K) &l =3 15 11,090 82%
3H13H(K) &l (= 15 11,090 82%
3H14H(®) &l =3 15 11,090 82%
3H17H(H) &l (= 15 11,090 82%
3H18H(N) &l =3 15 11,090 82%
3H19H(K) &l =) 15 11,090 82%




a%H [XF& B IBEX#il
3H20H(XK) &l =3 15 11,090 82%
3821HGE) &l = 15 11,090 82%
1251H(H) W=y @] 16 16,590 73%
12H2H(H) NS, &l 16 15,090 75%
12H3H(X) W=y @] 16 15,090 75%
12H4H(K) NS, &l 16 15,090 75%
12H5H(K) W=y @] 16 15,090 75%
12H6H(E) NS, &l 16 15,090 75%
12/7H(XL) W=y @] 16 16,590 73%
12H8H(H) NS, &l 16 16,590 73%
12H9H(H) W=y @] 16 15,090 75%
12H10H(N) NS, &l 16 15,090 75%
12H11H(K) W=y @] 16 15,090 75%
12H12H(K) NS, &l 16 15,090 75%
12H13H(:&) W= @] 16 15,090 75%
12H14H(X) =y e ] 16 16,590 73%
12H15H(H) =y @] 16 15,090 75%
12H16H(H) =3 &l 16 13,590 78%
12H17H(N) =y @] 16 13,590 78%
12H18H(K) =y &l 16 13,590 78%
12H19H(K) =y @] 16 13,590 78%
12H20H(&) =y &l 16 13,590 78%
12H21H(X) =y @] 16 15,090 75%
12H22H(H) =3 e ] 16 18,590 69%
12H23H(AH) =y @] 16 17,090 72%
12H24H(N) =y e ] 16 17,090 72%
12H25H(0K) =y @] 16 17,090 72%

1H6H(H) =3 &l 16 17,090 70%
1878(X) =y ] 16 10,090 83%
1H8H(K) =3 &l 16 10,090 83%
1H9H(K) = ] 16 10,090 83%
1H10HGE) =3 &l 16 15,590 73%
1H11H(L) = ] 16 16,590 71%
1H12H(H) =3 &l 16 15,590 73%
1H13H(H) = ] 16 15,590 73%
1H14H(X) =3 &l 16 15,590 73%
1H15H(K) = ] 16 10,090 83%
1H16H(K) =3 &l 16 10,090 83%
1H17H(ER) = ] 16 10,090 83%
1H18H(L) =3 &l 16 14,590 75%
1H19H(H) =y @] 16 14,590 75%
1H20H(H) W=y &l 16 10,090 83%
1H21H(KN) W=y il 16 10,090 83%
1H22H(K) W=y &l 16 10,090 83%
1H23H(K) W=y il 16 10,090 83%
1H24H(&E) W=y &l 16 10,590 82%
1H25H(L) W=y e ] 16 14,590 75%
1H26H(H) W=y &l 16 14,590 75%
1H27H(H) W=y il 16 10,090 83%
1H28H(X) =y &l 16 10,090 83%
1H29H(K) = fE 16 10,090 83%
1H30H(K) =y &l 16 10,090 83%
1H31H(ER) = e ] 16 10,590 82%
2H1H(L) =y &l 16 14,590 75%
2H2H(H) = &l 16 14,590 75%




Bx-d X[ (G IBEX4Fifi
2838(A) s & 16 11,090 81%
2848 (N iE & 16 11,090 81%
2858 (K) s & 16 11,090 81%
286H(K) s & 16 11,090 81%
2A78(&) s & 16 11,590 80%
288H(1) s & 16 14,590 75%
289H(H) s & 16 14,590 75%
2810H(B) s & 16 11,090 81%
2A11H(KN) s & 16 11,090 81%
2A128(K) s & 16 11,090 81%
2A13H(X) s & 16 11,090 81%
2B14H(%) s & 16 11,590 80%
2A158(1) iE & 16 14,590 75%
2816H(H) s & 16 14,590 75%
2A178(B) s & 16 11,090 81%
2818H(A) iE & 16 11,090 81%
28198 (K) s & 16 11,090 81%
2820H(X) = & 16 11,090 81%
2A218(%) s & 16 11,590 80%
28228(1) s & 16 14,590 75%
28238(H) s & 16 14,590 75%
2824H(B) iE & 16 11,090 81%
28258 (K) s & 16 11,090 81%
2826H(K) = & 16 11,090 81%
28278(X) s & 16 11,090 81%
2828H(%) s & 16 11,590 80%
383H(8) s & 16 11,090 82%
3848 (N) s & 16 11,090 82%
3A580K) s & 16 11,090 82%
386H(K) s & 16 11,090 82%
3878(%) s & 16 11,090 82%
3810H(B) s & 16 11,090 82%
3B11H(K) s & 16 11,090 82%
38128 (K) s & 16 11,090 82%
38138 (X) s & 16 11,090 82%
3814H(%) s & 16 11,090 82%
38178(H) s & 16 11,090 82%
3818H(A) s & 16 11,090 82%
38198 (K) s & 16 11,090 82%
38208 (k) s & 16 11,090 82%
38218(%) s & 16 11,090 82%
12838(N) el s 17 16,090 73%
12848 (K) eI s 17 16,090 73%
12558 (K) el s 17 16,090 73%
1256H (%) eI s 17 16,090 73%
12878(1) & s 17 17,590 71%

128108 (X) eI s 17 16,090 73%
128 118(K) el s 17 16,090 73%
128 128(K) eI s 17 16,090 73%
125138(®) & s 17 16,090 73%
128148(%) P s 17 17,590 71%
128178(X) el s 17 14,590 76%
128188 (K) P s 17 14,590 76%
128198 (A) el s 17 14,590 76%
12H20H(&) eI s 17 14,590 76%




Bx-d Xf& (G IBEX4Fifi
128218(1) & = 17 16,090 73%
128248 (N) e s 17 18,090 70%
128258 (7K) 12 = 17 18,090 70%
12826H(K) 18 s 17 18,090 70%

186H(H) 12 = 17 19,090 67%

178N 18 s 17 13,590 77%

188H(K) 12 = 17 13,590 77%

1H9H(X) e s 17 13,590 77%
1A108(£) 12 = 17 16,590 71%
1A118(1) 18 = 17 15,590 73%
18158 (K) 12 = 17 13,590 77%
1A16H(X) 18 s 17 13,590 77%
1A178(£) 12 = 17 13,590 77%
1818H(1) 18 = 17 15,590 73%
18218 (N) 12 = 17 13,590 77%
18522H0K) 18 = 17 13,590 77%
18238 (K) 12 = 17 13,590 77%
18248(£) 18 & 17 14,090 76%
18258 (1) 12 s 17 15,590 73%
1828H(N) 18 = 17 13,590 77%
18298 (7K) 12 = 17 13,590 77%
18308 (K) & = 17 13,590 77%
1A318(%) 12 s 17 14,090 76%

2H1H(1) 18 & 17 15,590 73%

2848(N) 12 = 17 14,590 75%

2H5HK) 18 = 17 14,590 75%

2H6H(XK) 12 = 17 14,590 75%

2H7H(®) 18 = 17 15,090 74%

2888(1) 12 s 17 15,590 73%
2H11HCN) 18 = 17 14,590 75%
28128 (K) 12 = 17 14,590 75%
2H13H(K) 18 = 17 14,590 75%
2814H(2) 12 = 17 15,090 74%
2H15H(1) 18 = 17 15,590 73%
28188 (N) 12 = 17 14,590 75%
28198 (%K) 18 = 17 14,590 75%
28208 (K) 12 = 17 14,590 75%
2H21H(2) 18 = 17 15,090 74%
2H22H(1) 12 s 17 15,590 73%
2H258H(A) 18 = 17 14,590 75%
2826H(K) 12 = 17 14,590 75%
2H27H(K) 1 = 17 14,590 75%
2H28H(2) el = 17 15,090 74%
1281H(H) = tam 18 16,590 73%
12828(8) s B 18 15,090 75%
12838 (N) = tam 18 15,090 75%
12848 0K) s B 18 15,090 75%
1285H(K) s tam 18 15,090 75%
1286H(&) s B 18 15,090 75%
12878(1) = tam 18 16,590 73%
1288H(H) s B 18 16,590 73%
1289H(H) = tam 18 15,090 75%
128108 (N) s B 18 15,090 75%
128118 0K) = tam 18 15,090 75%
12812H(K) = & 18 15,090 75%




R X
RS _ A _ % IBEXIHHT
128140(1) e = 12 = o
128 156 (H) e = 18 N Lo
128160(8) e T 18 i oo
128178(K) e = 18 T T
128 18H () e T 18 ot T
128 195 () e = 18 T T
128208(%) e ) 18 ot T
128218(1) e = 18 ot T
128226(8) e ol 18 T80 Eoo
128236 () e = 18 o o
128248(K) e T 18 o5 e
128258 (K) e & 18 L e

168 (H) e T 18 o5 Lo
1H78(X) e & 18 T e
1A8H () e ) 18 T 530
1B9E(K) e = 18 5 5o
1A 108 () e ) 18 EEt o
1A118(1) e = 18 T o
1H128(8) e ) 18 Tt o
18138(8) e = 18 o e
1148 (X) e ) 18 Tt e
18158 (K) e = 18 T S
1H168(A) e T 18 Tt o3
1A178(2) e = 18 T 53
1H188 (1) e ) 18 P oo
18198(H) e = 18 e o
18208(8) e ) 18 e 535
1A21E(X) e = 18 ot 530
1A 228 (K) e =T 18 Tt 53
18238 () e = 18 ot 530
1H248 (%) e =T 18 et 5o
18256(1) e o 18 " Se
18268(8) e =T 18 T L2
18278(8) e = 18 ot o
18288(N) e =T 18 Tt 53
18298 (K) e = 18 ot 530
1H308 (&) e & 18 Tt 53
18310 (2) e o 18 e 53
2B1A(T) e =T 1 T e
2B26(H) e o 18 " o
2B38(8) e T 12 W Eoo
2B48(N) na =T 1 N 510
A58 (K) na =T : 090 Sio
>H6E(R) na T o 090 Sio
A e e 18 11,090 81%
Il e ;EJ 18 11,590 80%
>898 (8) na =F e 4290 L2
28108 (8) na =T 12 5 =
2B11R(X) e =T 18 I oo
2B 126 (K) e ) 18 ot oo
2B 136 (A) e =T 18 I 510
2B 148 (%) e = 18 et 505t
2B158 (1) e =T 18 thggg oo
2 L = . 7 0
B168(H) = T 18 14,590 7202




Bx-d X[ (G IBEX4Fifi
28178(B) s & 18 11,090 81%
2818H(N) s & 18 11,090 81%
28198 (%K) s & 18 11,090 81%
28208 (k) iE & 18 11,090 81%
28218(%) = & 18 11,590 80%
2H22H(1) = & 18 14,590 75%
28238 (8) s & 18 14,590 75%
28248(A) iE & 18 11,090 81%
28258 (X) s & 18 11,090 81%
2268 (K) iE & 18 11,090 81%
28278(X) s & 18 11,090 81%
28280 (%) iE & 18 11,590 80%

3838(A) = & 18 11,090 82%

3848 (N) iE & 18 11,090 82%

3858 (K) = & 18 11,090 82%

386H(K) s & 18 11,090 82%

3878(%) = & 18 11,090 82%
38108(A) iE & 18 11,090 82%
38118 (N) = & 18 11,090 82%
38128 (K) = & 18 11,090 82%
38138 (k) = & 18 11,090 82%
38148 (%) iE & 18 11,090 82%
38178(H) = & 18 11,090 82%
3818H(N) iE & 18 11,090 82%
38198 (K) = & 18 11,090 82%
38208 (k) s & 18 11,090 82%
38218(%) = & 18 11,090 82%
1283H(XN) & = 19 16,090 73%
12848 0K) el s 19 16,090 73%
1255H(K) el s 19 16,090 73%
1286H(&) el s 19 16,090 73%
1287H(%) el s 19 17,590 71%
128108 (X) el s 19 16,090 73%
128 118(K) el s 19 16,090 73%
128 12H(X) el s 19 16,090 73%
12513H(%) el s 19 16,090 73%
128148(1) el s 19 17,590 71%
128178(X) el s 19 14,590 76%
12818H(7K) el s 19 14,590 76%
12519H(XK) el s 19 14,590 76%
12820H(%) el s 19 14,590 76%
128218(1) el s 19 16,090 73%
128248 (X) el s 19 18,090 70%
125258 (K) el s 19 18,090 70%
12H26H(X) el s 19 18,090 70%

186H(B) el s 19 19,090 67%

1A78(X) el s 19 13,590 77%

188H(K) el s 19 13,590 77%

1H9H (k) el s 19 13,590 77%
1510H(®) el s 19 16,590 71%
1A118(1) & e 19 15,590 73%
181580K) el s 19 13,590 77%
1A16H (k) & e 19 13,590 77%
1817H(®) el s 19 13,590 77%
1518H(+) el s 19 15,590 73%




Bx-d Xf& (G IBEX4Fifi
18218(N) el = 19 13,590 77%
18228 (7K) e s 19 13,590 77%
18238 (K) 12 = 19 13,590 77%
18248(£) 18 = 19 14,090 76%
18258 (1) el = 19 15,590 73%
1828H(N) 18 s 19 13,590 77%
18298 (%K) 12 = 19 13,590 77%
18308 (XK) e s 19 13,590 77%
1A31H(%) 12 = 19 14,090 76%
2H1H(L) & = 19 15,590 73%
2848(N) 12 = 19 14,590 75%
2H5H0K) 18 s 19 14,590 75%
2H6H(K) 12 = 19 14,590 75%
2H7H(®) & = 19 15,090 74%
2H8H(L) 12 = 19 15,590 73%
2H11HCN) 18 = 19 14,590 75%
28128 (K) 12 = 19 14,590 75%
2H13H(K) & = 19 14,590 75%
2H14H(2) 12 = 19 15,090 74%
2H15H(1) 18 s 19 15,590 73%
2H18H(A) 12 = 19 14,590 75%
28198 (%K) 18 = 19 14,590 75%
2H20H(XK) 12 = 19 14,590 75%
2H21H(2) 18 & 19 15,090 74%
2H22H(1) 12 = 19 15,590 73%
2H25H(A) 18 = 19 14,590 75%
2H26H(K) 12 = 19 14,590 75%
2H27H(K) 18 = 19 14,590 75%
2H28H(2) 12 = 19 15,090 74%
1281H(H) = &R 20 10,200 74%
1282H8(8) = R 20 10,200 74%
12838 (N) = &R 20 9,200 76%
12848 0K) = &R 20 9,200 76%
12858 (K) = &R 20 9,200 76%
1286H(&) = R 20 9,200 76%
12878(1) = &R 20 10,200 74%
1288H(H) = R 20 10,200 74%
1289H(H) = &R 20 10,200 74%

12810H(N) = R 20 9,200 76%
128118 0K) = &R 20 9,200 76%
12812H(K) = &R 20 9,200 76%
12813H(®) = &R 20 10,200 74%
12814H8(1) s ZHE 20 10,200 74%
12815H(H) = &R 20 10,200 74%
12816H(B) = ZHE 20 9,200 76%
128H17H0N) = S E 20 9,200 76%
12818H(7K) s ZHE 20 9,200 76%
12819H(K) = &R 20 9,200 76%
12820H(%) s ZHE 20 10,200 74%
12821H(1) = &R 20 10,200 74%
12822H(H) s ZHE 20 10,200 74%
12823H(A) = &R 20 9,200 76%
128248 (X) = ZHE 20 9,200 76%
125258 (K) = &R 20 9,200 76%
12826H (k) = R 20 10,200 74%




R ><

EEEN _ X %EF % IBEXISE
1A78(X) = Sie % 000, o
1H8H (K) e 25 38 v S0
1H9H(A) e ZEE 20 2250 S0
1A108(2) e ZEE 20 T e
18118(1) e 25 20 H00s Lo
1H128(8) e ZEE 20 pee S
1H138(8) e 25 20 i S1o
18148(N) e 25 20 T oo
1A158(K) e 25 20 i Sio
19168 (k) e 25 20 T oo
18178(2) e 25 20 i Sio
1H188 (1) e ZEE 20 YT e
1A198(7) e ZEE 20 5000 e
18208(8) e ZEE 20 T too
1A218(N) e ZEE 20 L Sio
18228 (K) e ZhE 20 T oo
18238 (k) e 25 20 L Sio
19248/(2) e 2 20 T e
1H258 (1) e ZEE 20 T Lo
1826E(H) e 2 20 e T
18278(8) e ZEE 20 AT Sro
18286 (X) e ZhE 20 T oo
18298 (K) e ZEE 20 L Sio
18308 (k) e 2 20 T oo
1A310(2) e ZEE 20 T S0
2H1H(L) e 2 20 T e
2B28(H) e ZEE 20 AT Srot
>B38(8) e 2R 20 it oo
2B48(N) e ZEE 20 L Sio
2B58(K) e ZEE 20 it oo
2B6E (k) e 25 20 L Sio
2B7H(2) e 2 e 20 i S5
2B8E(T) e ZEE 20 N e
2B9H(H) e 2R 20 i e
28108 (B) e 2EE 20 A5 Ero
2B11H(K) e ZEE 20 i S5
2B 128(K) e ZEE 20 AT Sro
2B138(K) e 2 e 20 it oo
2B 140(%) e ZEE 20 L e
2B158(1) e 2R 20 i e
2B 16H(H) e Z2EE 20 N o
2B176(B) na 2R 20 i S
2B 18E (X) e ZEE 20 G S0
28 198 (K) e ZEE 20 L S1o
2B208 (A) e 2EE 20 G S0
2B218(%) e ZEE 20 L S1o
2B228(1) e ZEE 20 TR o
2B238(8) na 2R 20 P Lo
2B24H(B) e Z2EE 20 TS Sro
282568 (X) e 2R 20 s oo
2B268(K) e Z2EE 20 S Sio
282765 () e 2R 20 s oo
2B280(%) e Z2EE 20 T S0
SHLE(L) a ZEE 5500 S0,
= 20 8,000 80%




R T
SN _ = - % IBEXTE
3838(8) a ZEE % 24500 550,
SH4E(X) A ZEE . 24500 St
350 (K) a ZEE 2 24500 St
SA6E(K) = ZEE . 24500 St
3H78(2) a ZEE 2 700 Sroc
3HSE(L) a ZEE . 5500 S0
3898(8) a ZEE % oo S05
3A108(A) A ZEE . 500 St
SELLE(K) = ZEE 2 24500 St
SAL2E0K) A ZEE . 24500 St
EREEIES = ZEE 2 700 Sroc
SH140(3) = ZEE . 5500 S0
38158 (1) a ZEE 2 60D o
SA16E(H) A ZEE . 5000 S
3A178(8) e ZEE 2 5000 S
3A188(A) e ZEE e 5000 S
35190 () e ZEE 2 5000 S
3208 (K) e ZEE e 5000 S
3E210(%) = ZEE 2 5000 S
35228(1) e ZEE e 5000 S
38238(8) e ZEE 2 5000 S
35248(8) e ZEE e 5000 S
38258 (X) e ZEE 2 5000 o
35268 (K) e ZEE e 5000 S
38278 (K) e ZEE 2 5000 S
3H280(%) e ZEE e 5000 S
38298 (1) a ZEE 2 5000 o
12810(8) 2 = - 620 L
12828(8) ZEE A 5 10500 L
12838(X) ZEE A 5 5500 L
12848 (K) ZEE A 5 oo e
12858 () ZEE A 5 5500 L
128602 ZEE A 5 0 o
12878(1) ZEE A 5 10500 o
12888(8) ZEE A 5 10500 o
12898(8) ZEE A 5 5500 S

2A10A(N) | &mE A 5 oo e
12H118(K) ZEE A 5 5500 L
128128 (R) ZEE A 5 5700 e
DALAGE) || &EE e 5 5700 e
A1AE(L) | 2hE A 5 o0 o
128158(8) ZEE e 5 10500 T
2A168(8) | &hE A 5 10500 o
128178H0N) ZhaE ﬂllz o oo e
2A18A(K) | &dE A 5 5700 e
128198 () 25 e 5 5700 e
12A208(2) | &hE A 5 5700 e
12A218(1) ZEE e 5 5700 e
2A28(0) | &nE A 5 0 o
128238(8) ZEE A 5 10500 L
12A248(R) | &EE A 5 5500 S
AR | &EE e o 5700 e
12A26E () ZEE A 5 0 o
CHen) oo 'ﬂ“z 21 10,200 74%
=) 21 8,000 78%




Bx-d X[ (G IBEX4Fifi
1A7H(CKN) ZHE s 21 7,000 81%
188H(K) &hE s 21 7,000 81%
159H(XK) ZhE s 21 7,000 81%
15108 (%) &HE s 21 8,000 78%
1A118(1) ZhE s 21 8,000 78%
15128(H) &HE s 21 8,000 78%
1A138(H) ZhE s 21 8,000 78%
18148 (X) &HE s 21 7,000 81%
18158 (%K) ZhE s 21 7,000 81%
1816H(K) &HE s 21 7,000 81%
1A178(®) ZhE s 21 8,000 78%
1818H (1) &HE s 21 8,000 78%
18198 (R) ZhE s 21 8,000 78%
18520H(H) &HE s 21 7,000 81%
1H218(X) &HE s 21 7,000 81%
15228 (%K) &= s 21 7,000 81%
1823H(K) ZHE s 21 7,000 81%
15248(%) &= s 21 8,000 78%
18258(1) ZHE s 21 8,000 78%
15268 (H) &HE s 21 8,000 78%
18278(8) ZHE s 21 7,000 81%
15288 (X) &= s 21 7,000 81%
18298 (k) ZHE s 21 7,000 81%
1830H(K) HhE = 21 7,000 81%
1A318(®) ZHE s 21 7,000 81%
281H (L) &= s 21 8,000 78%
2828(8) ZHE s 21 8,000 78%
2838(A) &HE s 21 7,000 81%
2848 (X) &HE s 21 7,000 81%
2858 (K) &HE s 21 7,000 81%
286H(K) &HE s 21 7,000 81%
2B78(2) &HE s 21 7,000 81%
288H(1) &HE s 21 8,000 78%
2898 (H) &HE s 21 8,000 78%
2810H(B) &HE s 21 7,000 81%
2A11H(KN) &HE s 21 7,000 81%
2B 128 (K) &HE s 21 7,000 81%
28138 (k) ZhE s 21 7,000 81%
2A148(%) &HE s 21 8,000 78%
2A158(1) &HE s 21 8,000 78%
28168 (H) &HE s 21 7,000 81%
2A178(B) &= s 21 7,000 81%
2818H(A) &HE s 21 7,000 81%
28198 (K) &= s 21 7,000 81%
2820H(X) &HE s 21 7,000 81%
2821H(%) &= s 21 7,000 81%
28228(1) &HE s 21 9,000 76%
2823H(H) &= s 21 8,000 78%
2A248(A) &HE s 21 9,000 76%
28258 (K) &= s 21 7,000 81%
28268 (K) &HE s 21 7,000 81%
2H27H(K) S E = 21 7,000 81%
2A288 (%) &HE s 21 8,000 78%
381H(1) &= s 21 8,000 80%
382H8(H) &HE s 21 8,000 80%




Bx-d X[ (G IBEX4Fifi
383H(8) ZHE s 21 7,000 82%
3848 (N &hE s 21 7,000 82%
3H5H(K) %t E =} 21 7,000 82%
386H(K) &HE s 21 7,000 82%
3878(&) ZhE s 21 8,000 80%
388H(1) &HE s 21 8,000 80%
389H(H) ZhE s 21 8,000 80%

3810H(B) &HE s 21 8,000 80%
3E11HCN) %t E =} 21 7,000 82%
38128 (K) &HE s 21 7,000 82%
3H13H(K) %t E =} 21 7,000 82%
3814H(%) &HE s 21 7,000 82%
38158(1) ZhE s 21 9,000 77%
3816H(H) &HE s 21 9,000 77%
38178(8) &HE s 21 8,500 78%
3818H(A) &= s 21 8,500 78%
38198 (K) ZHE s 21 8,500 78%
3820H(X) ZhE s 21 8,500 78%
38218(%) ZHE s 21 8,500 78%
38228(1) &HE s 21 8,500 78%
38238(H) ZHE s 21 8,500 78%
3824H(B) &= s 21 8,500 78%
38258 (N) ZHE s 21 8,500 78%
3826H(K) &= s 21 8,500 78%
38278(X) ZHE s 21 8,500 78%
3828H(%) &= s 21 8,500 78%
38298 (1) ZHE s 21 8,500 78%
12518(R) s &E 22 10,200 74%
1282H(A) s &= 22 10,200 74%
1283H(XN) = ZHhE 22 10,200 74%
12848 (%K) s &R 22 9,200 76%
1255H(K) s &E 22 9,200 76%
1256H (%) s &= 22 10,200 74%
12878(1) s &E 22 10,200 74%
1258H(H) s &= 22 10,200 74%
128598 (A) s &E 22 8,200 79%
128108 (X) s &R 22 8,200 79%
128 118(K) s &E 22 8,200 79%
128 128(A) s &= 22 10,200 74%
125138(®) s &E 22 10,200 74%
128148(%) s &= 22 10,200 74%
128158(8) s &= 22 10,200 74%
128168(A) s &E 22 8,200 79%
128H17H0N) = S E 22 10,200 74%
128188 (K) s &E 22 10,200 74%
125198 (A) s &= 22 8,200 79%
12H20H(%) s &E 22 10,200 74%
12H218(%) s &= 22 10,200 74%
12H228(8) s &E 22 10,200 74%
12H238(A) s &R 22 8,200 79%
12H248(N) s &E 22 8,200 79%
128258 (K) s &R 22 8,200 79%
128268 (A) s &E 22 10,200 74%

186H(B) s &R 22 10,000 73%

1A78(X) s &= 22 7,000 81%
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1H8H(K) =y ZEaE 22 7,000 81%
1H9H(XK) =y ZhE 22 7,000 81%

1H10HGE) W=y ZHaE 22 8,000 78%
1811H(L) =y ZhE 22 8,000 78%
1H12H(H) W=y ZHaE 22 8,000 78%
1813H(H) NS, ZhE 22 7,000 81%
1H14H(X) W=y ZHaE 22 7,000 81%
1H15H(K) NS, ZhE 22 7,000 81%
1H16H(K) W=y ZHaE 22 7,000 81%
1817H(%) =y ZhE 22 7,000 81%
1H18H(L) W=y ZHaE 22 8,000 78%
1819H((H) NS, ZhE 22 8,000 78%
1H20H(H) W=y ZHaE 22 8,000 78%
1H21HX) NS, ZhE 22 7,000 81%
1H22H(K) W= 2EaE 22 7,000 81%
1H23H(K) =y BEE 22 7,000 81%
1H24H(ER) =y ZEaE 22 7,000 81%
1H25H(XL) =3 BEE 22 8,000 78%
1H26H(H) =y ZEE 22 7,000 81%
1827H(H) =y BEE 22 7,000 81%
1H28H(X) =y ZEaE 22 7,000 81%
1H29H(K) =y BEE 22 7,000 81%
1H30H(K) =y ZEaE 22 7,000 81%
1A31H(GE) =3 BEE 22 8,000 78%
2H1H(X) =y ZEaE 22 8,000 78%
2H2H((H) =y BEE 22 8,000 78%
2H3H(H) =y ZEaE 22 7,000 81%
2H48(X) =3 R 22 7,000 81%
2H5H(K) =y ZaE 22 7,000 81%
2H6H(RK) =3 “EE 22 7,000 81%
2H78H(E) = ZHaE 22 8,000 78%
2H8H(TL) =3 R 22 8,000 78%
2H9H(H) = ZaE 22 8,000 78%
2H10H(AH) =3 “EE 22 7,000 81%
2H11HX) = ZHaE 22 7,000 81%
2H12H(K) =3 R 22 7,000 81%
2H13H(K) = ZHaE 22 7,000 81%
2H14H(®) =3 “EE 22 7,000 81%
2H15H(%) = ZHaE 22 8,000 78%
2H16H(H) =3 “EE 22 8,000 78%
2H17H(H) =y ZaE 22 7,000 81%
2H18H(N) W=y “aE 22 7,000 81%
2H19H(K) W=y ZhE 22 7,000 81%
2H20H(XK) W=y “aE 22 7,000 81%
2H21H(5&) W=y ZhE 22 7,000 81%
2H22H(L) W=y “aE 22 10,000 73%
2H23H(H) W=y ZhE 22 8,000 78%
2H24H(H) W=y ZaE 22 10,000 73%
2H25H(X) W=y ZhE 22 7,500 80%
2H26H(K) =y ZoaE 22 7,500 80%
2H27H(K) = ZhE 22 7,000 81%
2H28H(5&) =y ZoaE 22 7,000 81%
3H1H(X) = ZhE 22 8,000 80%
3H2H((H) =y ZoaE 22 8,000 80%
3H3H(H) = ZhE 22 8,000 80%
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3850 (K) a ZEE > 24500 S0t
SA6E(K) A ZEE o 24500 St
3H78(2) a ZEE > 5000 S0
3HSE(L) a ZEE o 5000 S0
3598 (8) a ZEE > oo S00
35108(8) A ZEE o 5000 S0
3A11E(X) a ZEE > oo S0,
SAL2E0K) A ZEE o 24500 St
EREEIES = ZEE > 24500 St
EEIES a ZEE o 5500 e
3H158 (1) a ZEE > oo o
3H160(0) = ZEE o 5000 S
SHL78(8) = ZEE > 5500 L
3H188(N) A ZEE o 2200 e
35190 () e ZEE > 2200 e
3208 (K) e ZEE > 2200 e
3E210(%) = ZEE > 2200 e
35228(1) e ZEE > 2200 e
38238(8) e ZEE > 2200 e
35248(8) e ZEE > 2200 e
38258 (X) e ZEE > 2200 e
35268 (K) e ZEE > 2200 e
38278 (K) e ZEE > 2200 e
3H280(%) e ZEE > 2200 e
38298 (1) = ZEE > 2200 e
1281008 i = 2 o0 o
HSFEICT o m_li 23 10,200 74%
SLEEIO o m_li 23 10,200 74%
12848 (K) ZEE A o o0 S
SRR E o m_li 23 10,200 74%
orene) o m_li 23 10,200 74%
12A78(1) ZEE e > o0 S
s () o m_li 23 10,200 74%
S HoR(R) o m_li 23 10,200 74%

2A10A(N) | &mE A o 5500 S
DALAGK) | &EE A > 5500 e
128128 (R) ZEE A o 5500 e
DALAGE) || &EE e > 5500 e
2A14E(1) | &EE A o o0 S
DALAE | &EE e > 10500 o
DA6AR) || &mE A o 10500 S
128178H0N) ZhaE ﬂllz > aus T
128188 (K) ZEE A o 5500 S
DAAR) || &nkE e > 5500 e
128208(%) ZEE A o o0 S
12A218(1) ZEE e > 10500 T
128226(8) ZEE A o 10500 L
128238(8) ZEE A > 19500 T
128248(X) ZEE A > 5500 o
AR | &EE e > 5500 Lo
12A26E () ZEE A > o0 o
Hen) oo ﬂ“f\ 23 10,200 74%
=3=100) ZEE A > 5000 e
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=) 23 8,000 78%
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1H9H(XK) ZaE =3 23 8,000 78%
15108 (%) ZhE = 23 8,000 78%
1H11H(XL) ZaE e 23 8,000 78%
1812H(H) ZhE = 23 9,000 76%
1H13H(H) ZaE e 23 8,000 78%
1H14H0X) ZhE = 23 8,000 78%
1H15H(0K) BEE e 23 7,500 80%
1H16H(CK) ZhE = 23 7,000 81%
1H17H(GER) ZaE e 23 7,500 80%
1H18H(L) ZhE = 23 8,000 78%
1H19H((H) ZaE e 23 8,000 78%
18520H(H) ZhE = 23 7,000 81%
1H21H(X) BEE =) 23 7,000 81%
1H22H(K) ZhE = 23 7,000 81%
1H23H(RK) BEE =y 23 8,000 78%
1H24H(E) 2EE il= 23 7,000 81%
1H25H(XL) ZaE =) 23 8,000 78%
1826H(H) 2EE il= 23 8,000 78%
1H27H(H) ZaE =) 23 8,000 78%
1H28H(X) 2EE il= 23 7,000 81%
1H29H(K) BEE =) 23 7,000 81%
1H30H(K) 2EE = 23 7,000 81%
1H31HGER) ZaE =) 23 7,500 80%
2H1H(E) 2EE il= 23 8,000 78%
2H2H(H) ZaE =) 23 8,000 78%
2H3H((A) 2EE = 23 7,000 81%
2H4H(N) BEE =) 23 7,000 81%
2H5B8(0K) 2EE =3 23 7,000 81%
2H6H(RK) g 2Y=s] =) 23 7,000 81%
2H7H(GE) 2EE =3 23 8,000 78%
2H8H(X) ZaE =) 23 8,000 78%
2H9H(H) 2EE =3 23 8,000 78%
2H10H(H) g 2Y=s] =y 23 8,000 78%
2H11H(N) 2EE =3 23 8,000 78%
2H12H(K) g 2Y=s] =) 23 7,500 80%
2H13H(XK) 2EE =3 23 7,500 80%
2H14H(&) ZaE =y 23 7,500 80%
2H15H(%) 2EE =3 23 7,500 80%
2H16H(H) ZaE =y 23 7,500 80%
2H17H(AH) 2EE =3 23 7,000 81%
2H18H(X) BEE =) 23 8,000 78%
2H19H(K) “aE =3 23 7,000 81%
2H20H(K) 2EE =) 23 7,000 81%
2H21H(s®) “aE =3 23 7,000 81%
2H22H(%) ZaE =) 23 8,000 78%
2H23H(H) “aE =3 23 8,000 78%
2H24H(H) 2EE =) 23 8,000 78%
2H25H(N) “aE =3 23 7,000 81%
2H26H(K) 2EE =) 23 7,000 81%
2H27H(XK) ZaE =3 23 7,000 81%
2H28H(5&) ZaE = 23 7,500 80%
3H1H(L) ZaE =3 23 7,500 81%
3H2H(H) ZaE = 23 8,000 80%
3H3H(A) ZaE =3 23 7,000 82%
3H48(X) ZhE e 23 7,000 82%
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3A580K) ZHE s 23 7,000 82%
386H(K) &hE s 23 7,000 82%
3878(&) ZhE s 23 8,000 80%
388H(1) &HE s 23 8,000 80%
389H(H) ZhE s 23 8,000 80%

3810H(B) &HE s 23 8,000 80%
3A11H(KN) ZhE s 23 7,000 82%
38128 (K) &HE s 23 7,000 82%
38138 (k) ZhE s 23 7,000 82%
3814H(%) &HE s 23 8,500 78%
38158(1) ZhE s 23 9,000 77%
3816H(H) &HE s 23 9,000 77%
38178(B) ZhE s 23 9,000 77%
3818H(A) &HE s 23 9,000 77%
38198 (K) &HE s 23 9,000 77%
3H20H(K) HhE = 23 9,000 77%
38218(%) ZHE s 23 9,000 77%
38228(1) &= s 23 9,000 77%
38238(H) ZHE s 23 9,000 77%
3824H(B) &HE s 23 9,000 77%
38258 (N) ZHE s 23 9,000 77%
3826H(K) &= s 23 9,000 77%
38278(X) ZHE s 23 9,000 77%
3828H(%) &= s 23 9,000 77%
38298 (1) ZHE s 23 9,000 77%
12518(H) s &= 24 10,200 74%
12828(H) s &R 24 9,200 76%
1283H(XN) = ZhE 24 8,200 79%
12848 (K) s R 24 8,200 79%
1255H(K) s &E 24 8,200 79%
1256H (%) s &= 24 10,200 74%
12878(1) s &E 24 10,200 74%
1258H(H) s &= 24 10,200 74%
128598 (H) s &E 24 10,200 74%
128108 (X) s &R 24 8,200 79%
128118 (K) s &E 24 8,200 79%
128 128(A) s &R 24 8,200 79%
125138(®) s &E 24 10,200 74%
128148(%) s &R 24 8,200 79%
125158 (8) s &E 24 10,200 74%
12816H(A) s R 24 8,200 79%
125178(X) s &= 24 10,200 74%
128188 (K) s &E 24 10,200 74%
12H19H(K) = S E 24 8,200 79%
12H20H(%) s &E 24 10,200 74%
12H218(%) s &= 24 10,200 74%
12H228(8) s &E 24 10,200 74%
12H238(A) s &= 24 9,200 76%
12H248(N) s &E 24 8,200 79%
128258 (K) s &R 24 8,200 79%
128268 (A) s &E 24 10,200 74%

186H(B) s &R 24 10,000 73%

1A78(K) s &E 24 7,000 81%

1B8H(K) s &R 24 7,000 81%

1B9H(X) s &= 24 7,000 81%
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1H10HGE) =y ZEaE 24 8,000 78%
1811H(L) NS, ZhE 24 9,000 76%
1H12H(H) W=y ZHaE 24 9,000 76%
1813H(H) NS, ZhE 24 10,000 73%
1H14H(X) W=y ZHaE 24 7,000 81%
1H15H(K) NS, ZhE 24 7,000 81%
1H16H(K) W=y ZHaE 24 7,000 81%
1817H(%) NS, ZhE 24 7,000 81%
1H18H(L) W=y ZHaE 24 8,000 78%
1819H((H) NS, ZhE 24 10,000 73%
1H20H(H) W=y ZHaE 24 9,500 74%
1H21HX) NS, ZhE 24 8,000 78%
1H22H(K) W=y ZHaE 24 7,000 81%
1H23H(K) NS, ZhE 24 7,000 81%
1H24H(ER) W= 2EaE 24 7,000 81%
1H25H(L) =y BEE 24 7,000 81%
1H26H(H) =y ZEaE 24 8,000 78%
1827H(H) =3 BEE 24 8,000 78%
1H28H(X) =y ZEE 24 7,000 81%
1H29H(K) =y BEE 24 7,000 81%
1H30H(K) =y ZEaE 24 7,000 81%
1A31H(GE) =y BEE 24 8,000 78%
2H1H(X) =y ZEaE 24 8,000 78%
2H2H((H) =3 BEE 24 8,500 77%
2H3H(H) =y ZEaE 24 7,000 81%
2H48(X) =y BEE 24 7,000 81%
2H5HK) =y ZEaE 24 7,000 81%
2H6H(RK) =3 R 24 7,000 81%
2H78H(E) =y ZaE 24 8,000 78%
2H8H(TL) =3 “EE 24 9,000 76%
2H9H(H) = ZHaE 24 9,000 76%
2H10H(H) =3 R 24 7,500 80%
2H11HX) = ZaE 24 7,500 80%
2H12H(K) =3 “EE 24 7,000 81%
2H13H(K) = ZHaE 24 7,000 81%
2H14H(®) =3 R 24 7,000 81%
2H15H(%) = ZHaE 24 8,000 78%
2H16H(H) =3 “EE 24 8,000 78%
2H17H(H) = ZHaE 24 7,500 80%
2H18H(X) (=} “hE 24 7,000 81%
2H19H(K) =y ZaE 24 7,000 81%
2H20H(XK) W=y “aE 24 7,000 81%
2H21H(5&) W=y ZhE 24 7,500 80%
2H22H(L) W=y “aE 24 9,000 76%
2H23H(H) W=y ZhE 24 9,000 76%
2H24H(H) W=y “aE 24 9,000 76%
2H25H(X) W=y ZhE 24 7,500 80%
2H26H(K) W=y ZaE 24 7,500 80%
2H27H(K) W=y ZhE 24 7,000 81%
2H28H(5&) =y ZoaE 24 7,000 81%
3H1H(X) = ZhE 24 7,500 81%
3H2H((H) =y ZoaE 24 7,500 81%
3H3H(H) = ZhE 24 7,000 82%
3H48(X) =y ZoaE 24 7,000 82%
3H5H(K) = ZhE 24 7,000 82%
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3H78(2) = Sie o 250 Sroc
3HSE(L) a ZEE o 2250 St
3898 (8) a ZEE 7 e Sio
35108(8) = ZEE o 5500 S0
SELLE(K) = Sie 7 oo S0t
SAL2E0K) A ZEE o 24500 St
SA13E(R) = Sie 7 24500 St
SH140(3) a ZEE o 5500 e
3H158 (1) a Sie 7 oo o
3H160(0) A ZEE o 5000 S
3H178(8) = Sie 7 5000 S
3H188(X) = ZEE o 5000 S
35190 () a Sie 7 5000 S
35208 (K) A ZEE o 5000 S
3E210(%) = ZEE 7 5000 S
35228(1) e ZEE o 5000 S
38238(8) e ZEE 7 5000 S
35248(8) e ZEE o 5000 S
38258 (X) e ZEE 7 5000 S
35268 (K) e ZEE o 5000 S
38278 (K) e ZEE 7 5000 S
3H280(%) e ZEE o 5000 S
38298 (1) = ZEE 7 5000 o
1281008 i = o 620 L
RPEICT o m_lx_:l_\ 25 10,200 74%
PLEEIon ooz m_li 25 10,200 74%
12848 (K) ZEE A 2 10500 S
SRR E o m_li 25 10,200 74%
orene) o m_li 25 10,200 74%
() o m_li 25 10,200 74%
s () o m_li 25 10,200 74%
S HoR(R) o m_li 25 10,200 74%

2A10A(N) | &mE A 2 5500 e
12H118(K) ZEE A 2 5500 oo
128128 (R) ZEE A 2 o0 o
DALAGE) || &EE e 2 10500 o
2A14E(1) | &EE A 2 10500 T
DALAE | &EE e 2 10500 o
DA6A(R) || &nE A 2 10500 T
128178(K) ZEE A 2 5500 Lo
128188 (K) 2EE A 2 5500 o
128198 () 25 e 2 o0 o
128208(%) ZEE A 2 10500 L
12A218(1) ZEE e 2 10500 T
128226(8) ZEE A 2 10500 L
128238(8) ZEE A 2 10500 T
128248(X) ZEE A 2 5500 Lo
12H2580K) ZhaE ﬂllz 2 e e
12A26E(K) ZEE A 2 o0 o
Hen) oo ﬂ“f\ 25 10,200 74%
ESHO0 S ﬂ“z 25 7,500 80%
1 A8 () ZEE e 2 250 S0,
1H9A (A) ZEE A 2 250 S0%
15108 (%) ZEE e 2 5500 S
=) 25 8,000 78%
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1H11H(XL) ZaE =3 25 8,000 78%
1812H(H) ZhE = 25 10,000 73%
1H13H(H) ZaE =) 25 10,000 73%
1H14H0X) ZhE = 25 7,500 80%
1H15H(K) BEE e 25 7,500 80%
1H16H(K) ZhE = 25 7,500 80%
1H17H(GER) ZaE =) 25 7,500 80%
1H18H(L) ZhE = 25 8,000 78%
1H19H((H) ZaE =) 25 9,000 76%
18520H(H) ZhE = 25 7,500 80%
1H21H(X) BEE =) 25 7,000 81%
1H22H(K) ZhE = 25 7,500 80%
1H23H(K) ZaE e 25 7,500 80%
1524H(%) ZhE = 25 7,500 80%
1H25H(XL) ZaE =) 25 7,500 80%
1826H(H) 2EE il= 25 9,000 76%
1H27H(H) ZaE =) 25 8,000 78%
1H28H(X) 2EE il= 25 7,500 80%
1H29H(K) BEE =) 25 7,000 81%
1H30H(K) 2EE il= 25 8,000 78%
1H31HGER) ZaE =) 25 8,000 78%
2H1H(E) 2EE = 25 8,000 78%
2H2H(H) ZaE =) 25 10,000 73%
2H3H((A) 2EE il= 25 7,500 80%
2H4H(N) BEE =) 25 7,000 81%
2H580K) 2EE = 25 7,000 81%
2H6H(K) ZaE =) 25 7,000 81%
2H7H(GE) 2EE =3 25 8,000 78%
2H8H(X) ZaE =) 25 8,000 78%
2H9H(H) 2EE =3 25 8,000 78%
2H10H(H) ZaE =) 25 8,000 78%
2H11H(XN) 2EE =3 25 8,000 78%
2H12H(K) g 2Y=s] =) 25 7,000 81%
2H13H(K) 2EE (U=} 25 7,000 81%
2H14H(&) ZaE =) 25 8,000 78%
2H15H(%) 2EE =3 25 8,000 78%
2H16H(H) ZaE =) 25 8,000 78%
2H17H(A) 2EE =3 25 7,500 80%
2H18H(X) ZaE =y 25 7,500 80%
2H19H(K) 2EE =3 25 7,500 80%
2H20H(K) ZaE =) 25 7,500 80%
2H21H(s®) “aE =3 25 10,000 73%
2H22H(%) ZaE =) 25 8,000 78%
2H23H(H) “aE =3 25 10,000 73%
2H24H(H) ZaE =) 25 10,000 73%
2H25H(N) “aE =3 25 8,000 78%
2H26H(K) 2EE =) 25 7,000 81%
2H27H(K) g 2Y=] (=} 25 7,500 80%
2H28H(5&) ZaE =) 25 7,500 80%
3H1H(L) ZaE =3 25 7,500 81%
3H2H(H) ZaE = 25 7,500 81%
3H3H(A) ZaE =3 25 7,000 82%
3H4H(N) ZaE = 25 7,000 82%
3H5H(0K) ZaE =3 25 8,000 80%
3H6H(K) ZhE e 25 7,000 82%
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3H7H(GE) ZaE =3 25 8,000 80%
3H8H(TL) ZhE = 25 8,000 80%
3H9H(H) ZaE =) 25 8,000 80%

3H10H(A) ZhE = 25 8,000 80%
3H11H(N) BEE =) 25 7,500 81%
3H12H(K) ZhE = 25 7,000 82%
3H13H(XK) BEE =) 25 7,000 82%
3814H(E) ZhE = 25 9,000 77%
3H15H(L) ZaE =) 25 9,000 77%
3H16H(H) ZhE = 25 9,000 77%
3H17H(H) ZaE =) 25 9,000 77%
3H18H(N) ZhE = 25 9,000 77%
3H19H(K) BEE =) 25 9,000 77%
3H20H(XK) ZhE = 25 9,000 77%
3H21H(5&) ZaE =) 25 9,000 77%
3H22H(L) 2EE il= 25 9,000 77%
3H23H(H) ZaE =) 25 9,000 77%
3H24H(H) 2EE il= 25 9,000 77%
3H25H(X) BEE =) 25 9,000 77%
3H26H(K) 2EE il= 25 9,000 77%
3H27H(K) BEE =) 25 9,000 77%
3H28H (&) 2EE = 25 9,000 77%
3H29H(%) ZaE =) 25 9,000 77%
12H3H(N) (U= NS 39 8,100 85%
12H4H(K) =y =] 39 8,600 84%
12H5H(K) =y L5 39 10,600 80%
12H8H(H) =y L5 39 9,100 83%
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1H14H(X) =y IN=; 39 8,100 84%
1H15H(K) = IN=; 39 7,600 85%
1H16H(K) =y L5 39 8,100 84%
1H17H(E) = IN=; 39 8,600 83%
1H18H(L) =y IN=; 39 8,600 83%
1H19H(H) = IN=] 39 8,100 84%
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2B 198 (K) e LE 39 L =
2B208(K) e LE 39 N 520
2B21H (%) e LB 39 K =
2B228(1) e RS 39 R ot
2B23E(8) e fRE 39 P S
2B24H(B) e RS 39 T 7
28256 (X) e LE 39 e =
2B268(K) e RS 39 N 55
28276 () e LE 39 o St
2B280(%) e RS 39 T o5
3A1R(L) e fRE 39 e =
3828(8) e LB 39 ¥ =
3838(8) e fRE 39 i =
3B48(K) e LB 39 ¥ =
3B58(K) e LhE 39 K =
360 (A) e LB 39 HR =
3B70(8) e LB 39 K =
3880(L) e LB 39 N 53
3898(R) e fRE 39 o =
38 108(8) e LB 39 ¥ =
3A11A(K) e fRE 39 i =
38128 (K) e LB 39 ¥ =
3B138(K) e fRE 39 i 525t
3H140(%) e LB 39 2288 507
: =) , 849

H158(*%) A& INZ] 39 8,100 8502
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3H16H(H) =y IN=; 39 8,100 85%
3H17H(A) NS, NS 39 8,100 85%
3H18H(N) W=y L5 39 8,100 85%
3H19H(K) NS, NS 39 9,100 83%
3H20H(XK) W=y L5 39 10,600 80%
3821HGE) NS, NS 39 9,600 82%
3H22H(L) W=y INS; 39 9,100 83%
3H23H(H) NS, NS 39 9,100 83%
3H24H(H) W=y L5 39 8,600 84%
3H25H(N) NS, NS 39 8,100 85%
3H26H(K) W=y L5 39 8,100 85%
3H27H(XK) NS, NS 39 8,600 84%
3H28H(5&) W=y INS; 39 8,100 85%
3H29H (1) U=} L5 39 8,100 85%
12A1H(H) L5 =) 40 10,600 80%
12H3HX) /NS = 40 8,600 84%
12H4H(K) L5 =) 40 8,100 85%
12H5H(K) /NS il= 40 8,600 84%
12H6H(ER) L5 =) 40 8,600 84%
12838H(H) /NS = 40 10,600 80%
12H9H(H) L5 =) 40 8,600 84%
12H10H(N) /NS = 40 8,100 85%
12H11H(CK) L5 =) 40 9,100 83%
12H12H(K) /NS il= 40 8,600 84%
12H15H(H) L5 =) 40 8,600 84%
12H16H(H) /NS = 40 8,600 84%
12H17H(CN) L5 =) 40 8,600 84%
12H18H(K) /NS = 40 9,100 83%
12H19H(K) NS =) 40 8,600 84%
12H208(E) /NS = 40 9,100 83%
12822H(H) NS =) 40 9,600 82%
12H23H(A) /NS = 40 8,600 84%
12H24H(N) NS =y 40 8,100 85%
12H25H(K) /NS = 40 8,100 85%
12H26H(K) NS =) 40 8,600 84%

1H6H(H) /NS = 40 10,600 79%

1878(X) NS =y 40 8,600 83%

1H8H(K) /NS = 40 7,600 85%

1H9H(K) NS =y 40 8,600 83%
1H10HGE) /NS = 40 8,600 83%
1H11H(EL) IN=] =) 40 9,600 81%
1812H(H) /NS =3 40 8,600 83%
1H13H(H) L5 (= 40 8,600 83%
1H14H(X) /NS =3 40 8,600 83%
1H15H(K) L5 (= 40 7,600 85%
1H16H(K) /NS =3 40 7,600 85%
1H17H(E) L5 =) 40 8,100 84%
1H18H(L) /NS =3 40 8,600 83%
1H19H(H) L5 =) 40 7,600 85%
1H20H(H) NS =3 40 8,600 83%
1H21H(KN) L5 (= 40 8,100 84%
1H22H(K) NS =3 40 7,600 85%
1H23H(K) L5 (= 40 8,100 84%
1H24H(E) NS =3 40 8,100 84%
1H25H(XL) L5 =) 40 8,100 84%
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1H26H(H) NS =3 40 8,100 84%
1827H(H) L5 = 40 8,100 84%
1H28H(X) NS e 40 7,600 85%
1H29H(K) INZ; = 40 7,600 85%
1H30H(K) NS e 40 7,600 85%
1831H(%) INZ; = 40 8,100 84%
2H1H(X) NS =) 40 7,600 85%
2H2H((H) /NS = 40 7,600 85%
2H3H((AH) NS =) 40 7,600 85%
2H4B(X) /NS = 40 8,100 84%
2H5B(0K) L5 =) 40 8,100 84%
2H6H(K) /NS = 40 8,100 84%
2H78(E) NS =) 40 7,600 85%
2H8H(TL) INZ; = 40 9,600 81%
2H9H(H) L5 =) 40 8,100 84%
2H10H(H) /NS = 40 8,100 84%
2H11HCN) L5 =) 40 8,100 84%
2H12H(K) /NS = 40 8,100 84%
2H13H(K) L5 =) 40 7,600 85%
2H14H(s®) /NS = 40 7,600 85%
2H15H(%) L5 =) 40 7,600 85%
2H16H(H) /NS = 40 7,600 85%
2H17H(H) L5 =) 40 7,600 85%
2H18H(N) /NS = 40 7,600 85%
2H19H(K) L5 =) 40 7,600 85%
2H20H(K) /NS = 40 7,600 85%
2H21H(5&) L5 =) 40 9,100 82%
2H22H(L) /NS = 40 9,600 81%
2H23H(H) NS =) 40 9,100 82%
2H24H(H) /NS = 40 9,100 82%
2H25H(X) NS =) 40 8,100 84%
2H26H(K) /NS = 40 7,600 85%
2H27H(K) NS =y 40 7,600 85%
2H28H (&) /NS =3 40 7,600 85%
3H1H(X) NS =) 40 8,100 85%
3H2H((H) /NS =3 40 8,100 85%
3H3H(A) NS =) 40 8,600 84%
3H4B(X) /NS =3 40 8,100 85%
3H5HK) NS =y 40 8,100 85%
3H6H(K) /NS =3 40 8,100 85%
3H7H(GE) IN=] =) 40 8,600 84%
3H8H(X) /NS =3 40 8,100 85%
3H9H(H) L5 =) 40 8,600 84%
3H10H(A) /NS =3 40 8,600 84%
3H11H(X) L5 (= 40 8,100 85%
3H12H(K) /NS =3 40 8,100 85%
3H13H(K) L5 (= 40 8,100 85%
3H14H(®) /NS =3 40 8,100 85%
3H15H(L) L5 =) 40 8,600 84%
3H16H(H) NS =3 40 8,100 85%
3H17H(H) L5 (= 40 8,100 85%
3H18H(N) NS =3 40 8,100 85%
3H19H(K) L5 (= 40 8,100 85%
3H20H(XK) NS =3 40 9,100 83%
3H21H(&) L5 =) 40 8,600 84%
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3H22H(L) NS =) 40 10,600 80%
3H23H(H) L5 = 40 8,600 84%
3H24H(H) NS =) 40 8,100 85%
3H25H(X) INZ; = 40 8,100 85%
3H26H(K) NS =) 40 8,100 85%
3H27H(K) INZ; = 40 8,100 85%
3H28H(5&) NS =) 40 9,100 83%
3H29H(%) L5 = 40 8,100 85%
1251H(H) W=y INS; 41 10,600 80%
12H2H(H) NS, NS 41 8,600 84%
12H3H(X) W=y INS; 41 8,600 84%
12H5H(K) NS, NS 41 9,100 83%
12H6H(E) W=y INS; 41 9,600 82%
1287H(XL) NS, NS 41 9,100 83%
12H8H(H) W= L5 41 10,600 80%
12859H(H) =y L5 41 8,600 84%
12H10H(CN) =y L5 41 8,100 85%
12H11H(K) =3 L5 41 8,100 85%
12H12H(K) =y L5 41 8,600 84%
12H13H(&) NS L5 41 8,600 84%
12H14H(X) =y L5 41 8,600 84%
12H16H(H) =y L5 41 8,600 84%
12H17H(N) =y L5 41 7,600 85%
12H18H(K) =3 L5 41 7,600 85%
12H19H(K) =y L5 41 8,600 84%
12H20H(&) NS, L5 41 9,100 83%
12H21H(X) =y L5 41 9,100 83%
12H22H(H) =3 L5 41 8,600 84%
12823H(H) =y L5 41 8,600 84%
12H24HX) (=} NS 41 8,600 84%
12H25H(0K) = L5 41 8,600 84%

1H6H(H) =3 L5 41 9,100 82%
1878(X) = L5 41 8,100 84%
1H8H(K) (=} NS 41 8,100 84%
1H9H(K) = L5 41 7,600 85%
1H10H(E) =) L5 41 8,100 84%
1H11H(L) = L5 41 9,600 81%
1812H((H) =3 L5 41 9,100 82%
1H13H(H) = L5 41 9,100 82%
1H14H(X) =3 L5 41 8,600 83%
1H15H(K) =y L5 41 7,600 85%
1H16H(K) W=y IN=; 41 7,600 85%
1H17H(E) W=y IN=] 41 7,600 85%
1H18H(XL) W=y IN=; 41 8,600 83%
1H19H(H) W=y IN=] 41 8,600 83%
1H20H(H) W=y IN=; 41 8,100 84%
1H21H(KN) W=y L5 41 8,100 84%
1H22H(K) W=y IN=; 41 8,100 84%
1H23H(K) W=y L5 41 7,600 85%
1H24H(E) =y IN=; 41 8,100 84%
1H25H(XL) = L5 41 7,600 85%
1H26H(H) =y IN=; 41 8,100 84%
1H27H(H) = IN=; 41 8,100 84%
1H28H(X) =y IN=; 41 7,600 85%
1H29H(K) = IN=] 41 7,600 85%
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1H30H(K) =y IN=; 41 7,600 85%
1831H(%) NS, NS 41 8,100 84%
2H1H(X) W=y INS; 41 7,600 85%
2H2H((H) NS, NS 41 8,600 83%
2H3H((A) W=y INS; 41 7,600 85%
2H4B(X) NS, NS 41 8,100 84%
2H5B8(0K) W=y INS; 41 7,600 85%
2H6H(K) NS, NS 41 7,600 85%
2H7H(E) W=y INS; 41 8,600 83%
2H8H(X) NS, NS 41 9,600 81%
2H9H(H) W=y INS; 41 9,100 82%
2H10H(AH) NS, NS 41 8,100 84%
2H11H(N) W=y INS; 41 9,600 81%
2H12H(K) NS, NS 41 7,600 85%
2H13H(K) W= L5 41 7,600 85%
2H14H(s®) NS, L5 41 7,600 85%
2H15H(%) =y L5 41 7,600 85%
2H16H(H) =3 L5 41 8,600 83%
2H17H(H) =y L5 41 7,600 85%
2H18H(N) =y L5 41 7,600 85%
2H19H(K) =y L5 41 7,600 85%
2H20H(XK) =y L5 41 8,100 84%
2H21H(5&) =y L5 41 8,600 83%
2H22H(L) NS, L5 41 9,600 81%
2H23H(H) =y L5 41 8,100 84%
2H24H(H) =y L5 41 9,600 81%
2H25H(X) =y L5 41 8,100 84%
2H26H(K) =3 L5 41 8,600 83%
2H27H(K) =y L5 41 8,100 84%
2H28H (&) =) L5 41 7,600 85%
3H1H(X) = L5 41 8,100 85%
3H2H((H) =3 L5 41 8,100 85%
3H3H(A) = L5 41 8,100 85%
384HX) (=} NS 41 8,100 85%
3H5HK) = L5 41 8,100 85%
3H6H(K) (=} NS 41 8,100 85%
3H7H(GE) = L5 41 8,600 84%
3H8H(L) =) L5 41 8,100 85%
3H9H(H) = L5 41 8,100 85%
3H10H(A) =3 L5 41 8,600 84%
3H11HX) =y L5 41 8,100 85%
3H12H(K) W=y IN=; 41 8,100 85%
3H13H(K) W=y L5 41 9,100 83%
3H14H(®) W=y IN=; 41 8,100 85%
3H15H(%) W=y IN=] 41 8,100 85%
3H16H(H) W=y IN=; 41 8,100 85%
3H17H(H) W=y L5 41 8,100 85%
3H18H(N) W=y IN=; 41 8,100 85%
3H19H(K) W=y L5 41 8,100 85%
3H20H(XK) =y IN=; 41 9,100 83%
3H21H(&) = L5 41 9,100 83%
3H22H(L) =y IN=; 41 9,100 83%
3H23H(H) = L5 41 10,600 80%
3H24H(H) =y IN=; 41 8,100 85%
3H25H(X) = IN=] 41 8,100 85%
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3H26H(K) =y IN=; 41 8,100 85%
3H27H(K) NS, NS 41 8,100 85%
3H28H(5&) W=y INS; 41 8,100 85%
3H29H(%) NS, NS 41 8,100 85%
1252H(H) NS =) 42 9,600 82%
12H3H(X) INZ; = 42 8,600 84%
12H4H(K) NS =) 42 8,600 84%
12H5H(K) L5 = 42 9,100 83%
12H6H(E) NS =) 42 10,600 80%
12H7H(XL) L5 = 42 9,600 82%
12H9H(H) NS =) 42 8,600 84%
12H10H(N) INZ; = 42 8,600 84%
12H11H(K) NS =) 42 8,600 84%
12H12H(K) INZ; = 42 8,100 85%
12H14H(X) L5 =) 42 8,600 84%
12H15H(H) /NS = 42 10,600 80%
12H16H(A) L5 =) 42 8,600 84%
12H17H(CN) /NS = 42 7,600 85%
12H18H(K) L5 =) 42 7,600 85%
12H19H(XK) /NS = 42 8,600 84%
12H20H (&) L5 =) 42 9,600 82%
12H21H(X) /NS = 42 8,600 84%
12823H(A) L5 =) 42 8,600 84%
12H24H(N) /NS = 42 8,600 84%
12H25H(0K) L5 =) 42 9,100 83%

1H7H(N) /NS = 42 8,600 83%

1H8H(K) L5 =) 42 8,100 84%

1H9H(XK) /NS = 42 8,600 83%
1H10H(GER) NS =) 42 9,100 82%
1H11H(XL) /NS = 42 9,100 82%
1H12H(H) NS =) 42 9,100 82%
1813H(H) /NS = 42 10,600 79%
1H14H(X) NS =) 42 8,600 83%
1H15H(K) /NS = 42 7,600 85%
1H16H(K) NS =) 42 7,600 85%
1H17H(E) /NS = 42 8,600 83%
1H18H(L) NS =) 42 7,600 85%
1H19H(H) /NS = 42 8,100 84%
1H20H(H) NS =) 42 7,600 85%
1H21H(KX) /NS = 42 8,100 84%
1H22H(K) IN=] =) 42 7,600 85%
1H23H(K) /NS =) 42 8,100 84%
1H24H(E) L5 =) 42 8,100 84%
1H25H(XL) /NS =) 42 7,600 85%
1H26H(H) L5 =) 42 9,100 82%
1H27H(H) /NS =) 42 8,100 84%
1H28H(XN) L5 (= 42 8,100 84%
1H29H(K) /NS =) 42 7,600 85%
1H30H(K) L5 (= 42 7,600 85%
1H31HGE) NS =) 42 7,600 85%

2H1H(X) L5 = 42 7,600 85%

2H2H((H) NS =) 42 9,100 82%

2H3H(H) L5 (= 42 7,600 85%

2H48(X) NS =) 42 8,100 84%

2H5H0K) L5 =) 42 7,600 85%
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2H6H(K) NS =3 42 8,600 83%
287H (&) L5 = 42 8,600 83%
2H8H(X) NS =) 42 9,100 82%
2H9H(H) /NS = 42 8,100 84%

2H10H(H) NS =) 42 9,100 82%
2H11H(N) INZ; = 42 9,600 81%
2H12H(K) L5 =) 42 7,600 85%
2H13H(K) L5 = 42 7,600 85%
2H14H(5&) NS =) 42 7,600 85%
2H15H(%) L5 = 42 7,600 85%
2H16H(H) NS =) 42 7,600 85%
2H17H(A) INZ; = 42 8,100 84%
2H18H(N) NS =) 42 7,600 85%
2H19H(K) INZ; = 42 7,600 85%
2H20H(K) L5 =) 42 7,600 85%
2H21H(®) /NS = 42 8,600 83%
2H22H(%) L5 =) 42 9,100 82%
2H23H(H) /NS = 42 9,600 81%
2H24H(H) L5 =) 42 10,600 79%
2H25H(N) /NS = 42 8,100 84%
2H26H(K) L5 =) 42 7,600 85%
2H27H(K) /NS = 42 7,600 85%
2H28H(5&) L5 =) 42 7,600 85%
3H1H(L) /NS = 42 8,100 85%
3H2H(H) L5 =) 42 8,600 84%
3H3HA) /NS = 42 8,100 85%
3H4H(N) L5 =) 42 8,100 85%
3H5H(0K) /NS = 42 8,100 85%
3H6H(K) NS =) 42 8,600 84%
3H7H(GE) /NS = 42 8,600 84%
3H8H(X) NS =) 42 8,100 85%
3H9H(H) /NS = 42 8,100 85%
3H10H(H) NS =) 42 8,600 84%
3H11H(N) /NS = 42 8,100 85%
3H12H(K) LS =) 42 8,100 85%
3H13H(XK) /NS =3 42 8,100 85%
3H14H(&) NS =) 42 8,100 85%
3H15H(%) /NS = 42 8,100 85%
3H16H(H) NS =) 42 8,600 84%
3H17H(A) /NS = 42 8,100 85%
3H18H(X) IN=] =) 42 8,100 85%
3H19H(K) /NS =3 42 8,100 85%
3H20H(K) L5 (= 42 8,600 84%
3H21H(®) /NS =3 42 9,100 83%
3H22H(L) L5 =) 42 9,100 83%
3H23H(H) /NS =3 42 9,600 82%
3H24H(H) L5 (= 42 8,100 85%
3H25H(XN) /NS =3 42 8,100 85%
3H26H(K) L5 (= 42 8,100 85%
3H27H(XK) NS =3 42 8,100 85%
3H28H(5&) L5 = 42 8,100 85%
3H29H (%) NS =3 42 8,600 84%
12H2H(H) = IN=; 43 9,600 82%
12H3H(X) =y IN=; 43 8,600 84%
12H4H(K) = IN=] 43 8,100 85%




R X
_ERE_ _ A __ % IBEXISE
12860 (2) e RS jg o =
12878(1) e LB 43 Y 0
12888(8) e fRE 43 i =
12898 (8) e LB 43 T S
128108 (K) e e 43 i =
128118 (K) e LB 43 o =
128128(K) e e 43 So0s 500t
128130 (%) e fRE 43 N =
128140(1) e RS 43 N =
128178(K) e LB 43 X =
128 18H () e e 43 N =
128 195 () e LB 43 T 525
128208(%) e RS 43 N =
128218(1) e LB 43 =t =
128226(8) e RS 43 R 530
128238(8) e LE 43 i 5o
128248(K) e RS 43 N 5o
128250 (K) e LB 43 Y 507

186H(8) e RS 43 S S50
1878 (X) e fRE 43 i =
1A8H(K) e RS 43 T =
1B9E(K) e fRE 43 e =
1A 108 () e RS 43 T 530
1A118(1) e LE 43 e 5o
18128(8) e RS 43 T 530
18138(8) e LE 43 e 510
18148(N) e LhE 43 N S
1A158(K) e fRE 43 S S50
1H168(A) e LE 43 L 530
18176(2) e LB 43 e 52t
1H188 (1) e LE 43 2 aeo
18198(H) e LE 43 S 5o
18208(8) e LE 43 Tt =
1A21E(X) e LB 43 o =
1H228(K) e LE 43 T =
18238 () e LB 43 o =
1H248 (%) e LE 43 T =
18256(1) e LE 43 o 5o
18268(8) e LE 43 W S
18278(8) e fRE 43 e 51
18288(N) e RS 43 ¥ 57
18298 (K) e LB 43 i =
1H308 (&) e fRE 43 L =
18318(2) e LB 43 i =
2B1E(T) e fRE 43 TS =
2B26(H) na LE 43 o 5o
2B38(8) e fRE 43 pETs =
2B48(N) na fRE 43 g 520
2B58(K) e RS 43 L =
2B68 (k) e fRE 43 gy 520
2B78(%) e fRE 43 ¥ 55
2H8E (L) e LE 43 S S50
2B98(H) e LE 43 3'188 550
281 = ' S
H10H(H) A& INZ] 43 8,100 8402
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2H11H(N) =y IN=; 43 9,600 81%
2H12H(K) NS, NS 43 7,600 85%
2H13H(XK) W=y INS; 43 7,600 85%
2H14H(E) NS, NS 43 7,600 85%
2H15H(%) W=y INS; 43 8,600 83%
2H16H(H) NS, NS 43 8,100 84%
2H17H(H) W=y INS; 43 8,100 84%
2H18H(N) NS, NS 43 7,600 85%
2H19H(K) W=y INS; 43 7,600 85%
2H20H(K) NS, NS 43 7,600 85%
2H21H(5E) W=y INS; 43 8,600 83%
2H22H (%) NS, NS 43 9,100 82%
2H23H(H) W=y INS; 43 9,100 82%
2H24H(AH) NS, NS 43 9,600 81%
2H25H(X) W= L5 43 8,600 83%
2H26H(K) =y L5 43 8,100 84%
2H27H(K) =y L5 43 8,100 84%
2H28H (&) =3 L5 43 8,100 84%

3H1H(X) =y L5 43 8,100 85%

3H2H((H) =y L5 43 8,100 85%

3H3H(H) =y L5 43 8,100 85%

3H48(X) =y L5 43 8,100 85%

3H5HK) =y L5 43 8,100 85%

3H6H(K) =3 L5 43 8,100 85%

3H7H(GE) =y L5 43 8,100 85%

3H8H(TL) =y L5 43 8,100 85%

3H9H(H) =y L5 43 8,600 84%
3H10H(A) =3 L5 43 8,100 85%
3H11HX) =y L5 43 8,100 85%
3H12H(K) =3 L5 43 8,100 85%
3H13H(K) = L5 43 8,100 85%
3H14H(%) =3 L5 43 8,100 85%
3H15H(%) = L5 43 8,100 85%
3H16H(H) =3 L5 43 8,100 85%
3H17H(H) = L5 43 8,600 84%
3H18H(N) =3 L5 43 8,100 85%
3H19H(K) = L5 43 8,100 85%
3H20H(XK) =3 L5 43 9,100 83%
3H21H(5&) = L5 43 9,600 82%
3H22H(L) =3 L5 43 9,100 83%
3H23H(H) =y L5 43 9,600 82%
3H24H(H) W=y IN=; 43 8,100 85%
3H25H(X) W=y L5 43 8,100 85%
3H26H(K) W=y IN=; 43 8,100 85%
3H27H(K) W=y L5 43 8,100 85%
3H28H(5&) W=y IN=; 43 9,100 83%
3H29H(%) W=y IN=] 43 9,100 83%
1282H(H) /NS =3 44 10,600 80%
12H4H(K) L5 (= 44 8,100 85%
12H5H(K) NS =3 44 10,600 80%
12H6H(E) L5 = 14 9,100 83%
12H7H(L) NS =3 44 8,600 84%
12H9H(H) L5 (= 44 8,600 84%
12H108(CN) NS =3 44 9,100 83%
12H11H(K) L5 =) 44 8,600 84%
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12H12H(K) NS =) 44 8,600 84%
12H16H(H) L5 = 44 8,600 84%
12H17H(CN) NS =) 44 8,600 84%
12H18H(K) INZ; = 44 8,600 84%
12H19H(K) NS =) 44 8,600 84%
12H20H(%&) INZ; = 44 8,600 84%
12H21H(X) NS =) 44 8,600 84%
12H22H(H) L5 = 44 10,600 80%
12H23H(H) NS =) 44 8,600 84%
12H24H(N) L5 = 44 7,600 85%
12H25H(K) NS =) 44 8,100 85%
12H26H(K) INZ; = 44 10,600 80%

1H6H(H) NS =) 44 10,600 79%
1H7H(N) INZ; = 44 9,100 82%
1H8H(K) L5 =) 44 8,100 84%
1H9H(XK) /NS = 44 8,100 84%
1H10HGER) L5 =) 44 8,100 84%
1H11H(XL) /NS = 44 8,600 83%
1H12H(H) L5 =) 44 9,100 82%
1H13H(H) /NS il= 44 10,600 79%
1H14H(X) L5 =) 44 8,100 84%
1H15H(K) /NS = 44 7,600 85%
1H16H(K) L5 =) 44 7,600 85%
1H17H(GE) /NS = 44 9,100 82%
1H18H(L) L5 =) 44 7,600 85%
1H19H(H) /NS = 44 8,600 83%
1H20H(H) L5 =) 44 8,100 84%
1H21H(CKX) /NS = 44 7,600 85%
1H22H(K) NS =) 44 8,100 84%
1H23H(K) /NS = 44 7,600 85%
1H24H(E) NS =) 44 8,100 84%
1H25H(XL) /NS = 44 8,100 84%
1H26H(H) NS =) 44 8,100 84%
1H27H(H) /NS = 44 7,600 85%
1H28H(X) NS =) 44 8,100 84%
1H29H(K) /NS = 44 7,600 85%
1H30H(K) NS =) 44 8,100 84%
1H31HGE) /NS = 44 8,100 84%
2H1H(X) NS =) 44 7,600 85%
2H2H((H) /NS = 44 9,100 82%
2H3H(H) IN=] =) 44 8,100 84%
2H48(X) /NS =) 44 8,100 84%
2H5HK) L5 (= 44 7,600 85%
2H6H(K) /NS =) 44 7,600 85%
2H7H(ER) L5 =) 14 8,600 83%
2H8H(X) /NS =) 44 8,600 83%
2H9H(H) L5 =) 14 8,600 83%
2H10H(H) /NS =) 44 9,100 82%
2H11H(X) L5 (= 44 9,600 81%
2H12H(K) NS =) 44 7,600 85%
2H13H(K) L5 (= 44 7,600 85%
2H14H(®) NS =) 44 8,100 84%
2H15H(L) L5 = 14 7,600 85%
2H16H(H) NS =) 44 8,100 84%
2H17H(H) L5 =) 44 8,100 84%
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2H18H(N) NS =3 44 7,600 85%
2H19H(K) L5 = 44 7,600 85%
2H20H(XK) NS =) 44 7,600 85%
2821HGE) INZ; = 44 8,600 83%
2H22H(L) NS =) 44 8,100 84%
2H23H(H) INZ; = 44 8,100 84%
2H24H(H) NS =) 44 9,100 82%
2H25H(N) L5 = 44 7,600 85%
2H26H(K) NS =) 44 8,100 84%
2H27H(K) L5 = 44 7,600 85%
2H28H(5&) NS =) 44 8,600 83%

3H1H(TE) INZ; = 44 8,100 85%

3H2H((H) NS =) 44 8,600 84%

3H3HA) INZ; = 44 8,100 85%

3H4H(N) L5 =) 44 8,100 85%

3H5H0K) /NS = 44 8,100 85%

3H6H(R) L5 =) 44 8,100 85%

3H7H(GE) /NS = 44 8,100 85%

3H8H(X) L5 =) 44 8,600 84%

3H9H(H) /NS = 44 8,100 85%
3H10H(H) L5 =) 44 8,100 85%
3H11HX) /NS = 44 8,100 85%
3H12H(K) L5 =) 44 8,100 85%
3H13H(K) /NS = 44 8,100 85%
3H14H(®) L5 =) 44 8,100 85%
3H15H(L) /NS = 44 8,600 84%
3H16H(H) L5 =) 44 8,100 85%
3H17H(H) /NS = 44 8,100 85%
3H18H(X) NS =) 44 8,100 85%
3H19H(K) /NS = 44 8,100 85%
3H20H(K) NS =) 44 9,100 83%
3H21H(®) /NS = 44 8,600 84%
3H22H(L) NS =) 44 9,600 82%
3H23H(H) /NS = 44 8,600 84%
3H24H(H) NS =) 44 8,100 85%
3H25H(N) /NS = 44 8,600 84%
3H26H(K) LS =) 44 9,100 83%
3H27H(XK) /NS = 44 8,100 85%
3H28H(5&) NS =) 44 8,100 85%
3H29H(%) /NS = 44 8,600 84%
12H1H((H) =y ALIR 45 10,000 74%
1282H(H) W=y ALIR 45 7,500 81%
12H3H(X) W=y ALIR 45 7,000 82%
12H4H(K) W=y ALIR 45 7,000 82%
12H5H(K) W=y ALIR 45 7,000 82%
12H6H(E) W=y ALIR 45 8,000 80%
12H7H(XL) W=y ALIR 45 9,000 77%
1258H(H) W=y ALIR 45 7,000 82%
12H9H(H) W=y ALIR 45 7,000 82%
12H1080X) (=} AL 45 7,000 82%
12H11H(CK) = ALIR 45 7,000 82%
12H12H(K) =y ALIR 45 7,000 82%
12H13H(%&) = ALIR 45 8,000 80%
12H14H(L) (=} AL 45 9,000 77%
12H15H(H) = ALIR 45 7,000 82%
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12H16H(H) =y ALIR 45 7,000 82%
12H178(CN) NS, ALIR 45 7,000 82%
12H18H(K) W=y ALIR 45 7,000 82%
12H19H(K) NS, ALIR 45 7,000 82%
12H208 (&) W=y ALIR 45 9,000 77%
12H21H(*%) NS, ALIR 45 9,000 77%
12H22H(H) W=y ALIR 45 8,500 78%
12H23H(A) NS, ALIR 45 7,500 81%
12H248(XN) W=y ALIR 45 7,000 82%
12H25H(K) NS, ALIR 45 7,000 82%
12H26H(K) W=y ALIR 45 8,500 78%

156H(H) =y ALIR 45 6,000 84%
1H7H(X) W=y ALIR 45 5,500 85%
1H8H(K) U=} ALIE 45 5,500 85%
1H9H(K) W= ALIR 45 6,000 84%
1H108GE) (U= AL 45 8,000 79%
1H11H(XL) =y ALIR 45 10,000 73%
1H12HH) (U= AL 45 6,000 84%
1H13H(H) =y ALIR 45 6,000 84%
15148 (N (U= AL 45 6,000 84%
1H15H(K) =y ALIR 45 5,500 85%
1H16H(K) =y ALIE 45 5,500 85%
1H17H(GER) =y ALIR 45 7,000 81%
1H18H(%) (U= AL 45 7,000 81%
1H19H((H) =y ALIR 45 6,000 84%
1H208(H) (U= AL 45 6,000 84%
1H21H(KX) =y ALIR 45 5,000 87%
1522H(K) (=} AL 45 5,000 87%
1H23H(K) =y ALIR 45 5,000 87%
1H248(E) (=} AL 45 7,000 81%
1H25H(XL) = ALIR 45 7,000 81%
1H26H(H) (=} AL 45 6,000 84%
1H27H(H) = ALIR 45 5,000 87%
1H28H(N) (=} AL 45 5,000 87%
1H29H(K) = ALIR 45 5,000 87%
1H30H(K) =3 ALIR 45 5,000 87%
1H31H(GER) = ALIR 45 6,500 83%
2H18(%) (=} AL 45 7,000 81%
2H2H(H) = ALIR 45 7,000 81%
2H3H(H) (=} AL 45 6,000 84%
2H4H(N) =y ALIR 45 6,000 84%
2H5B8(0K) W=y ALIR 45 6,000 84%
2H6H(K) W=y ALIR 45 7,000 81%
2H7H(GE) W=y ALIR 45 9,000 76%
2H8H(X) W=y ALIR 45 12,500 66%
2H9H(H) W=y ALIR 45 7,000 81%
2H10H(H) W=y ALIR 45 7,000 81%
2H11H(N) W=y ALIR 45 11,000 71%
2H12H(K) W=y ALIR 45 5,500 85%
2H13H(XK) =y ALIR 45 6,000 84%
2H14H(&) = ALIR 45 6,000 84%
2H15H (%) =y ALIR 45 7,000 81%
2H16H(H) = ALIR 45 5,000 87%
2H17H(AH) =y ALIR 45 5,000 87%
2H18H(X) = ALIR 45 5,000 87%
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2H19H(K) =y ALIR 45 5,000 87%
2H20H(K) NS, ALIR 45 5,500 85%
2H21H(5E) W=y ALIR 45 6,500 83%
2H22H (%) NS, ALIR 45 12,500 66%
2H23H(H) W=y ALIR 45 9,000 76%
2H24H(AH) NS, ALIR 45 9,000 76%
2H25H(N) W=y ALIR 45 5,000 87%
2H26H(K) NS, ALIR 45 6,500 83%
2H27H(XK) W=y ALIR 45 5,000 87%
2H28H(E) NS, ALIR 45 5,500 85%

3H1H(X) W=y ALIR 45 7,000 82%

3H2H(H) =y ALIR 45 7,000 82%

3H3H(A) W=y ALIR 45 7,000 82%

3H48(X) =y ALIR 45 7,000 82%

3H5H(K) (= ALIR 45 7,000 82%

3H6H(K) (U= ALIE 45 7,000 82%

3H7H(GE) =y ALIR 45 7,000 82%

3H8H(TL) =3 AL 45 7,000 82%

3H9H(H) =y ALIR 45 7,000 82%
3H10H(AH) =y ALIE 45 7,000 82%
3H11HX) =y ALIR 45 7,000 82%
3H12H(K) =y ALIE 45 7,000 82%
3H13H(K) =y ALIR 45 7,000 82%
3H14H(:®) =3 ALIE 45 10,000 74%
3H15H(%) =y ALIR 45 10,000 74%
3H16H(H) =y ALIE 45 10,000 74%
3H17H(H) =y ALIR 45 8,000 80%
3H18H(N) =3 ALIR 45 8,000 80%
3H19H(K) =y ALIR 45 8,000 80%
3H20H(XK) =3 ALIR 45 10,000 74%
3H21H(5&) = ALIR 45 10,000 74%
3H22H(L) =3 ALIR 45 10,000 74%
3H23H(H) = ALIR 45 10,000 74%
3H24H(AH) =3 ALIR 45 8,000 80%
3H25H(X) = ALIR 45 8,000 80%
3H26H(K) =3 ALIR 45 8,000 80%
3H27H(K) = ALIR 45 8,000 80%
3H28H (&) =3 ALIR 45 8,000 80%
3H29H(%) = ALIR 45 9,000 77%
1281H(H) ALIE =3 46 9,000 77%
12H2H(H) AL =) 46 9,000 77%
12H3H(X) ALIE =3 46 7,500 81%
12H4H(K) ALIR (= 46 7,500 81%
12H5H(K) ALIE =3 46 10,000 74%
12H6H(E) ALIR =) 46 9,000 77%
1287H(XL) ALIE =3 46 9,000 77%
12H8H(H) ALIR =) 46 9,000 77%
12859H(H) ALIE =3 46 7,500 81%
12H10H(CN) ALIR (= 46 7,500 81%
12H11H(K) ALIE =3 46 7,500 81%
12H12H(K) ALIR (= 46 7,500 81%
12H138(E) ALIE =3 46 9,000 77%
12H14H(X) ALIR = 46 9,000 77%
12515H(H) ALIE =3 46 9,000 77%
12H16H(A) ALIR =) 46 7,500 81%
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12H178(CX) ALIR =3 46 7,500 81%
12H18H(K) ALIR = 46 7,500 81%
12H19H(K) AL =) 46 7,500 81%
12H20HGE) ALI = 46 9,000 77%
12H21H(X) ALIR =) 46 9,000 77%
12H22H(H) ALIR = 46 8,000 80%
12H23H(H) ALIR =) 46 7,500 81%
12H248(N) ALIR = 46 7,500 81%
12H25H(K) AL =) 46 7,500 81%
12H26H(K) ALIR = 46 9,000 77%

1H6H(H) ALIR e 46 9,000 76%
1H7H(N) ALI = 46 6,500 83%
1H8H(K) AL e 46 6,500 83%
1H9H(XK) ALI = 46 6,500 83%
1H10H(GER) ALIR =y 46 8,000 79%
1H11H(XL) ALIE il= 46 11,000 71%
1H12H(H) ALIR =) 46 7,000 81%
1813H(H) ALIE il= 46 7,000 81%
1H14H(X) AL =) 46 6,500 83%
1H15H(K) ALIE il= 46 6,500 83%
1H16H(K) AL =) 46 6,500 83%
1H17H(GE) ALIE = 46 7,000 81%
1H18H(L) ALIR =) 46 8,000 79%
1819H((H) ALIE il= 46 7,000 81%
1H20H(H) ALIR =) 46 6,500 83%
1H21HCX) ALIE = 46 6,500 83%
1H22H(K) AL =) 46 6,500 83%
1H23H(K) ALIE =3 46 6,500 83%
1H24H(E) AL =y 46 6,500 83%
1H25H(L) ALIE =3 46 7,000 81%
1H26H(H) AL =) 46 6,500 83%
1827H(H) ALIE =3 46 5,000 87%
1H28H(X) AL =y 46 5,000 87%
1H29H(K) ALIE =3 46 5,000 87%
1H30H(RK) AL =) 46 5,000 87%
1H31HGE) ALIE =3 46 6,500 83%
2H1H(X) AL =y 46 6,500 83%
2H2H((H) ALIE =3 46 6,500 83%
2H3H((A) AL =y 46 6,000 84%
2H48(X) ALIE =3 46 6,000 84%
2H5H0K) AL =) 46 6,000 84%
2H6H(K) ALIE =3 46 6,000 84%
2H7H(ER) ALIR =) 46 8,000 79%
2H8H(X) ALIE =3 46 12,500 66%
2H9H(H) ALIR =) 46 6,000 84%
2H10H(H) ALIE =3 46 6,000 84%
2H11H(X) ALIR (= 46 11,000 71%
2H12H(K) ALIE =3 46 5,500 85%
2H13H(K) ALIR (= 46 6,000 84%
2H14H(®) ALIE =3 46 6,000 84%
2H15H(L) ALIR = 46 7,000 81%
2H16H(H) ALIE =3 46 5,000 87%
2H17H(H) ALIR (= 46 5,000 87%
2H18H(N) ALIE =3 46 5,000 87%
2H19H(K) ALIR =) 46 5,000 87%
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2H20H(XK) ALIR =3 46 5,500 85%
2821HGE) ALI = 46 6,500 83%
2H22H(L) ALIR e 46 12,500 66%
2H23H(H) ALI = 46 9,000 76%
2H24H(H) ALIR e 46 9,000 76%
2H25H(N) ALI = 46 5,000 87%
2H26H(K) AL e 46 6,500 83%
2H27H(K) ALI = 46 5,000 87%
2H28H(5&) ALIR e 46 5,500 85%

3H1H(TE) ALIR = 46 7,000 82%

3H2H((H) ALIR =) 46 7,000 82%

3H3HA) ALI = 46 7,000 82%

3H48(X) AL =) 46 7,000 82%

3H5H0K) ALIR = 46 7,000 82%

3H6H(R) AL =) 46 7,000 82%

3H7H(GE) ALIE il= 46 7,000 82%

3H8H(X) ALIR =) 46 7,000 82%

3H9H(H) ALIE = 46 7,000 82%
3H10H(H) ALIR =) 46 7,000 82%
3H11H(N) ALIE il= 46 7,000 82%
3H12H(K) AL =) 46 7,000 82%
3H13H(K) ALIE = 46 7,000 82%
3H14H(&) ALIR =) 46 10,000 74%
3H15H(L) ALIE il= 46 10,000 74%
3H16H(H) ALIR =) 46 10,000 74%
3H17H(A) ALIE = 46 8,000 80%
3H18H(X) AL =) 46 8,000 80%
3H19H(K) ALIE =3 46 8,000 80%
3H20H(K) AL =y 46 10,000 74%
3H21H(:®) ALIE =3 46 10,000 74%
3H22H(%) AL =) 46 10,000 74%
3H23H(H) ALIE =3 46 10,000 74%
3H24H(H) AL =y 46 8,000 80%
3H25H(N) ALIE =3 46 8,000 80%
3H26H(K) AL =) 46 8,000 80%
3H27H(XK) ALIE =3 46 8,000 80%
3H28H(5&) AL =y 46 8,000 80%
3H29H(%) ALIE =3 46 9,000 77%
12H1H((H) = ALIR 47 10,000 74%
1282H(H) =3 ALIR 47 10,000 74%
12H3H(X) =y ALIR 47 7,500 81%
12H4H(K) W=y ALIR 47 7,000 82%
12H5H(K) W=y ALIR 47 7,000 82%
12H6H(E) W=y ALIR 47 7,500 81%
12H7H(XL) W=y ALIR 47 8,000 80%
1258H(H) W=y ALIR 47 8,000 80%
12H9H(H) W=y ALIR 47 8,000 80%
12H108(XN) W=y ALIR 47 7,000 82%
12H11H(CK) W=y ALIR 47 7,000 82%
12H12H(K) =y ALIR 47 7,000 82%
12H13H(%&) = ALIR 47 8,000 80%
12H14H(X) =y ALIR 47 8,000 80%
12H15H(H) = ALIR 47 8,000 80%
12H16H(A) =y ALIR 47 7,000 82%
12H17H(CN) = ALIR 47 7,000 82%
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12H18H(K) =y ALIR 47 7,000 82%
12H19H(K) NS, ALIR 47 7,000 82%
12H208 (&) W=y ALIR 47 9,000 77%
12H21H(%) NS, ALIR 47 9,000 77%
12H22H(H) W=y ALIR 47 9,000 77%
12H23H(A) NS, ALIR 47 8,000 80%
12H248(XN) W=y ALIR 47 8,000 80%
12H25H(K) NS, ALIR 47 8,000 80%
12H26H(K) W=y ALIR 47 9,500 76%

156H(H) =y ALIR 47 6,000 84%
1H7H(X) W=y ALIR 47 5,500 85%
1H8H(K) NS, ALIR 47 5,500 85%
1H9H(XK) W=y ALIR 47 6,000 84%
1510H(%) NS, ALIR 47 8,000 79%
1H11H(EL) W= ALIR 47 8,000 79%
1812H(H) =y ALIE 47 8,000 79%
1H13H(H) =y ALIR 47 8,000 79%
1H148H0X) =3 AL 47 5,500 85%
1H15H(K) =y ALIR 47 5,500 85%
1H16H(K) =y ALIE 47 5,500 85%
1H17H(GER) =y ALIR 47 7,000 81%
1H18H(L) =y ALIE 47 5,500 85%
1H19H((H) =y ALIR 47 5,500 85%
1820H(H) =3 ALIE 47 6,000 84%
1H21H(X) =y ALIR 47 5,000 87%
1H22H(K) =y ALIE 47 5,000 87%
1H23H(K) =y ALIR 47 5,000 87%
1H24H(E) =3 ALIR 47 6,000 84%
1H25H(XL) =y ALIR 47 6,000 84%
1826H(H) =3 ALIR 47 5,500 85%
1H27H(H) = ALIR 47 5,000 87%
1H28H(X) =3 ALIR 47 5,000 87%
1H29H(K) = ALIR 47 5,000 87%
1H30H(K) =3 ALIR 47 5,000 87%
1H31H(GER) = ALIR 47 7,000 81%
2H1H(EL) =3 ALIR 47 5,000 87%
2H2H(H) = ALIR 47 5,500 85%
2H3H((A) =3 ALIR 47 5,500 85%
2H4H(N) = ALIR 47 5,500 85%
2H5BH(0K) =3 ALIR 47 5,000 87%
2H6H(RK) =y ALIR 47 5,000 87%
2H7H(GE) W=y ALIR 47 9,000 76%
2H8H(X) W=y ALIR 47 12,500 66%
2H9H(H) W=y ALIR 47 7,000 81%
2H10H(H) W=y ALIR 47 7,000 81%
2H11H(N) W=y ALIR 47 8,000 79%
2H12H(K) W=y ALIR 47 5,000 87%
2H13H(XK) W=y ALIR 47 5,000 87%
2H14H(&) W=y ALIR 47 7,000 81%
2H15H (%) =y ALIR 47 7,000 81%
2H16H(H) = ALIR 47 5,000 87%
2H17H(AH) =y ALIR 47 7,000 81%
2H18H(X) = ALIR 47 5,000 87%
2H19H(K) =y ALIR 47 5,000 87%
2H20H(K) = ALIR 47 5,000 87%
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2H21H(5E) =y ALIR 47 8,000 79%
2H22H (%) NS, ALIR 47 10,500 72%
2H23H(H) W=y ALIR 47 9,000 76%
2H24H(AH) NS, ALIR 47 8,000 79%
2H25H(N) W=y ALIR 47 7,000 81%
2H26H(K) NS, ALIR 47 5,000 87%
2H27H(XK) W=y ALIR 47 5,000 87%
2H28H(E) NS, ALIR 47 5,000 87%

3H1H(X) W=y ALIR 47 7,500 81%

3H2H((H) =y ALIR 47 7,000 82%

3H3H(A) W=y ALIR 47 7,000 82%

3H48(X) =y ALIR 47 7,000 82%

3H5B(0K) (= ALIR 47 7,000 82%

3H6H(K) =y ALIR 47 7,000 82%

3H7H(GE) W= ALIR 47 7,000 82%

3H8H(TL) =y ALIE 47 7,500 81%

3H9H(H) =y ALIR 47 7,000 82%
3H10H(AH) =3 AL 47 7,000 82%
3H11HX) =y ALIR 47 7,000 82%
3H12H(K) =y ALIE 47 7,000 82%
3H13H(K) =y ALIR 47 7,000 82%
3H14H(:®) =y ALIE 47 10,000 74%
3H15H(%) =y ALIR 47 10,000 74%
3H16H(H) =3 ALIE 47 10,000 74%
3H17H(H) =y ALIR 47 8,000 80%
3H18H(N) =y ALIE 47 8,000 80%
3H19H(K) (= ALIR 47 8,000 80%
3H20H(XK) =3 ALIR 47 10,000 74%
3H21H(5&) =y ALIR 47 10,000 74%
3H22H(L) =3 ALIR 47 10,000 74%
3H23H(H) = ALIR 47 10,000 74%
3H24H(AH) =3 ALIR 47 8,000 80%
3H25H(X) = ALIR 47 8,000 80%
3H26H(K) =3 ALIR 47 8,000 80%
3H27H(K) = ALIR 47 8,000 80%
3H28H (&) =3 ALIR 47 8,000 80%
3H29H(%) = ALIR 47 8,000 80%
1281H((H) ALIE =3 48 10,000 74%
12H2H(H) AL =y 48 10,000 74%
12H3HX) ALIE =3 48 6,000 85%
12H4H(K) AL =) 48 6,000 85%
12H5H(K) ALIE =3 48 5,500 86%
12H6H(E) ALIR =) 48 8,000 80%
1287H(XL) ALIE =3 48 7,000 82%
12H8H(H) ALIR =) 48 7,000 82%
12859H(H) ALIE =3 48 7,000 82%
12H10H(CN) ALIR (= 48 5,500 86%
12H11H(K) ALIE =3 48 5,500 86%
12H12H(K) ALIR (= 48 5,500 86%
12H138(E) ALIE =3 48 7,000 82%
12H14H(X) ALIR = 48 7,000 82%
12515H(H) ALIE =3 48 8,000 80%
12H16H(H) ALIR (= 48 8,000 80%
12H17H(N) ALIE =3 48 6,000 85%
12H18H(K) ALIR =) 48 5,500 86%
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12H19H(K) ALIR =3 48 5,500 86%
12H20HGE) ALI = 48 7,000 82%
12H21H(X) ALIR =) 48 7,000 82%
12H22H(H) ALI = 48 8,000 80%
12H23H(H) ALIR e 48 8,000 80%
12H248(N) ALI = 48 5,500 86%
12H25H(K) AL e 48 6,000 85%
12H26H(K) ALI = 48 9,000 77%

1H6H(H) ALIR e 48 9,000 76%
1H7H(N) ALI = 48 7,000 81%
1H8H(K) AL =) 48 5,000 87%
1H9H(K) ALI = 48 5,000 87%
1H10H(GE) ALIR =) 48 7,000 81%
1811H(L) ALI = 48 7,500 80%
1H12H(H) ALIR =) 48 7,000 81%
1813H(H) ALIE il= 48 11,000 71%
1H14H(X) AL =) 48 6,000 84%
1H15H(K) ALIE il= 48 4,500 88%
1H16H(K) AL =) 48 4,500 88%
1H17H(GE) ALIE il= 48 5,000 87%
1H18H(L) ALIR =) 48 5,500 85%
1819H((H) ALIE = 48 5,500 85%
1H20H(H) ALIR =) 48 5,000 87%
1H21HX) ALIE il= 48 5,000 87%
1H22H(K) AL =) 48 4,500 88%
1H23H(K) ALIE = 48 4,500 88%
1H24H(E) ALIR =) 48 5,500 85%
1H25H(L) ALIE =3 48 5,500 85%
1H26H(H) AL =) 48 6,000 84%
1827H(H) ALIE =3 48 4,500 88%
1H28H(X) AL =) 48 4,500 88%
1H29H(K) ALIE =3 48 4,500 88%
1H30H(RK) AL =y 48 4,500 88%
1H31HGE) ALIE =3 48 5,500 85%
2H1H(X) AL =) 48 5,500 85%
2H2H((H) ALIE =3 48 5,500 85%
2H3H((A) AL =y 48 5,500 85%
2H48(X) ALIE =3 48 5,000 87%
2H5H(K) AL =y 48 5,000 87%
2H6H(K) ALIE =3 48 5,500 85%
2H78(GE) AL =) 48 7,000 81%
2H8H(X) ALIE =3 48 9,000 76%
2H9H(H) ALIR =) 48 9,000 76%
2H10H(H) ALIE =3 48 7,000 81%
2H11H(X) ALIR (= 48 13,000 65%
2H12H(K) ALIE =3 48 5,000 87%
2H13H(K) ALIR (= 48 5,000 87%
2H14H(®) ALIE =3 48 4,500 88%
2H15H(L) ALIR =) 48 4,500 88%
2H16H(H) ALIE =3 48 8,000 79%
2H17H(H) ALIR (= 48 8,000 79%
2H18H(N) ALIE =3 48 5,000 87%
2H19H(K) ALIR (= 48 5,000 87%
2H20H(XK) ALIE =3 48 4,500 88%
2H21H(&) ALIR =) 48 8,000 79%
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2H22H(L) ALIR =3 48 8,000 79%
2H23H(H) ALI = 48 8,000 79%
2H24H(H) ALIR e 48 12,500 66%
2H25H(N) ALI = 48 6,000 84%
2H26H(K) AL =) 48 6,000 84%
2H27H(K) ALI = 48 5,000 87%
2H28H(5&) ALIR e 48 5,500 85%

3H1H(TE) ALIR = 48 7,000 82%

3H2H((H) ALIR =) 48 7,000 82%

3H3HA) ALI = 48 7,000 82%

3H48(X) AL =) 48 7,000 82%

3H5H0K) ALIR = 48 7,000 82%

3H6H(K) AL =) 48 7,000 82%

387H (&) ALIR = 48 7,000 82%

3H8H(X) ALIR =) 48 7,000 82%

3H9H(H) ALIE il= 48 7,000 82%
3H10H(H) ALIR =) 48 7,000 82%
3H11H(N) ALIE il= 48 7,000 82%
3H12H(K) AL =) 48 7,000 82%
3H13H(K) ALIE il= 48 7,000 82%
3H14H(%) ALIR =) 48 10,000 74%
3H15H(L) ALIE = 48 10,000 74%
3H16H(H) ALIR =) 48 10,000 74%
3H17H(A) ALIE il= 48 8,000 80%
3H18H(X) AL =) 48 8,000 80%
3H19H(K) ALIE = 48 8,000 80%
3H20H(K) AL =) 48 10,000 74%
3H21H(®) ALIE =3 48 10,000 74%
3H22H(L) AL =) 48 10,000 74%
3H23H(H) ALIE =3 48 10,000 74%
3H24H(H) AL =) 48 8,000 80%
3H25H(N) ALIE =3 48 8,000 80%
3H26H(K) AL =y 48 8,000 80%
3H27H(XK) ALIE =3 48 8,000 80%
3H28H(5&) AL =) 48 8,000 80%
3H29H(%) ALIE =3 48 8,000 80%
12H1H((H) = ALIR 49 10,000 74%
1282H(H) =3 ALIR 49 6,000 85%
12H3HX) (= ALIR 49 6,000 85%
12H4H(K) =3 ALIR 49 5,000 87%
12H5H(K) (= ALIR 49 8,000 80%
12H6H(E) W=y ALIR 49 8,000 80%
12H7H(XL) W=y ALIR 49 8,000 80%
1258H(H) W=y ALIR 49 8,000 80%
12H9H(H) W=y ALIR 49 8,000 80%
12H108(XN) W=y ALIR 49 6,000 85%
12H11H(CK) W=y ALIR 49 6,000 85%
12H12H(K) W=y ALIR 49 6,000 85%
12H13H(&) W=y ALIR 49 8,000 80%
12H14H(X) =y ALIR 49 6,000 85%
12H15H(H) = ALIR 49 8,000 80%
12516H(A) =y ALIR 49 6,000 85%
12H17H(N) = ALIR 49 5,000 87%
12H18H(K) =y ALIR 49 5,500 86%
12H19H(K) = ALIR 49 5,500 86%




a%H [XF& B IBEX#il
12H208 (&) =y ALIR 49 9,000 77%
12H21H(%) NS, ALIR 49 5,500 86%
12H22H(H) W=y ALIR 49 9,000 77%
12H23H(A) NS, ALIR 49 5,500 86%
12H248(XN) W=y ALIR 49 5,000 87%
12H25H(K) NS, ALIR 49 6,500 83%
12H26H(K) W=y ALIR 49 10,000 74%

156H(H) =y ALIR 49 5,500 85%
1H7H(X) W=y ALIR 49 4,500 88%
1H8H(K) NS, ALIR 49 4,500 88%
1H9H(XK) W=y ALIR 49 5,500 85%
15108 (%) NS, ALIR 49 8,000 79%
1H11H(XL) W=y ALIR 49 10,000 73%
1812H((H) NS, ALIR 49 8,000 79%
1H13H(H) W= ALIR 49 8,000 79%
1H148H0X) =y ALIE 49 5,000 87%
1H15H(K) (= ALIR 49 4,500 88%
1H16H(K) =3 AL 49 5,000 87%
1H17H(GER) =y ALIR 49 7,000 81%
1H18H(L) =y ALIE 49 6,000 84%
1H19H((H) =y ALIR 49 8,000 79%
1820H(H) =y ALIE 49 5,000 87%
1H21H(KX) =y ALIR 49 5,000 87%
1H22H(K) =3 ALIE 49 4,500 88%
1H23H(RK) =y ALIR 49 5,000 87%
1H24H(E) =y ALIE 49 6,500 83%
1H25H(L) =y ALIR 49 6,000 84%
1H26H(H) =3 ALIR 49 5,500 85%
1H27H(H) =y ALIR 49 5,000 87%
1H28H(X) =3 ALIR 49 4,500 88%
1H29H(K) = ALIR 49 4,500 88%
1H30H(K) =3 ALIR 49 4,500 88%
1H31H(GER) = ALIR 49 6,500 83%
2H1H(EL) =3 ALIR 49 5,000 87%
2H2H(H) = ALIR 49 5,500 85%
2H3H((A) =3 ALIR 49 4,500 88%
2H4H(N) = ALIR 49 4,500 88%
2H5BH(0K) =3 ALIR 49 5,000 87%
2H6H(RK) = ALIR 49 5,000 87%
2H7H(GE) =3 ALIR 49 12,500 66%
2H8H(X) =y ALIR 49 10,000 73%
2H9H(H) W=y ALIR 49 10,000 73%
2H10H(H) W=y ALIR 49 7,000 81%
2H11H(N) W=y ALIR 49 10,000 73%
2H12H(K) W=y ALIR 49 5,000 87%
2H13H(XK) W=y ALIR 49 4,500 88%
2H14H(&) W=y ALIR 49 9,000 76%
2H15H(%) W=y ALIR 49 5,500 85%
2H16H(H) W=y ALIR 49 6,000 84%
2H17H(AH) =y ALIR 49 5,000 87%
2H18H(X) = ALIR 49 4,500 88%
2H19H(K) =y ALIR 49 4,500 88%
2H20H(K) = ALIR 49 4,500 88%
2H21H(s®) =y ALIR 49 11,000 71%
2H22H(L) = ALIR 49 10,000 73%
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2H23H(H) =y ALIR 49 8,000 79%
2H24H(AH) NS, ALIR 49 8,500 77%
2H25H(N) W=y ALIR 49 4,500 88%
2H26H(K) NS, ALIR 49 4,500 88%
2H27H(XK) W=y ALIR 49 4,500 88%
2H28H(E) NS, ALIR 49 5,000 87%

3H1H(X) W=y ALIR 49 7,000 82%

3H2H((H) =y ALIR 49 7,500 81%

3H3H(A) W=y ALIR 49 7,000 82%

3H48(X) =y ALIR 49 7,000 82%

3H5B(0K) (= ALIR 49 7,000 82%

3H6H(K) =y ALIR 49 7,000 82%

3H7H(GE) W=y ALIR 49 7,500 81%

3H8H(TL) NS, ALIR 49 7,000 82%

3H9H(H) W= ALIR 49 7,500 81%
3H10H(AH) =y ALIE 49 7,000 82%
3H11HX) =y ALIR 49 7,000 82%
3H12H(K) =3 AL 49 7,000 82%
3H13H(K) =y ALIR 49 7,000 82%
3H14H(E) =y ALIE 49 10,000 74%
3H15H(%) =y ALIR 49 10,000 74%
3H16H(H) =y ALIE 49 10,000 74%
3H17H(H) =y ALIR 49 8,000 80%
3H18H(N) =3 ALIE 49 8,000 80%
3H19H(K) (= ALIR 49 10,000 74%
3H20H(XK) =y ALIE 49 10,000 74%
3H21H(5&) =y ALIR 49 10,000 74%
3H22H(L) =3 ALIR 49 10,000 74%
3H23H(H) =y ALIR 49 10,000 74%
3H24H(AH) =3 ALIR 49 8,000 80%
3H25H(X) = ALIR 49 8,000 80%
3H26H(K) =3 ALIR 49 8,000 80%
3H27H(K) = ALIR 49 8,000 80%
3H28H (&) =3 ALIR 49 10,000 74%
3H29H(%) = ALIR 49 8,000 80%
1281H((H) ALIE =3 50 10,000 74%
12H2H(H) AL =y 50 8,000 80%
12H3HX) ALIE =3 50 7,500 81%
12H4H(K) AL =y 50 7,500 81%
12H5H(K) ALIE =3 50 7,500 81%
12H6H(E) ALIR =) 50 8,500 78%
1287H(XL) ALIE =3 50 8,500 78%
12H8H(H) ALIR (= 50 10,000 74%
12859H(H) ALIE =3 50 7,500 81%
12H10H(CN) ALIR (= 50 7,500 81%
12H11H(K) ALIE =3 50 7,500 81%
12H12H(K) ALIR (= 50 7,500 81%
12H138(E) ALIE =3 50 10,000 74%
12H14H(X) ALIR (= 50 8,000 80%
12515H(H) ALIE =3 50 10,000 74%
12H16H(H) ALIR (= 50 9,000 77%
12H17H(N) ALIE =3 50 7,000 82%
12H18H(K) ALIR (= 50 7,000 82%
12H19H(K) ALIE =3 50 7,000 82%
12H20H(&) ALIR =) 50 9,000 77%
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12H21H(%) ALIR =3 50 9,000 77%
12H22H(H) ALI = 50 9,000 77%
12H23H(H) ALIR e 50 9,000 77%
12H248(XN) ALI = 50 7,000 82%
12H25H(K) AL e 50 8,000 80%
12H26H(K) ALI = 50 8,500 78%

1H6H(H) ALIR e 50 9,000 76%
1H7H(N) ALI = 50 9,000 76%
1H8H(K) AL e 50 6,000 84%
1H9H(XK) ALI = 50 6,000 84%
1H10H(GER) ALIR e 50 9,000 76%
1811H(L) ALI = 50 8,000 79%
1H12H(H) ALIR e 50 8,000 79%
1813H(H) ALI = 50 13,000 65%
1H14H(X) AL =y 50 6,000 84%
1H15H(K) ALIE il= 50 6,000 84%
1H16H(K) AL =) 50 6,000 84%
1H17H(GE) ALIE il= 50 9,000 76%
1H18H(L) ALIR =) 50 7,000 81%
1819H((H) ALIE il= 50 7,000 81%
1H20H(H) ALIR =) 50 6,000 84%
1H21HCX) ALIE = 50 6,000 84%
1H22H(K) AL =) 50 6,000 84%
1H23H(K) ALIE il= 50 6,000 84%
1H24H(ER) ALIR =) 50 7,000 81%
1H25H(XL) ALIE = 50 7,000 81%
1H26H(H) ALIR =) 50 7,500 80%
1827H(H) ALIE =3 50 6,000 84%
1H28H(X) AL =y 50 6,000 84%
1H29H(K) ALIE =3 50 6,000 84%
1H30H(RK) AL =) 50 6,000 84%
1H31HGE) ALIE =3 50 7,000 81%
2H1H(X) AL =y 50 6,500 83%
2H2H((H) ALIE =3 50 8,000 79%
2H3H((A) AL =) 50 5,500 85%
2H48(X) ALIE =3 50 5,500 85%
2H5H(K) AL =y 50 5,500 85%
2H6H(K) ALIE =3 50 6,000 84%
2H78H(E) AL =y 50 13,000 65%
2H8H(TL) ALIE =3 50 10,000 73%
2H9H(H) AL =) 50 10,000 73%
2H10H(H) ALIE =3 50 7,000 81%
2H11H(X) ALIR (= 50 12,000 68%
2H12H(K) ALIE =3 50 5,500 85%
2H13H(K) ALIR (= 50 5,500 85%
2H14H(®) ALIE =3 50 9,000 76%
2H15H(L) ALIR (= 50 6,000 84%
2H16H(H) ALIE =3 50 9,000 76%
2H17H(H) ALIR (= 50 6,500 83%
2H18H(N) ALIE =3 50 6,500 83%
2H19H(K) ALIR (= 50 6,500 83%
2H20H(XK) ALIE =3 50 5,500 85%
2H21H(5&) ALIR (= 50 11,000 71%
2H22H(L) ALIE =3 50 7,000 81%
2H23H(H) ALIR =) 50 9,000 76%
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2H24H(H) ALIR =3 50 12,500 66%
2H25H(N) ALIR = 50 6,500 83%
2H26H(K) AL e 50 5,000 87%
2H27H(K) ALIR = 50 5,000 87%
2H28H(5&) ALIR e 50 6,000 84%

3H1H(TE) ALIR = 50 7,500 81%

3H2H((H) ALIR e 50 7,500 81%

3H3HA) ALI = 50 7,000 82%

3H48(X) ALIR e 50 7,000 82%

3H5H0K) ALIR = 50 7,000 82%

3H6H(K) ALIR e 50 7,000 82%

387H (&) ALIR = 50 7,500 81%

3H8H(X) ALIR e 50 7,000 82%

3H9HH) AL (=3 50 7,500 81%
3H10H(H) ALIR =y 50 7,000 82%
3H11H(N) ALIE il= 50 7,000 82%
3H12H(K) AL =) 50 7,000 82%
3H13H(K) ALIE il= 50 7,000 82%
3H14H(&) ALIR =) 50 10,000 74%
3H15H(L) ALIE il= 50 10,000 74%
3H16H(H) ALIR =) 50 10,000 74%
3H17H(A) ALIE = 50 8,000 80%
3H18H(X) ALIR =) 50 8,000 80%
3H19H(K) ALIE il= 50 8,000 80%
3H20H(K) ALIR =) 50 10,000 74%
3H21H(E) ALIE = 50 10,000 74%
3H22H(L) ALIR =) 50 10,000 74%
3H23H(H) ALIE =3 50 10,000 74%
3H24H(H) AL =y 50 8,000 80%
3H25H(N) ALIE =3 50 8,000 80%
3H26H(K) AL =) 50 8,000 80%
3H27H(XK) ALIE =3 50 8,000 80%
3H28H(5&) ALIR =y 50 9,000 77%
3H29H(%) ALIE =3 50 9,000 77%
12H1H((H) ABR =) 51 11,000 74%
1282H(H) AN =3 51 11,000 74%
12H3H(X) ABR =y 51 9,500 78%
12H4H(K) AN =3 51 9,500 78%
12H5H(K) ABR =y 51 9,500 78%
12H6H(E) AN =3 51 11,000 74%
12H7H(XL) ABR =) 51 11,000 74%
1258H(H) AN =3 51 11,000 74%
12H9H(H) ABR (= 51 11,000 74%
12H108(XN) AN =3 51 9,500 78%
12H11H(CK) ABR (= 51 11,000 74%
12H12H(K) AN =3 51 9,500 78%
12H13H(&) ABR (= 51 11,000 74%
12H14H(%) AN =3 51 11,000 74%
12H15H(H) ABR (= 51 11,000 74%
12516H(A) AN =3 51 11,000 74%
12H17H(N) ABR (= 51 9,500 78%
12H18H(K) AN =3 51 9,500 78%
12H19H(K) ABR (= 51 9,500 78%
12H208 (&) AN =3 51 10,000 77%
12H21H(X) AN e 51 10,000 77%




a%H [XF& B IBEX#il
12H22H(H) ABR =3 51 11,000 74%
12H23H(H) AN (=3 51 11,000 74%
12H248(XN) ABR e 51 9,000 79%
12H25H(K) AN (=3 51 10,000 77%
12H26H(K) AP e 51 10,000 77%

156H(H) AN (=3 51 10,000 75%
1H7H(X) ABR e 51 7,500 82%
1H8H(K) AN = 51 7,500 82%
1H9H(XK) ABR e 51 6,000 85%
1H10H(E) AN (=3 51 7,500 82%
1H11H(XL) ABR e 51 7,500 82%
1812H((H) AN (=3 51 7,500 82%
1H13H(H) AP e 51 10,000 75%
1H14H0X) AN (=3 51 7,500 82%
1H15H(K) AN =y 51 6,000 85%
1H16H(K) ABR e 51 6,000 85%
1H17H(GER) AN =) 51 7,500 82%
1H18H(L) AN il= 51 7,500 82%
1H19H((H) AN =) 51 7,500 82%
1820H(H) AN il= 51 6,000 85%
1H21H(X) AN =) 51 6,000 85%
1H22H(K) AN = 51 6,000 85%
1H23H(K) AN =) 51 6,000 85%
1H24H(E) AN il= 51 6,000 85%
1H25H(XL) AN =) 51 7,500 82%
1826H(H) AN = 51 8,000 80%
1H27H(H) AN =) 51 7,500 82%
1H28H(X) AN =3 51 6,000 85%
1H29H(K) ABR =y 51 6,000 85%
1H30H(K) AN =3 51 6,000 85%
1H31H(GER) ABR =) 51 6,000 85%
2H1H(L) AN =3 51 8,000 80%
2H2H(H) ABR =y 51 7,500 82%
2H3H((A) AN =3 51 7,500 82%
2H4H(N) ABR =) 51 6,500 84%
2H5H(0K) AN =3 51 6,000 85%
2H6H(RK) ABR =y 51 6,000 85%
2H7H(GE) AN =3 51 8,000 80%
2H8H(X) ABR =y 51 9,500 77%
2H9H(H) N (U=} 51 9,500 77%
2H10H(H) ABR =) 51 9,500 77%
2H11H(N) AN =3 51 9,500 77%
2H12H(K) ABR (= 51 6,500 84%
2H13H(XK) AN =3 51 6,500 84%
2H14H(&) ABR (= 51 6,500 84%
2H15H(%) AN =3 51 8,000 80%
2H16H(H) ABR (= 51 7,500 82%
2H17H(AH) AN =3 51 6,500 84%
2H18H(X) ABR (= 51 6,000 85%
2H19H(K) AN =3 51 6,500 84%
2H20H(K) ABR (= 51 6,500 84%
2H21H(s®) AN =3 51 7,500 82%
2H22H(%) ABR (= 51 9,500 77%
2H23H(H) AN =3 51 9,500 77%
2H24H(H) AN e 51 9,500 77%
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2H25H(N) ABR =3 51 6,500 84%
2H26H(K) AN (=3 51 6,000 85%
2H27H(XK) ABR e 51 6,000 85%
2H28H (&) ABR (=3 51 6,000 85%

3H1H(X) AP =) 51 7,500 82%

3H2H(H) AN (=3 51 7,500 82%

3H3H(A) ABR e 51 7,000 84%

3H48(X) AN = 51 7,000 84%

3H5B(0K) ABR e 51 7,000 84%

3H6H(K) AN (=3 51 7,000 84%

3H7H(GE) ABR e 51 7,500 82%

3H8H(X) ABR (=3 51 7,500 82%

3H9H(H) AP e 51 7,500 82%
3H10H(H) AN (=3 51 7,000 84%
3H11HX) AN =y 51 7,000 84%
3H12H(K) AN = 51 7,000 84%
3H13H(K) AN =) 51 7,000 84%
3H14H(®) AN = 51 8,000 81%
3H15H(L) AN =) 51 8,000 81%
3H16H(H) AN = 51 8,000 81%
3H17H(H) AN =) 51 7,500 82%
3H18H(N) AN = 51 7,500 82%
3H19H(K) AN =) 51 7,500 82%
3H20H(K) ABR e 51 7,500 82%
3H21H(®) AN =) 51 8,000 81%
3H22H(L) AN = 51 8,000 81%
3H23H(H) AN =) 51 8,000 81%
3H24H(H) AN =3 51 7,500 82%
3H25H(X) ABR =y 51 7,500 82%
3H26H(K) AN =3 51 7,500 82%
3H27H(K) ABR =) 51 7,500 82%
3H28H (%) AN =3 51 8,000 81%
3H29H(%) ABR =y 51 8,000 81%
1281H((H) =3 AP 52 11,000 74%
12H2H(H) = ABR 52 11,000 74%
12H3HX) =3 AP 52 10,000 77%
12H4H(K) = ABR 52 11,000 74%
12H5H(K) =3 AP 52 11,000 74%
12H6H(E) = ABR 52 11,000 74%
12H7H(XL) =3 AP 52 11,000 74%
12H8H(H) =y ABR 52 11,000 74%
12859H(H) W=y AP 52 11,000 74%
12H10H(N) W=y N 52 11,000 74%
12H11H(K) W=y AP 52 11,000 74%
12H12H(K) W=y N 52 11,000 74%
12H13H(%) W=y AP 52 11,000 74%
12H14H(X) W=y N 52 11,000 74%
12515H(H) W=y AP 52 11,000 74%
12H16H(H) W=y N 52 11,000 74%
12H17H(N) =y KB 52 9,500 78%
12H18H(K) = N 52 9,500 78%
12H19H(K) =y KB 52 11,000 74%
12H208H (&) = N 52 11,000 74%
12H21H(X) =y KB 52 11,000 74%
12H22H(H) = KB 52 11,000 74%
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12523H(H) =y AP 52 11,000 74%
12H248(N) =y N 52 9,500 78%
12H25H(K) W=y AP 52 11,000 74%
12H26H(K) =y AN 52 11,000 74%

1H6H(H) W=y AP 52 10,000 75%
1H7H(N) =y AN 52 7,500 82%
1H8H(K) W=y AP 52 7,500 82%
1H9H(K) =y N 52 8,000 80%
1H10HGE) W=y AP 52 8,000 80%
1H11H(EL) =y AN 52 8,000 80%
1H12H(H) W=y AP 52 7,500 82%
1813H(H) =y AN 52 8,000 80%
1H14H(X) W=y AP 52 7,500 82%
1H15H(K) =y AN 52 7,500 82%
1H16H(K) W= AP 52 7,500 82%
1H17H(GE) =y AN 52 9,000 78%
1H18H(L) =y AP 52 9,000 78%
1819H((H) =3 AN 52 8,000 80%
1H20H(H) =y AP 52 8,000 80%
1H21HCX) =y AN 52 6,000 85%
1H22H(K) =y AP 52 6,000 85%
1H23H(K) =y KB 52 6,000 85%
1H24H(E) =y AP 52 7,500 82%
1H25H(L) =3 AN 52 8,000 80%
1H26H(H) =y AP 52 7,500 82%
1827H(H) =y KB 52 7,500 82%
1H28H(X) =y AP 52 6,000 85%
1H29H(K) =3 AP 52 6,000 85%
1H30H(RK) =y ABR 52 6,000 85%
1H31HGE) =3 AP 52 7,500 82%
2H1H(X) = ABR 52 7,500 82%
2H2H((H) =3 AP 52 7,500 82%
2H3H((A) = ABR 52 6,000 85%
2H48(X) =3 AP 52 6,000 85%
2H5H(K) = ABR 52 6,000 85%
2H6H(K) =3 AP 52 6,000 85%
2H78H(E) = ABR 52 9,000 78%
2H8H(TL) =3 AP 52 9,000 78%
2H9H(H) = ABR 52 7,500 82%
2H10H(AH) =3 AP 52 7,500 82%
2H11HX) =y ABR 52 7,500 82%
2H12H(K) W=y AP 52 7,500 82%
2H13H(K) W=y N 52 7,500 82%
2H14H(®) W=y AP 52 7,500 82%
2H15H(L) W=y N 52 8,000 80%
2H16H(H) W=y AP 52 7,500 82%
2H17H(H) W=y N 52 7,000 83%
2H18H(N) W=y AP 52 7,000 83%
2H19H(K) W=y N 52 7,000 83%
2H20H(XK) =y KB 52 6,500 84%
2H21H(5&) = ABR 52 9,000 78%
2H22H(L) =y KB 52 9,000 78%
2H23H(H) = N 52 7,500 82%
2H24H(H) =y KB 52 7,500 82%
2H25H(X) =y KB 52 7,500 82%
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2H26H(K) =y AP 52 6,000 85%
2H27H(K) =y N 52 6,000 85%
2H28H(5&) W=y AP 52 6,000 85%

3H1H(TE) =y AN 52 7,500 82%

3H2H((H) W=y AP 52 7,500 82%

3H3HA) =y AN 52 7,000 84%

3H48(X) W=y AP 52 7,000 84%

3H5H0K) =y N 52 7,000 84%

3H6H(K) W=y AP 52 7,000 84%

387H (&) =y AN 52 7,500 82%

3H8H(X) W=y AP 52 7,500 82%

3H9H(H) =y AN 52 7,500 82%
3H10H(H) W=y AP 52 7,000 84%
3H11H(N) =y AN 52 7,000 84%
3H12H(K) W= AP 52 7,000 84%
3H13H(K) =y AN 52 7,000 84%
3H14H(%) =y AP 52 8,000 81%
3H15H(L) =3 AN 52 8,000 81%
3H16H(H) =y AP 52 8,000 81%
3H17H(A) =y AN 52 7,500 82%
3H18H(X) =y AP 52 7,500 82%
3H19H(K) =y KB 52 7,500 82%
3H20H(K) =y AP 52 7,500 82%
3H21H(E) =3 AN 52 8,000 81%
3H22H(%) =y AP 52 8,000 81%
3H23H(H) =y KB 52 8,000 81%
3H24H(H) =y AP 52 7,500 82%
3H25H(N) =3 AP 52 7,500 82%
3H26H(K) =y ABR 52 7,500 82%
3H27H(XK) =3 AP 52 7,500 82%
3H28H(5&) = ABR 52 8,000 81%
3H29H(%) =3 AP 52 8,000 81%
12H1H((H) ABR =y 53 11,000 74%
1282H(H) AN =3 53 11,000 74%
12H3H(X) ABR =) 53 9,500 78%
12H4H(K) AN =3 53 11,000 74%
12H5H(K) ABR =y 53 11,000 74%
12H6H(E) AN =3 53 9,500 78%
12H7H(XL) ABR =y 53 9,500 78%
1288H(H) AN =3 53 11,000 74%
12H9H(H) ABR =) 53 11,000 74%
12H108(XN) AN =3 53 9,000 79%
12H11H(CK) ABR (= 53 11,000 74%
12H12H(K) AN =3 53 9,500 78%
12H13H(&) ABR (= 53 11,000 74%
12H14H(%) AN =3 53 9,500 78%
12H15H(H) ABR (= 53 11,000 74%
12516H(A) AN =3 53 10,000 77%
12H17H(N) ABR (= 53 9,000 79%
12H18H(K) AN =3 53 9,000 79%
12H19H(K) ABR (= 53 9,000 79%
12H208 (&) AN =3 53 9,500 78%
12H21H(X) ABR (= 53 11,000 74%
12H22H(H) AN =3 53 11,000 74%
12H23H(H) AN e 53 11,000 74%
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12H248(X) ABR =3 53 10,000 77%
12H25H(K) AN (=3 53 10,000 77%
12H26H(K) ABR e 53 11,000 74%

156H(H) AN (=3 53 9,000 78%
1H7H(X) AP e 53 7,500 82%
1H8H(K) AN (=3 53 7,500 82%
1H9H(XK) ABR e 53 7,500 82%
1H10H(ER) AN = 53 7,500 82%
1H11H(XL) ABR e 53 7,500 82%
1812H(H) AN (=3 53 10,000 75%
1H13H(H) ABR e 53 10,000 75%
1H14HX) AN (=3 53 7,500 82%
1H15H(K) AP e 53 6,000 85%
1H16H(K) AN (=3 53 6,000 85%
1H17H(ER) AN =y 53 7,500 82%
1H18H(L) AN il= 53 7,500 82%
1H19H((H) AN =) 53 9,000 78%
1820H(H) AN il= 53 7,000 83%
1H21H(X) AN =) 53 6,000 85%
1H22H(K) AN il= 53 6,000 85%
1H23H(RK) AN =) 53 6,000 85%
1H24H(E) AN = 53 7,500 82%
1H25H(L) AN =) 53 7,500 82%
1826H(H) AN il= 53 10,000 75%
1H27H(H) AN =) 53 10,000 75%
1H28H(X) AN = 53 6,000 85%
1H29H(K) AN =) 53 7,000 83%
1H30H(K) AN =3 53 7,500 82%
1H31H(GER) ABR =y 53 8,000 80%
2H1H(EL) AN =3 53 7,000 83%
2H2H(H) ABR =) 53 10,000 75%
2H3H((A) AN =3 53 7,000 83%
2H4H(N) ABR =y 53 6,000 85%
2H5BH(0K) AN =3 53 6,000 85%
2H6H(RK) ABR =) 53 6,000 85%
2H7H(GE) AN =3 53 7,000 83%
2H8H(X) ABR =y 53 9,500 77%
2H9H(H) AN =3 53 9,500 77%
2H10H(H) ABR =y 53 9,500 77%
2H11H(N) AN =3 53 9,500 77%
2H12H(K) ABR =) 53 6,500 84%
2H13H(XK) AN =3 53 6,500 84%
2H14H(&) ABR (= 53 7,000 83%
2H15H(%) AN =3 53 7,000 83%
2H16H(H) ABR (= 53 7,500 82%
2H17H(AH) AN =3 53 7,000 83%
2H18H(X) ABR (= 53 6,000 85%
2H19H(K) AN =3 53 6,000 85%
2H20H(K) ABR (= 53 7,000 83%
2H21H(s®) AN =3 53 7,500 82%
2H22H(%) ABR (= 53 9,500 77%
2H23H(H) AN =3 53 9,500 77%
2H24H(H) ABR (= 53 9,500 77%
2H25H(N) AN =3 53 8,000 80%
2H26H(K) AN e 53 6,500 84%
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2H27H(XK) ABR =3 53 6,000 85%
2H28H (&) ABR (=3 53 7,000 83%

3H1H(X) ABR =) 53 7,500 82%

3H2H(H) AN (=3 53 7,500 82%

3H3H(A) AP e 53 7,000 84%

3H48(X) AN (=3 53 7,000 84%

3H5B(0K) ABR e 53 7,000 84%

3H6H(K) AN = 53 7,000 84%

3H7H(GE) ABR e 53 7,500 82%

3H8H(TL) ABR (=3 53 7,500 82%

3H9H(H) ABR e 53 7,500 82%
3H10H(A) AN (=3 53 7,000 84%
3H11H(N) AP e 53 7,000 84%
3H12H(K) AN (=3 53 7,000 84%
3H13H(K) AN =y 53 7,500 82%
3H14H(:®) AN il= 53 8,000 81%
3H15H(%) AN =) 53 8,000 81%
3H16H(H) AN il= 53 8,000 81%
3H17H(H) AN =) 53 7,500 82%
3H18H(N) AN il= 53 7,500 82%
3H19H(K) AN =) 53 7,500 82%
3H20H(K) ABR e 53 7,500 82%
3H21H(5&) AN =) 53 8,000 81%
3H22H(L) AN il= 53 8,000 81%
3H23H(H) AN =) 53 8,000 81%
3H24H(H) AN = 53 7,500 82%
3H25H(X) AN =) 53 7,500 82%
3H26H(K) AN =3 53 7,500 82%
3H27H(K) ABR =y 53 7,500 82%
3H28H (&) AN =3 53 8,000 81%
3H29H(%) ABR =) 53 8,000 81%
1281H((H) =3 AP 54 11,000 74%
12H2H(H) = ABR 54 8,500 80%
12H3HX) =3 AP 54 8,500 80%
12H4H(K) = ABR 54 8,500 80%
12H5H(K) =3 AP 54 9,000 79%
12H6H(E) = ABR 54 11,000 74%
12H7H(L) =3 AP 54 11,000 74%
12H8H(H) = ABR 54 11,000 74%
1289H(H) =3 AP 54 9,000 79%
12H10H(CN) =y ABR 54 8,500 80%
12H11H(K) W=y AP 54 9,000 79%
12H12H(K) W=y N 54 9,000 79%
12H138(E) W=y AP 54 11,000 74%
12H14H(X) W=y N 54 11,000 74%
12515H(H) W=y AP 54 11,000 74%
12H16H(H) W=y N 54 11,000 74%
12H17H(CN) W=y AP 54 9,000 79%
12H18H(K) W=y N 54 8,500 80%
12H19H(K) =y KB 54 9,000 79%
12H208H (&) = N 54 11,000 74%
12H21H(X) =y KB 54 8,500 80%
12822H(H) = N 54 11,000 74%
12523H(A) =y KB 54 11,000 74%
12H24H(N) =y KB 54 8,500 80%
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12H25H(K) =y AP 54 10,000 77%
12H26H(K) =y N 54 11,000 74%

1H6H(H) W=y AP 54 9,000 78%
1H7H(N) =y AN 54 7,000 83%
1H8H(K) W=y AP 54 7,000 83%
1H9H(XK) =y AN 54 7,500 82%
1H10HGE) W=y AP 54 9,000 78%
1H11H(L) =y N 54 7,500 82%
1H12H(H) W=y AP 54 9,000 78%
1813H(H) =y AN 54 10,000 75%
1H14H(X) W=y AP 54 6,000 85%
1H15H(K) =y AN 54 6,000 85%
1H16H(K) W=y AP 54 6,000 85%
1H17H(E) =y AN 54 7,500 82%
1H18H(L) W= AP 54 7,500 82%
1819H((H) =y AN 54 9,000 78%
1H20H(H) =y AP 54 8,500 79%
1H21HX) =3 AN 54 6,000 85%
1H22H(K) =y AP 54 6,000 85%
1H23H(K) =y AN 54 6,000 85%
1H24H(ER) =y AP 54 8,500 79%
1H25H(XL) =y KB 54 7,500 82%
1H26H(H) =y AP 54 8,000 80%
1827H(H) =3 AN 54 8,000 80%
1H28H(X) =y AP 54 6,000 85%
1H29H(K) =y KB 54 6,000 85%
1H30H(K) =y AP 54 6,000 85%
1H31HGE) =3 AP 54 10,000 75%
2H1H(X) =y ABR 54 7,500 82%
2H2H((H) =3 AP 54 7,500 82%
2H3H((A) = ABR 54 7,000 83%
2H48(X) =3 AP 54 6,000 85%
2H5H(K) = ABR 54 6,000 85%
2H6H(K) =3 AP 54 6,000 85%
2H78H(E) = ABR 54 10,000 75%
2H8H(TL) =3 AP 54 7,500 82%
2H9H(H) = ABR 54 7,500 82%
2H10H(AH) =3 AP 54 7,500 82%
2H11HX) = ABR 54 7,500 82%
2H12H(K) =3 AP 54 6,000 85%
2H13H(K) =y ABR 54 6,500 84%
2H14H(®) W=y AP 54 8,000 80%
2H15H(L) W=y N 54 7,000 83%
2H16H(H) W=y AP 54 7,500 82%
2H17H(H) W=y N 54 7,000 83%
2H18H(N) W=y AP 54 6,000 85%
2H19H(K) W=y N 54 6,000 85%
2H20H(XK) W=y AP 54 6,000 85%
2H21H(5&) W=y N 54 8,000 80%
2H22H(L) =y KB 54 7,500 82%
2H23H(H) = N 54 9,500 77%
2H24H(H) =y KB 54 10,000 75%
2H25H(X) = N 54 7,000 83%
2H26H(K) =y KB 54 6,500 84%
2H27H(K) =y KB 54 6,500 84%
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2H28H(5&) =y AP 54 7,000 83%

3H1H(TE) =y N 54 7,500 82%

3H2H((H) W=y AP 54 7,500 82%

3H3HA) =y AN 54 7,000 84%

3H48(X) W=y AP 54 7,000 84%

3H5H0K) =y AN 54 7,000 84%

3H6H(K) W=y AP 54 7,000 84%

387H (&) =y N 54 7,500 82%

3H8H(X) W=y AP 54 7,500 82%

3H9H(H) =y AN 54 7,500 82%
3H10H(H) W=y AP 54 7,000 84%
3H11H(N) =y AN 54 7,500 82%
3H12H(K) W=y AP 54 7,000 84%
3H13H(K) =y AN 54 7,500 82%
3H14H(%) W= AP 54 8,000 81%
3H15H(L) =y AN 54 8,000 81%
3H16H(H) =y AP 54 8,000 81%
3H17H(A) =3 AN 54 7,500 82%
3H18H(X) =y AP 54 7,500 82%
3H19H(K) =y AN 54 7,500 82%
3H20H(K) =y AP 54 7,500 82%
3H21H(E) =y KB 54 8,000 81%
3H22H(L) =y AP 54 8,000 81%
3H23H(H) =3 AN 54 8,000 81%
3H24H(H) =y AP 54 7,500 82%
3H25H(N) =y KB 54 7,500 82%
3H26H(K) =y AP 54 7,500 82%
3H27H(XK) =3 AP 54 7,500 82%
3H28H(5&) =y ABR 54 8,000 81%
3H29H(%) =3 AP 54 8,000 81%
12H16H(A) ABR ] 55 7,500 75%
12H17H(CN) AN ] 55 7,000 77%

1H6H(H) ABR ] 55 6,000 79%

1H7H(X) AN &[] 55 5,500 81%

1H8H(K) ABR fE 55 5,500 81%

1H9H(XK) AN ] 55 5,500 81%
1H10H(GER) ABR ] 55 8,500 70%
1H11H(XL) AN &l 55 8,500 70%
1H12H(H) ABR ] 55 8,500 70%
1813H(H) AN &[] 55 8,000 72%
1H14H(X) ABR @] 55 6,000 79%
1H15H(K) AN @] 55 5,500 81%
1H16H(K) ABR il 55 5,500 81%
1H17H(E) AN &l 55 5,500 81%
1H18H(L) ABR il 55 5,500 81%
1H19H((H) AN @] 55 5,500 81%
1H20H(H) ABR il 55 5,500 81%
1H21H(X) AN @] 55 5,500 81%
1H22H(K) ABR il 55 5,500 81%
1H23H(K) AN &[] 55 5,500 81%
1H24H(E) ABR fE 55 5,500 81%
1H25H(L) AN &l 55 5,500 81%
1H26H(H) ABR fE 55 5,500 81%
1827H(H) AN &[] 55 5,500 81%
1H28H(X) AN fe ] 55 5,500 81%
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1H29H(K) ABR @] 55 5,500 81%
1H30H(K) AN fe ] 55 5,500 81%
1H31HGER) ABR @] 55 5,500 81%
2H1H(TE) AN fe ] 55 6,500 77%
2H2H((H) AP @] 55 5,500 81%
2H3H(A) AN =lid 55 5,500 81%
2H48(X) ABR @] 55 5,500 81%
2H5B0K) AN e[ 55 5,500 81%
2H6H(K) ABR @] 55 5,500 81%
287H (&) AN fe ] 55 5,500 81%
2H8H(X) ABR @] 55 9,000 69%
2H9H(H) AN =lid 55 5,500 81%
2H10H(H) AP @] 55 5,500 81%
2H11H(N) AN =lid 55 5,000 83%
2H12H(K) AN @] 55 5,000 83%
2H13H(K) AN &l 55 5,500 81%
2H14H(5&) AN il 55 5,500 81%
2H15H(L) AN e ] 55 6,500 77%
2H16H(H) AN @] 55 6,000 79%
2H17H(H) AN &l 55 5,500 81%
2H18H(X) AN il 55 5,500 81%
2H19H(K) AN &l 55 5,000 83%
2H20H(K) AN il 55 5,500 81%
2H21H(®) AN &l 55 5,500 81%
2H22H(%) AN il 55 8,000 72%
2H23H(H) AN &l 55 5,500 81%
2H24H(H) AN il 55 5,500 81%
2H25H(N) AN ] 55 5,500 81%
2H26H(K) ABR ] 55 5,000 83%
2H27H(XK) AN &[] 55 5,000 83%
2H28H(5&) ABR ] 55 6,000 79%
3H1H(EL) AN ] 55 5,500 82%
3H2H(H) ABR fE 55 5,500 82%
3H3H(A) AN &[] 55 5,500 82%
3H4H(N) ABR fE 55 5,500 82%
3H5H(0K) AN ] 55 5,500 82%
3H6H(K) ABR fE 55 5,500 82%
3H7H(GE) AN &l 55 6,000 80%
3H8H(X) ABR ] 55 6,000 80%
3H9H(H) AN &[] 55 6,000 80%
3H10H(H) ABR fE 55 5,500 82%
3H11H(XN) AN @] 55 5,500 82%
3H12H(K) ABR il 55 5,500 82%
3H13H(XK) AN @] 55 5,500 82%
3H14H(&) ABR il 55 6,000 80%
3H15H(%) AN &l 55 6,000 80%
3H16H(H) ABR il 55 6,000 80%
3H17H(AH) AN @] 55 5,500 82%
3H18H(X) ABR il 55 5,500 82%
3H19H(K) AN &[] 55 5,500 82%
3H20H(K) ABR fE 55 5,500 82%
3H21H(:®) AN &l 55 6,000 80%
3H22H(L) ABR fE 55 6,000 80%
3H23H(H) AN &[] 55 6,000 80%
3H24H(H) AN fe ] 55 5,500 82%
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3H25H(N) ABR @] 55 5,500 82%
3H26H(K) AN fe ] 55 5,500 82%
3H27H(XK) ABR @] 55 5,500 82%
3H28H(5&) AN fe ] 55 6,000 80%
3H29H(%) AP @] 55 6,000 80%
12H3HX) &l AN 56 6,500 79%
12H4H(K) f& ] AP 56 6,500 79%
12H108(CN) &l N 56 7,000 77%
12H11H(K) f& ] AP 56 6,500 79%
12H12H(K) &l AN 56 6,500 79%
12H178(CX) f& ] AP 56 6,500 79%
12H18H(K) &l AN 56 6,500 79%
12H19H(K) f& ] AP 56 6,500 79%

156H(H) &l AN 56 9,500 67%
1878B(X) & ] AP 56 5,500 81%
1H8H(K) &l AN 56 5,500 81%
1H9H(K) & ] AP 56 5,500 81%
1H10H(E) &l AN 56 5,500 81%
1H11H(XL) &l AP 56 6,000 79%
1812H(H) &l AN 56 6,000 79%
1H13H(H) &l AP 56 6,000 79%
1H148H0X) &l KB 56 6,000 79%
1H15H(K) & ] AP 56 5,000 83%
1H16H(K) &l AN 56 5,000 83%
1H17H(GER) &l AP 56 5,500 81%
1H18H(L) &l KB 56 5,500 81%
1H19H((H) &l AP 56 5,500 81%
1820H(H) &l AP 56 5,500 81%
1H21H(CX) & ABR 56 5,500 81%
1H22H(K) &l AP 56 5,500 81%
1H23H(K) & ABR 56 5,500 81%
1H24H(E) &l AP 56 5,500 81%
1H25H(XL) &l ABR 56 5,500 81%
1826H(H) &l AP 56 5,500 81%
1H27H(H) & ABR 56 5,500 81%
1H28H(X) &l AP 56 5,000 83%
1H29H(K) & ABR 56 5,000 83%
1H30H(K) &l AP 56 5,000 83%
1H31H(GER) &l ABR 56 5,500 81%
2H1H(EL) &l AP 56 6,000 79%
2H2H(H) &l ABR 56 6,000 79%
2H3H((A) &l AP 56 5,000 83%
2H48(X) &l N 56 5,000 83%
2H5B8(0K) &l AP 56 5,000 83%
2H6H(K) &l N 56 5,500 81%
2H7H(GE) &l AP 56 5,500 81%
2H8H(X) &l ABR 56 6,000 79%
2H9H(H) &l AP 56 6,000 79%
2H10H(H) &l N 56 5,500 81%
2H11H(N) &l KB 56 5,500 81%
2H12H(K) &l N 56 5,000 83%
2H13H(XK) &l KB 56 5,000 83%
2H14H(&) &l ABR 56 5,000 83%
2H15H (%) &l KB 56 6,000 79%
2H16H(H) &l KB 56 6,000 79%
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2H17H(H) &l AP 56 5,000 83%
2H18H(N) &l N 56 5,000 83%
2H19H(K) f& ] AP 56 5,000 83%
2H20H(K) &l AN 56 5,000 83%
2H21H(5&) &l AP 56 5,500 81%
2H22H(L) &l AN 56 6,500 77%
2H23H(H) &l AP 56 6,500 77%
2H24H(AH) &l N 56 6,500 77%
2H25H(N) f& ] AP 56 5,500 81%
2H26H(K) &l AN 56 5,000 83%
2H27H(XK) f& ] AP 56 5,000 83%
2H28H (&) &l AN 56 5,500 81%

3H1H(X) &l AP 56 5,500 82%

3H2H(H) &l AN 56 5,500 82%

3H3H(H) &l AP 56 5,500 82%

3H48(X) &l AN 56 5,500 82%

3H5HK) & ] AP 56 5,500 82%

3H6H(K) G=lid AN 56 5,500 82%

3H7H(GE) &l AP 56 5,500 82%

3H8H(TL) &l AN 56 5,500 82%

3H9H(H) &l AP 56 5,500 82%
3H10H(AH) &l KB 56 5,500 82%
3H11HCXN) & ] AP 56 5,500 82%
3H12H(K) &l AN 56 5,500 82%
3H13H(K) & ] AP 56 5,500 82%
3H14H(:®) &l KB 56 5,500 82%
3H15H(%) &l AP 56 5,500 82%
3H16H(H) &l AP 56 5,500 82%
3H17H(H) & ABR 56 5,500 82%
3H18H(N) &l AP 56 5,500 82%
3H19H(K) & ABR 56 5,500 82%
3H20H(XK) &l AP 56 5,500 82%
3H21H(5&) &l ABR 56 5,500 82%
3H22H(L) &l AP 56 5,500 82%
3H23H(H) &l ABR 56 5,500 82%
3H24H(AH) &l AP 56 5,500 82%
3H25H(X) & ABR 56 5,500 82%
3H26H(K) &l AP 56 5,500 82%
3H27H(K) & ABR 56 5,500 82%
3H28H (&) &l AP 56 5,500 82%
3H29H(%) &l ABR 56 5,500 82%
1281H(H) “aE @] 59 6,450 82%
12H2H(H) ZaE e ] 59 5,450 85%
12H3H(X) “aE @] 59 6,450 82%
12H4H(K) ZaE e ] 59 8,000 78%
12H5H(K) “aE @] 59 6,450 82%
12H6H(E) ZaE e ] 59 8,000 78%
1287H(XL) “aE @] 59 8,000 78%
12H8H(H) ZaE e ] 59 6,450 82%
12859H(H) ZaE &[] 59 6,450 82%
12H10H(CN) ZaE e ] 59 5,450 85%
12H11H(K) ZaE &l 59 5,450 85%
12H12H(K) ZaE e ] 59 6,450 82%
12H138(E) ZaE &[] 59 8,000 78%
12H14H(X) ZhE fe ] 59 8,000 78%
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12H15H(H) ZaE @] 59 6,450 82%
12H16H(H) ZhE &l 59 6,450 82%
12H17H(CN) ZaE @] 59 6,450 82%
12H18H(K) ZhE &l 59 6,450 82%
12H19H(K) ZaE @] 59 5,450 85%
12H20H(%&) ZhE &l 59 8,000 78%
12H21H(X) ZaE @] 59 8,000 78%
12H22H(H) ZhE &l 59 6,450 82%
12H23H(H) ZaE @] 59 5,450 85%
12H24H(N) ZhE &l 59 5,450 85%
12H25H(K) ZaE @] 59 5,450 85%
12H26H(K) ZhE &l 59 8,000 78%

1H6H(H) ZaE @] 59 6,450 81%
1H7H(N) ZhE &l 59 5,450 84%
1H8H(K) ZaE @] 59 6,450 81%
1H9H(XK) 2EE &l 59 5,450 84%
1H10HGER) ZaE @] 59 6,450 81%
1H11H(XL) 2EE e ] 59 8,000 76%
1H12H(H) ZaE @] 59 5,450 84%
1H13H(H) 2EE &l 59 6,450 81%
1H14H(X) ZaE @] 59 5,450 84%
1H15H(K) 2EE &l 59 5,450 84%
1H16H(K) ZaE @] 59 5,450 84%
1H17H(GE) 2EE &l 59 6,450 81%
1H18H(L) ZaE @] 59 6,450 81%
1H19H(H) 2EE &l 59 6,450 81%
1H20H(H) ZaE @] 59 5,450 84%
1H21H(CKX) 2EE ] 59 5,450 84%
1H22H(K) ZaE ] 59 5,450 84%
1H23H(K) 2EE &[] 59 6,450 81%
1H24H(E) ZaE ] 59 6,450 81%
1H25H(L) 2EE ] 59 6,450 81%
1H26H(H) ZaE ] 59 6,450 81%
1H27H(H) 2EE &[] 59 5,450 84%
1H28H(X) ZaE ] 59 5,450 84%
1H29H(K) 2EE &l 59 5,450 84%
1H30H(K) ZaE ] 59 5,450 84%
1H31HGE) 2EE &[] 59 6,450 81%
2H1H(X) ZaE ] 59 7,160 79%
2H2H((H) 2EE &[] 59 7,160 79%
2H3H(H) ZaE @] 59 8,000 76%
2H48(X) “aE @] 59 5,450 84%
2H5HK) ZaE e ] 59 6,450 81%
2H6H(K) “aE &l 59 6,450 81%
2H7H(ER) ZaE e ] 59 5,450 84%
2H8H(X) “aE &l 59 5,450 84%
2H9H(H) ZaE e ] 59 5,450 84%
2H10H(H) “aE @] 59 6,450 81%
2H11HX) ZaE e ] 59 6,450 81%
2H12H(K) ZaE &l 59 5,450 84%
2H13H(K) ZaE e ] 59 6,450 81%
2H14H(®) ZaE &[] 59 5,450 84%
2H15H(L) ZaE e ] 59 5,450 84%
2H16H(H) ZaE &[] 59 5,450 84%
2H17H(H) ZhE &l 59 6,450 81%
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2H18H(N) ZaE @] 59 5,450 84%
2H19H(K) ZhE &l 59 5,450 84%
2H20H(XK) ZaE @] 59 5,450 84%
2821HGE) ZhE &l 59 5,450 84%
2H22H(L) ZaE @] 59 5,450 84%
2H23H(H) ZhE &l 59 6,450 81%
2H24H(H) ZaE @] 59 6,450 81%
2H25H(N) ZhE &l 59 6,450 81%
2H26H(K) ZaE @] 59 5,450 84%
2H27H(K) ZhE &l 59 6,450 81%
2H28H(5&) ZaE @] 59 5,450 84%

3H1H(TE) ZhE &l 59 6,450 82%

3H2H((H) ZaE @] 59 6,450 82%

3H3HA) 2EE &l 59 6,450 82%

3H4H(N) ZaE @] 59 6,450 82%

3H5H0K) 2EE &l 59 6,450 82%

3H6H(R) ZaE @] 59 6,450 82%

3H7H(GE) 2EE &l 59 6,450 82%

3H8H(X) ZaE @] 59 6,450 82%

3H9H(H) 2EE &l 59 6,450 82%
3H10H(H) ZaE @] 59 6,450 82%
3H11H(N) 2EE &l 59 6,450 82%
3H12H(K) ZaE @] 59 6,450 82%
3H13H(K) 2EE &l 59 6,450 82%
3H14H(%) ZaE @] 59 6,450 82%
3H15H(L) 2EE &l 59 6,450 82%
3H16H(H) ZaE @] 59 6,450 82%
3H17H(A) 2EE ] 59 6,450 82%
3H18H(X) ZaE ] 59 6,450 82%
3H19H(K) 2EE &[] 59 6,450 82%
3H20H(K) ZaE ] 59 6,450 82%
3H21H(®) 2EE ] 59 6,450 82%
3H22H(L) ZaE ] 59 6,450 82%
3H23H(H) 2EE &[] 59 6,450 82%
3H24H(H) ZaE ] 59 6,450 82%
3H25H(N) 2EE ] 59 6,450 82%
3H26H(K) ZaE ] 59 6,450 82%
3H27H(XK) 2EE &[] 59 6,450 82%
3H28H(5&) ZaE ] 59 6,450 82%
3H29H(%) 2EE &[] 59 6,450 82%
12H1H((H) &l ZaE 60 8,000 78%
1282H(H) &l “aE 60 8,000 78%
12H3H(X) &l ZhE 60 8,000 78%
12H4H(K) &l “aE 60 8,000 78%
12H5H(K) &l ZhE 60 6,450 82%
12H6H(E) &l “aE 60 8,000 78%
12H7H(XL) &l ZhE 60 6,450 82%
1258H(H) &l ZaE 60 8,000 78%
12H9H(H) &l ZhE 60 8,000 78%
12H108(CN) &l ZoaE 60 8,000 78%
12H11H(CK) &l ZhE 60 6,450 82%
12H12H(K) &l ZoaE 60 5,450 85%
12H13H(%&) &l ZhE 60 8,000 78%
12H14H(X) &l ZoaE 60 6,450 82%
12H15H(H) &l ZhE 60 8,000 78%




a%H [XF& B IBEX#il
12H16H(H) &l ZEaE 60 8,000 78%
12H178(CN) &l ZhE 60 5,450 85%
12H18H(K) &l ZHaE 60 6,450 82%
12H19H(K) &l ZhE 60 6,450 82%
12H208 (&) &l ZHaE 60 6,450 82%
12H21H(*%) &l ZhE 60 8,000 78%
12H22H(H) &l ZHaE 60 8,000 78%
12H23H(A) &l ZhE 60 6,450 82%
12H24H(N) &l ZHaE 60 5,450 85%
12H25H(K) &l ZhE 60 5,450 85%
12H26H(K) &l ZHaE 60 6,450 82%

156H(H) &l ZhE 60 8,000 76%
1A78BX) &l ZHaE 60 6,450 81%
1H8H(K) &l ZhE 60 6,450 81%
1H9H(K) &l 2EaE 60 6,450 81%
1H10H(E) &l BEE 60 6,450 81%
1H11H(XL) &l ZEaE 60 6,450 81%
1812H(H) &l BEE 60 8,000 76%
1H13H(H) &l ZEE 60 8,000 76%
1H148H0X) &l BEE 60 6,450 81%
1H15H(K) &l ZEaE 60 5,450 84%
1H16H(K) &l BEE 60 5,450 84%
1H17H(GER) &l ZEaE 60 5,450 84%
1H18H(L) &l BEE 60 6,450 81%
1H19H((H) &l ZEaE 60 7,500 78%
1820H(H) &l BEE 60 6,450 81%
1H21H(KX) &l ZEaE 60 5,450 84%
1H22H(K) &l R 60 7,500 78%
1H23H(K) &l ZaE 60 6,450 81%
1H24H(E) &l “EE 60 6,450 81%
1H25H(XL) &l ZHaE 60 6,450 81%
1826H(H) &l R 60 6,450 81%
1H27H(H) &l ZaE 60 8,000 76%
1H28H(X) &l “EE 60 5,450 84%
1H29H(K) &l ZHaE 60 5,450 84%
1H30H(K) &l R 60 5,450 84%
1H31H(GER) &l ZHaE 60 5,450 84%
2H1H(EL) &l “EE 60 5,450 84%
2H2H(H) &l ZHaE 60 6,450 81%
2H3H((A) &l “EE 60 6,450 81%
2H4B8(X) &l ZaE 60 5,450 84%
2H5B8(0K) &l “aE 60 5,450 84%
2H6H(K) &l ZhE 60 6,450 81%
2H7H(GE) &l “aE 60 5,450 84%
2H8H(X) &l ZhE 60 5,450 84%
2H9H(H) &l “aE 60 6,450 81%
2H10H(H) &l ZhE 60 6,450 81%
2H11H(N) &l ZaE 60 6,450 81%
2H12H(K) &l ZhE 60 5,450 84%
2H13H(XK) &l ZoaE 60 5,450 84%
2H14H(&) &l ZhE 60 6,450 81%
2H15H (%) &l ZoaE 60 5,450 84%
2H16H(H) &l ZhE 60 6,450 81%
2H17H(AH) &l ZoaE 60 6,450 81%
2H18H(X) &l ZhE 60 5,450 84%
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2H19H(K) &l ZEaE 60 5,450 84%
2H20H(K) &l ZhE 60 5,450 84%
2H21H(5E) &l ZHaE 60 5,450 84%
2H22H (%) &l ZhE 60 5,450 84%
2H23H(H) &l ZHaE 60 6,450 81%
2H24H(AH) &l ZhE 60 6,450 81%
2H25H(X) &l ZHaE 60 5,450 84%
2H26H(K) &l ZhE 60 5,450 84%
2H27H(K) &l ZHaE 60 5,450 84%
2H28H(E) &l ZhE 60 5,450 84%

3H1H(X) &l ZHaE 60 6,450 82%

3H2H(H) &l ZhE 60 6,450 82%

3H3H(A) &l ZHaE 60 6,450 82%

3H48(X) &l ZhE 60 6,450 82%

3H5H(K) &l 2EaE 60 6,450 82%

3H6H(K) &l BEE 60 6,450 82%

3H7H(GE) &l ZEaE 60 6,450 82%

3H8H(TL) &l BEE 60 6,450 82%

3H9H(H) &l ZEE 60 6,450 82%
3H10H(AH) &l BEE 60 6,450 82%
3H11H(X) &l ZEaE 60 6,450 82%
3H12H(K) &l BEE 60 6,450 82%
3H13H(RK) &l ZEaE 60 6,450 82%
3H14H(:®) &l BEE 60 6,450 82%
3H15H(%) &l ZEaE 60 6,450 82%
3H16H(H) &l BEE 60 6,450 82%
3H17H(H) &l ZEaE 60 6,450 82%
3H18H(N) &l R 60 6,450 82%
3H19H(K) &l ZaE 60 6,450 82%
3H20H(XK) &l “EE 60 6,450 82%
3H21H(5&) &l ZHaE 60 6,450 82%
3H22H(L) &l R 60 6,450 82%
3H23H(H) &l ZaE 60 6,450 82%
3H24H(AH) &l “EE 60 6,450 82%
3H25H(X) &l ZHaE 60 6,450 82%
3H26H(K) &l R 60 6,450 82%
3H27H(K) &l ZHaE 60 6,450 82%
3H28H (&) &l “EE 60 6,450 82%
3H29H(%) &l ZHaE 60 6,450 82%
12H2H(H) ZhE PA) 61 8,700 74%
12H3H(X) ZaE PAV) 61 9,200 73%
12H4H(K) “aE DAV 61 9,200 73%
12H8H(H) ZaE PAV) 61 9,200 73%
12H108(XN) “aE PA) 61 8,700 74%
12H11H(CK) ZaE PAV) 61 7,700 77%
12H138(E) “aE PA) 61 8,700 74%
12H15H(H) ZaE PAV) 61 7,700 77%
12516H(A) “aE PA) 61 8,200 76%
12H17H(CN) ZaE PAV) 61 8,200 76%
12H18H(K) ZaE DAV 61 7,700 77%
12H19H(K) ZaE PAV) 61 8,200 76%
12H208 (&) ZaE PA) 61 8,200 76%
12822H(H) ZaE PAV) 61 8,200 76%
12523H(A) ZaE PA) 61 8,200 76%
12H24H(N) ZhE PAa) 61 8,700 74%
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12H25H(K) ZaE A 61 8,200 76%

156H(H) ZhE PAV) 61 7,700 76%

1H7H(X) ZaE A 61 7,700 76%

1H8H(K) ZhE PAV) 61 7,200 78%

1H9H(XK) ZaE A5 61 7,200 78%
1510H(%) ZhE PAV) 61 8,200 74%
1H12H(H) ZaE PA) 61 7,700 76%
1H13H(H) ZhE PAV) 61 7,700 76%
1H14H(X) ZaE A 61 7,200 78%
1H15H(K) ZhE PAV) 61 7,200 78%
1H16H(K) ZaE A 61 7,700 76%
1817H(%) ZhE PAV) 61 7,700 76%
1H18H(L) ZaE DAV 61 8,200 74%
1H19H(H) ZhE PAV) 61 7,200 78%
1H20H(H) ZaE X5 61 8,200 74%
1H21HX) ZhE PA) 61 7,200 78%
1H22H(K) ZaE PA) 61 7,200 78%
1H23H(K) 2EE PA) 61 7,200 78%
1H24H(&) ZaE PA) 61 7,700 76%
1H25H(%) ZhE PA) 61 8,200 74%
1H26H(H) ZaE PA) 61 7,200 78%
1827H(H) ZhE PA) 61 7,200 78%
1H28H(X) ZaE PA) 61 7,200 78%
1H29H(K) ZhE PAV) 61 6,700 79%
1H30H(K) ZaE PA) 61 6,700 79%

2H1H(X) ZhE PAV) 61 9,200 71%

2H2H(H) ZaE PA) 61 7,200 78%

2H3H((A) ZhE PA) 61 6,700 79%

2H4H(N) ZaE PAV) 61 7,200 78%

2H5BH(0K) ZhE PA) 61 7,200 78%

2H6H(K) ZaE PAV) 61 7,200 78%

2H7H (&) ZhE PA) 61 7,700 76%

2H8H(X) ZaE PAVJ) 61 9,200 71%

2H9H(H) ZhE PA) 61 8,200 74%
2H10H(H) ZaE PAV) 61 6,700 79%
2H11H(XN) ZhE PA) 61 8,200 74%
2H12H(K) ZaE PAV) 61 7,200 78%
2H13H(XK) 2EE PA) 61 6,700 79%
2H14H(&) ZaE PAVJ) 61 8,200 74%
2H15H(%) ZhE PA) 61 8,700 73%
2H16H(H) ZaE PAV) 61 7,700 76%
2H17H(H) “aE PA) 61 7,200 78%
2H18H(X) ZaE PAV) 61 7,200 78%
2H19H(K) “aE DAV 61 6,700 79%
2H20H(K) ZaE PAV) 61 6,700 79%
2H21H(s®) ZaE PA) 61 8,700 73%
2H22H(%) ZaE PAV) 61 9,200 71%
2H23H(H) “aE PA) 61 7,700 76%
2H24H(H) ZaE PAV) 61 7,700 76%
2H25H(N) ZaE PA) 61 6,700 79%
2H26H(K) ZaE PAV) 61 7,200 78%
2H27H(XK) ZaE DAV 61 7,200 78%
2H28H(5&) ZaE PAV) 61 7,200 78%

3H1H(L) ZaE PA) 61 7,700 77%

3H828(H) 2EE W) 61 7,700 77%
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383H(8) ZHE X9 61 8,700 74%
3848 (N &hE ) 61 7,700 77%
3A580K) ZhE X9 61 7,700 77%
386H(K) &HE ) 61 8,700 74%
3878(&) ZhE X9 61 8,200 76%
388H(1) &HE ) 61 8,700 74%
389H(H) ZhE X9 61 8,700 74%

3810H(B) &HE ) 61 8,200 76%
3A11HKN) ZhE X9 61 7,700 77%
38128 (K) &HE ) 61 8,200 76%
38138 (k) ZhE X9 61 8,700 74%
3814H(%) &HE ) 61 8,200 76%
38158(1) ZhE X9 61 8,700 74%
3816H(H) &HE ) 61 8,200 76%
38178(8) &HE X9 61 8,200 76%
3818H(A) &= X9 61 7,700 77%
38198 (K) ZHE X9 61 7,700 77%
3820H(X) &= ) 61 8,700 74%
38218(%) ZHE X9 61 8,700 74%
38228(1) &HE ) 61 8,700 74%
38238(H) ZHE X9 61 9,200 73%
3824H(B) &= x5 61 8,200 76%
38258 (N) ZHE X9 61 8,200 76%
3826H(K) &= X9 61 7,700 77%
38278(X) ZHE X9 61 8,700 74%
38280 (%) &= ) 61 8,700 74%
38298 (1) ZHE X9 61 8,700 74%
12828(H) ) &E 62 8,200 76%
1253H(X) ) &= 62 7,700 77%
12548 (%K) ) &E 62 8,200 76%
12558 (K) ) &= 62 8,700 74%
128598 (A) ) &E 62 8,700 74%
128108 (X) ) &= 62 8,700 74%
128 118(K) ) &E 62 6,700 80%
128 128(K) ) &= 62 8,200 76%
125148(%) ) &E 62 9,200 73%
12815H(H) ) &= 62 8,200 76%
12516H(B) ) &E 62 8,200 76%
128178(X) ) &= 62 8,200 76%
125188 (K) ) &E 62 7,200 79%
12819H(X) ) &= 62 7,200 79%
12H208(&) X9 &= 62 9,200 73%
12H228(8) ) &E 62 9,200 73%
125238(A) X9 &= 62 8,200 76%
12H248(N) ) &E 62 7,700 77%
128258 (K) X9 &= 62 8,200 76%
128268 (A) ) &E 62 8,200 76%

186H(B) X9 &= 62 9,200 71%

1A78(K) ) &E 62 8,200 74%

188H(K) X9 &R 62 7,200 78%

1A9H(X) ) &E 62 7,200 78%
15108(%) X9 &R 62 7,200 78%
1A118(1) ) &E 62 8,700 73%
18128(H) X9 &R 62 7,200 78%
1A138(A) ) &= 62 8,700 73%
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1A148(K) ) ZEE 62 7,700 76%
1A1580K) ) ZEE 62 6,700 79%
1A16A(X) ) ZEE 62 7,200 78%
1H178(%) ) G 62 7,200 78%
1188 (L) ) ZERE 62 6,700 79%
1H198(H) ) ZEE 62 7,200 78%
1H208(8) x5 ZEE 62 7,200 78%
1H218(K) ) ZEE 62 7,200 78%
1H228(K) ) ZEE 62 7,200 78%
18238 (X) ) ZEE 62 6,700 79%
1H240(%) x5 ZEE 62 7,200 78%
1H258(%) ) G 62 7,200 78%
1H268(0) ) ZEE 62 7,200 78%
1H278(B) ) ZEE 62 6,700 79%
1H28A(K) x5 ZERE 62 7,200 78%
18298 (K) X9 G 62 7,200 78%
15308 (K) ) ZEE 62 7,200 78%
1HA318(%) ) G 62 6,700 79%
2A1H(T) ) ZEE 62 7,200 78%
2828(8) X9 G 62 7,200 78%
2A38(H) ) ZEE 62 9,200 71%
2848 (X) X9 G 62 7,200 78%
2A5H(K) ) ZEE 62 6,700 79%
2868 (K) ) ZEE 62 6,700 79%
2A7E(®E) ) ZEE 62 6,700 79%
2A8H(1) X9 G 62 8,700 73%
2A9H(R) ) ZEE 62 7,700 76%
2A108(A) ) G 62 7,200 78%
2A11R(N) ) ZEE 62 7,200 78%
28 128 (k) ) G 62 6,700 79%
2A138(K) ) ZEE 62 6,700 79%
2A148(2) ) G 62 7,200 78%
2A158(1) ) ZEE 62 6,700 79%
2A168(8) ) G 62 7,200 78%
2A178(A) ) ZEE 62 6,700 79%
2A188(N) ) G 62 6,700 79%
2A198(K) ) ZEE 62 6,700 79%
28208 () ) G 62 6,700 79%
2A218(®) ) ZEE 62 7,200 78%
2A228(%) ) G 62 8,700 73%
2A238(8) ) ZEE 62 7,200 78%
28248(A) ) e 62 8,700 73%
2A258(N) ) ZEE 62 7,200 78%
28268 (K) X9 e 62 6,700 79%
2B278(AR) ) ZEE 62 6,700 79%
28288 (2) X9 e 62 6,700 79%
3A1E(1) X2 ZEE 62 7,700 77%
3828(H) X9 e 62 7,700 77%
3838(8) ) ZEE 62 7,700 77%
3B4H(X) X9 R 62 7,700 77%
3A580K) ) ZEE 62 7,700 77%
3868 (X) X9 R 62 7,700 77%
3A7H(®) X2 ZEE 62 7,700 77%
3A8H(1) X9 R 62 8,200 76%
3898(H) o) R 62 7,700 77%
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38108(H) x5 2= 62 7,700 77%
38118 (X) ) 2= 62 7,700 77%
38128 (K) ) &= 62 7,700 77%
38138 (K) ) 2= 62 7,700 77%
38148(%) ) &= 62 8,200 76%
38158(1) ) ZHE 62 8,200 76%
38168 (H) ) &= 62 8,700 74%
38178(A) ) 2= 62 7,700 77%
38188 (N) ) &= 62 7,700 77%
38198 (K) ) 2= 62 7,700 77%
38208 (k) ) &= 62 7,700 77%
3821H(®) ) ZHE 62 7,700 77%
38228(1) ) &= 62 8,200 76%
3823H(H) ) 2= 62 8,700 74%
38248(8) ) &= 62 7,700 77%
38258 (X) ) ZhE 62 7,700 77%
38268 (K) A5 &= 62 7,700 77%
38278 (K) ) ZhE 62 7,700 77%
38288 (%) ) &= 62 7,700 77%
38298 (1) ) ZhE 62 8,200 76%
12828(8) ZhE ) 65 9,200 73%
1283H(N) ZhE x5 65 8,200 76%
12848 0K) ZhE ) 65 7,700 77%
128558 (k) ZhE X9 65 7,700 77%
12878(%) ZhE ) 65 8,700 74%
1259H(8) ZhE x5 65 8,700 74%
128108 (N) ZhE ) 65 7,700 77%
128118 (K) ZhE ) 65 7,700 77%
128 12H(X) ZHE ) 65 8,200 76%
12513H(%) ZhE ) 65 8,200 76%
128148(1) ZHE ) 65 8,200 76%
12H15H(H) ZhE ) 65 9,200 73%
12816H(A) ZHE ) 65 8,200 76%
128178(X) ZhE ) 65 7,200 79%
12818H(K) ZHE ) 65 7,700 77%
12519H(XK) ZhE ) 65 8,200 76%
12820H(%) ZHE ) 65 9,200 73%
12821H(1) ZhE ) 65 8,700 74%
12822H(H) ZHE ) 65 9,200 73%
12523H(8) ZhE ) 65 7,700 77%
12824H(X) ZHE ) 65 8,200 76%
125258 (K) ZhE ) 65 8,700 74%

186H(8) ZhE ) 65 7,700 76%
178N ZhE ) 65 6,700 79%
1A8H(GK) ZhE ) 65 6,700 79%
1A9H(X) ZhE ) 65 7,200 78%
1A10H(®) ZhE ) 65 7,700 76%
18118(%) ZhE ) 65 7,700 76%
1A128(H) ZhE ) 65 7,200 78%
1813H(B) ZhE ) 65 8,700 73%
1A148(N) ZHE D) 65 6,700 79%
181580K) ZhE ) 65 6,700 79%
1816H(K) ZHE D) 65 7,200 78%
1817H(®) ZhE ) 65 7,200 78%
1518H(+) ZHE ) 65 6,700 79%
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1H19H((H) ZaE DAV 65 7,200 78%
1H20H(H) ZhE PAV) 65 7,200 78%
1H21H(X) ZaE DAV 65 6,700 79%
1H22H(K) ZhE PAV) 65 6,700 79%
1H23H(K) ZaE DAV 65 7,200 78%
1524H(%) ZhE PAV) 65 7,200 78%
1H25H(%) ZaE DAV 65 7,200 78%
1H26H(H) ZhE PAV) 65 7,700 76%
1H27H(RH) ZaE DAV 65 7,200 78%
1H28H(X) ZhE PAV) 65 6,700 79%
1H29H(K) ZaE DAV 65 7,200 78%
1H30H(K) ZhE PAV) 65 7,200 78%
1H31HGER) ZaE DAV 65 9,200 71%
2H1H(X) ZhE PAV) 65 6,700 79%
2H2H(H) ZaE X5 65 6,700 79%
2H3H((A) ZhE PAV) 65 6,700 79%
2H4H(N) ZaE X5 65 6,700 79%
2H580K) ZhE PA) 65 7,200 78%
2H6H(K) ZaE X5 65 6,700 79%
2H7H (&) ZhE PA) 65 7,200 78%
2H8H(X) ZaE X5 65 8,700 73%
2H9H(H) ZhE PA) 65 7,200 78%
2H10H(H) ZaE X5 65 7,200 78%
2H11H(N) ZhE PA) 65 7,200 78%
2H12H(K) ZaE X5 65 6,700 79%
2H13H(K) 2EE PAV) 65 6,700 79%
2H14H(®) ZaE X5 65 6,700 79%
2H15H(%) ZhE PAV) 65 6,700 79%
2H16H(H) ZaE PAVJ) 65 7,200 78%
2H17H(A) ZhE PAV) 65 6,700 79%
2H18H(X) ZaE PAVJ) 65 6,700 79%
2H19H(K) ZhE PAV) 65 6,700 79%
2H20H(K) ZaE PAVJ) 65 6,700 79%
2H21H(5E) ZhE PAV) 65 7,200 78%
2H22H(%) ZaE PAVJ) 65 8,700 73%
2H23H(H) ZhE PA) 65 7,700 76%
2H24H(H) ZaE PAVJ) 65 8,700 73%
2H25H(N) ZhE PA) 65 7,200 78%
2H26H(K) ZaE PAVJ) 65 6,700 79%
2H27H(XK) ZhE PA) 65 6,700 79%
2H28H(5&) ZaE PAV)) 65 6,700 79%
3H1H(X) ZaE DAV 65 7,700 77%
3H2H(H) ZaE PAV) 65 7,700 77%
3H3H(H) g 2Y=] A5 65 7,700 77%
3H4H(N) ZaE PAV) 65 7,700 77%
3H5H(K) “aE PAV) 65 7,700 77%
3H6H(K) 2hE Aa) 65 7,700 77%
3H7H(GE) ZaE DAV 65 7,700 77%
3H8H(X) ZaE PAV) 65 7,700 77%
3H9H(H) BEE A5 65 7,700 77%
3H10H(H) ZaE PAV) 65 7,700 77%
3H11HX) ZaE DAV 65 7,700 77%
3H12H(K) ZaE PAV) 65 7,700 77%
3H13H(K) BEE A5 65 7,700 77%
3H14H(&) ZhE PAV) 65 8,200 76%




Bx-d Xf& (G IBEX4Fifi
3815H(1) ZhE s} 65 7,700 77%
3H16H(H) 2R ) 65 7,700 77%
3817H(B) ZhE o) 65 8,200 76%
3H18H(A) &R K5 65 7,700 77%
3819H0K) ZhE o) 65 7,700 77%
3H20H(K) &R K5 65 8,700 74%
3E21H(®) ZhE o) 65 8,700 74%
3H22H(1) &R K5 65 7,700 77%
3823H(H) ZhE o) 65 8,700 74%
3H24H(B) &R K5 65 8,200 76%
3825H(A) ZhE o) 65 7,700 77%
3826H(K) &R K5 65 7,700 77%
3827H(XK) ZhE o) 65 7,700 77%
3H28H(2) &R K5 65 9,200 73%
3829H(1) ZhE o) 65 8,700 74%
12852H(8) x5 ZhE 66 9,200 73%
1283H(N) A5 &R 66 8,700 74%
1254H0K) ) &R 66 8,700 74%
1285H(K) K5 R 66 8,700 74%
1286H(£) ) &R 66 9,200 73%
12878(1) P &R 66 8,200 76%
128108 (N) ) &R 66 8,700 74%
128118 (K) K5 &R 66 7,700 77%
125 12H(K) x5 &R 66 8,200 76%
12814H(1) P &R 66 8,700 74%
12815H(8) ) &R 66 8,200 76%
12816H(B) P &R 66 8,700 74%
128178(N) ) &R 66 7,700 77%
12818H(7K) K5 &R 66 8,200 76%
12519H(XK) x5 &R 66 8,200 76%
12820H(®) P} R 66 8,200 76%
12821H(+) x5 ZhE 66 8,200 76%
12823H(A) K5 &R 66 9,200 73%
128248(N) ) &R 66 7,700 77%
128258 (K) K5 R 66 7,200 79%
12826H(K) x5 &R 66 8,200 76%

1868(H) K5 R 66 8,700 73%
1H7HCN) i) ZHhE 66 7,700 76%
188H (%K) K5 R 66 7,700 76%
159H (k) x5 &R 66 7,700 76%
1A108(£) P} &R 66 7,200 78%
1A118(1) x5 &R 66 8,200 74%
1A128(H) ) ZHE 66 9,200 71%
18138(8) x5 &R 66 9,200 71%
1A148(N) P} ZHE 66 7,700 76%
18158 (K) x5 &R 66 6,700 79%
1A16H(K) P} ZHE 66 7,200 78%
1A178(£) x5 &R 66 6,700 79%
1A18H (1) ) ZHE 66 7,200 78%
18198(H) ) &R 66 7,700 76%
18208(8) P ZHE 66 7,200 78%
1H21HCN) A5 HhE 66 7,700 76%
18228 0K) P ZHE 66 7,200 78%
18238 (X) ) &R 66 7,200 78%
1524H(%) ) &R 66 7,200 78%
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1H25H(%) A7 ZEaE 66 7,200 78%
1827H(H) PAV) ZhE 66 7,700 76%
1H28H(X) ) ZHaE 66 7,200 78%
1H29H(K) PAV) ZhE 66 7,200 78%
1H30H(K) ) ZHaE 66 6,700 79%
1831H(%) PAV) g 2Ya] 66 6,700 79%
2H1H(X) ) ZHaE 66 7,200 78%
2H2H((H) PAV) ZhE 66 9,200 71%
2H3H((AH) %) ZHaE 66 9,200 71%
2H4B(X) PAV) ZhE 66 6,700 79%
2H5B(0K) ) ZHaE 66 6,700 79%
2H6H(K) PAV) ZhE 66 6,700 79%
2H78(E) ) ZHaE 66 7,200 78%
2H8H(TL) PAV) g 2Ya] 66 7,700 76%
2H9H(H) PA) 2EaE 66 8,700 73%
2H10H(H) PAV) BEE 66 8,700 73%
2H11HCN) PA) ZEaE 66 8,700 73%
2H12H(K) PAV) ZhE 66 6,700 79%
2H13H(K) PAV) ZEE 66 6,700 79%
2H14H (%) PAV) BEE 66 7,700 76%
2H15H(%) PA) ZEaE 66 7,200 78%
2H16H(H) PAV) ZhE 66 7,700 76%
2H17H(H) PAV) ZEaE 66 8,200 74%
2H18H(N) PAV) BEE 66 7,200 78%
2H19H(K) PA) ZEaE 66 6,700 79%
2H20H(XK) PAV) ZhE 66 6,700 79%
2H21H(5&) PAV) ZEaE 66 7,200 78%
2H22H (%) PAV) ZhE 66 8,700 73%
2H23H(H) PAV) ZaE 66 8,700 73%
2H24H(H) PAV) ZhE 66 9,200 71%
2H25H(X) PAV) ZHaE 66 7,700 76%
2H26H(K) PAV) R 66 7,200 78%
2H27H(K) PAV) ZaE 66 7,200 78%
2H28H (&) PAV) ZhE 66 6,700 79%
3H1H(X) PAV) ZHaE 66 8,200 76%
3H2H((H) PAV) R 66 7,700 77%
3H3H(A) PAV) ZHaE 66 8,700 74%
3H4B(X) PAV) “EE 66 8,700 74%
3H5HK) PAV) ZHaE 66 8,200 76%
3H6H(K) PAV) “EE 66 7,700 77%
3H7H(GE) PAV) ZaE 66 7,700 77%
3H8H(X) PAV) “aE 66 8,700 74%
3H9H(H) PAV) ZhE 66 7,700 77%
3H10H(A) PAV) “aE 66 8,200 76%
3H11H(X) PAV) ZhE 66 7,700 77%
3H12H(K) PAV) “aE 66 7,700 77%
3H13H(K) PAV) ZhE 66 7,700 77%
3H14H(®) PAV) ZaE 66 8,700 74%
3H15H(L) PAV) ZhE 66 8,200 76%
3H16H(H) PAV) ZoaE 66 8,700 74%
3H17H(H) PAV) ZhE 66 8,700 74%
3H18H(N) PAV) ZoaE 66 8,200 76%
3H19H(K) PAV) ZhE 66 7,700 77%
3H20H(XK) PAV) ZoaE 66 8,700 74%
3H21H(&) PAV) “EE 66 8,200 76%
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3H22H(L) A7 ZEaE 66 8,700 74%
3H23H(H) PAV) ZhE 66 9,200 73%
3H24H(H) ) ZHaE 66 7,700 77%
3H25H(N) PAV) ZhE 66 8,200 76%
3H26H(K) ) ZHaE 66 7,700 77%
3H27H(XK) PAV) ZhE 66 7,700 77%
3H28H(5&) ) ZHaE 66 8,200 76%
3H29H(%) PAV) BEE 66 8,200 76%
1251H(H) ABR it 71 8,500 79%
1282H(H) AN ot 71 9,000 78%
12H3H(X) ABR it 71 6,500 84%
12H4H(K) AN ot 71 6,500 84%
12H5H(K) AP it 71 7,000 83%
12H6H(%) AN ot 71 9,000 78%
12H8H(H) AN ik 71 9,000 78%
12859H(H) AN it 71 7,500 81%
12H10H(CN) AN ok 71 6,500 84%
12H11H(K) AN it 71 8,000 80%
12H12H(K) AN ok 71 7,500 81%
12H13H(&) AN it 71 7,500 81%
12H14H(X) AN ok 71 8,000 80%
12H15H(H) AN it 71 7,000 83%
12H16H(A) AN ok 71 7,500 81%
12H17H(CN) AN it 71 7,000 83%
12H18H(K) AN ok 71 6,500 84%
12H19H(K) AN it 71 6,500 84%
12H208H (&) AN ok 71 6,500 84%
12H21H(X) AN it 71 7,500 81%
12822H(H) ABR ik 71 7,500 81%
12H23H(A) AN it 71 8,000 80%
12H24H(N) ABR ik 71 7,000 83%
12H25H(K) AN it 71 7,500 81%
12H26H(K) ABR ik 71 7,500 81%

1H6H(H) AN it 71 7,000 82%

1878(X) ABR ik 71 6,000 84%

1H8H(K) AN it 71 6,000 84%

1H9H(K) ABR ik 71 6,000 84%
1H10HGE) AN it 71 6,000 84%
1H11H(L) ABR ik 71 8,000 79%
1812H((H) AN it 71 6,500 83%
1H13H(H) ABR ik 71 7,000 82%
1H14H(X) AN it 71 6,000 84%
1H15H(K) AN ot 71 6,000 84%
1H16H(K) AN it 71 6,500 83%
1H17H(E) AN ot 71 7,000 82%
1H18H(L) AN it 71 7,000 82%
1H19H(H) AN it 71 7,000 82%
1H20H(H) AN it 71 7,000 82%
1H21H(CKX) AN it 71 6,000 84%
1H22H(K) AN it 71 6,000 84%
1H23H(K) AN it 71 6,000 84%
1H24H(E) AN it 71 6,000 84%
1H25H(XL) AN s 71 6,500 83%
1H26H(H) AN it 71 6,000 84%
1H27H(H) AN e 71 6,000 84%
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1H28H(X) ABR it 71 6,500 83%
1H29H(K) AN ot 71 6,000 84%
1H30H(K) ABR it 71 6,000 84%
1H31H(ER) AN ot 71 6,000 84%
2H1H(X) AP it 71 6,000 84%
2H2H((H) AN ot 71 6,000 84%
2H3H((A) ABR it 71 6,000 84%
2H4B(X) AN ot 71 6,000 84%
2H5B(0K) ABR it 71 6,000 84%
2H6H(K) AN ot 71 6,000 84%
2H7H(E) ABR it 71 7,000 82%
2H8H(T) AN ot 71 9,000 76%
2H9H(H) AP it 71 6,500 83%
2H10H(AH) AN ot 71 6,000 84%
2H11HN) AN ik 71 7,500 80%
2H12H(K) AN it 71 6,000 84%
2H13H(K) AN ok 71 6,000 84%
2H14H(:®) AN it 71 6,000 84%
2H15H(%) AN ok 71 6,500 83%
2H16H(H) AN it 71 6,000 84%
2H17H(H) AN ok 71 6,000 84%
2H18H(N) AN it 71 6,000 84%
2H19H(K) AN ok 71 6,000 84%
2H20H(K) AN it 71 6,000 84%
2H21H(5&) AN ok 71 6,000 84%
2H22H(L) AN it 71 8,500 78%
2H23H(H) AN ok 71 8,000 79%
2H24H(H) AN it 71 8,000 79%
2H25H(X) ABR ik 71 6,000 84%
2H26H(K) AN it 71 6,000 84%
2H27H(K) ABR ik 71 6,000 84%
2H28H (&) AN it 71 6,000 84%
3H1H(X) ABR ik 71 6,500 84%
3H2H((H) AN it 71 6,500 84%
3H3H(A) ABR ik 71 6,500 84%
3H4B(X) AN it 71 6,500 84%
3H5HK) ABR ik 71 6,500 84%
3H6H(K) AN it 71 6,500 84%
3H7H(GE) ABR ik 71 7,500 81%
3H8H(L) AN it 71 7,500 81%
3H9H(H) ABR ik 71 6,500 84%
3H10H(A) AN it 71 6,500 84%
3H11HX) AN ot 71 6,500 84%
3H12H(K) AN it 71 6,500 84%
3H13H(K) AN ot 71 6,500 84%
3H14H(®) AN it 71 6,500 84%
3H15H(L) AN it 71 6,500 84%
3H16H(H) AN it 71 6,500 84%
3H17H(H) AN it 71 6,500 84%
3H18H(N) AN it 71 6,500 84%
3H19H(K) AN it 71 6,500 84%
3H20H(XK) AN it 71 8,500 79%
3H21H(&) AN it 71 6,500 84%
3H22H(L) AN it 71 7,000 83%
3H23H(H) AN e 71 7,500 81%
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3H24H(H) ABR it 71 6,500 84%
3H25H(N) AN ot 71 6,500 84%
3H26H(K) ABR it 71 6,500 84%
3H27H(XK) AN ot 71 6,500 84%
3H28H(5&) AP it 71 6,500 84%
3H29H(L) AN ot 71 6,500 84%
1252H(H) b AP 72 8,500 79%
12H3HX) it N 72 8,000 80%
12H4H(K) b AP 72 7,500 81%
12H5H(K) Eoibis) AN 72 9,500 76%
12H6H(E) b AP 72 8,000 80%
1289H(H) it AN 72 7,500 81%
12H10H(N) b AP 72 8,000 80%
12H12H(K) it AN 72 8,000 80%
12H13H(:&) o) AP 72 8,000 80%
12H15H(H) ik AN 72 7,500 81%
12H16H(A) Eolb) AP 72 7,000 83%
12H17H(CN) ik AN 72 7,500 81%
12H18H(K) R AP 72 7,500 81%
12H19H(XK) Eoibi) AN 72 7,500 81%
12H20H (&) Eolb) AP 72 7,500 81%
12822H(H) ik KB 72 7,500 81%
12823H(A) R AP 72 7,500 81%
12H248(N) ik AN 72 7,500 81%
12H25H(0K) Eolb) AP 72 7,500 81%
12H26H(K) ik KB 72 9,500 76%

1H6H(A) R AP 72 7,500 80%

1H7H(XN) Eoibi) AP 72 7,000 82%

1H8H(K) o) ABR 72 7,000 82%

1H9H(K) Eoibi) AP 72 7,000 82%
1H10H(GER) b, ABR 72 6,000 84%
1H11H(L) Eoibi) AP 72 7,500 80%
1H12H(H) o) ABR 72 7,000 82%
1813H(H) Eoibi) AP 72 7,500 80%
1H14H(CKN) b, ABR 72 7,000 82%
1H15H(0K) Eoibi) AP 72 6,000 84%
1H16H(K) o) ABR 72 7,000 82%
1H17H(E) Eoibi) AP 72 7,000 82%
1H18H(L) o) ABR 72 7,000 82%
1819H((H) Eoibi) AP 72 7,000 82%
1H20H(H) o) ABR 72 7,000 82%
1H21H(X) poibi) AP 72 6,500 83%
1H22H(K) b ABR 72 6,500 83%
1H23H(K) poibi) AP 72 6,000 84%
1H24H(E) b ABR 72 7,000 82%
1H25H(T) poibi) AP 72 7,000 82%
1H26H(H) b ABR 72 6,500 83%
1827H(H) poibi) AP 72 6,000 84%
1H28H(XN) b ABR 72 6,500 83%
1H29H(K) Eoibi) KB 72 6,000 84%
1H30H(K) o) ABR 72 6,500 83%
1H31HGE) Eoibi) KB 72 6,500 83%

2H1H(X) o) ABR 72 7,500 80%

2H2H((H) Eoibi) KB 72 6,000 84%

2H3H((A) it KB 72 6,000 84%
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2H48(X) ok AP 72 6,000 84%
2H5B8(0K) Eoibis) N 72 6,000 84%
2H6H(K) b AP 72 6,000 84%
287H (&) it AN 72 7,500 80%
2H8H(X) b AP 72 9,000 76%
2H9H(H) it AN 72 7,000 82%

2H10H(H) b AP 72 7,000 82%
2H11H(N) it N 72 9,000 76%
2H12H(K) b AP 72 6,000 84%
2H13H(K) Eoibis) AN 72 6,000 84%
2H14H(5&) b AP 72 7,500 80%
2H15H(L) it AN 72 7,500 80%
2H16H(H) b AP 72 6,500 83%
2H17H(AH) it AN 72 6,500 83%
2H18H(X) o) AP 72 6,000 84%
2H19H(K) ik AN 72 6,000 84%
2H20H(K) Eolb) AP 72 6,000 84%
2H21H(E) ik AN 72 7,500 80%
2H22H(%) R AP 72 9,000 76%
2H23H(H) Eoibi) AN 72 7,500 80%
2H24H(H) Eolb) AP 72 8,500 78%
2H25H(N) ik KB 72 6,000 84%
2H26H(K) R AP 72 6,000 84%
2H27H(K) ik AN 72 6,000 84%
2H28H(5&) Eolb) AP 72 8,500 78%
3H1H(L) ik KB 72 7,000 83%
3H2H(H) R AP 72 6,500 84%
3H3H(A) Eoibi) AP 72 7,000 83%
3H48(X) o) ABR 72 7,000 83%
3H5H(0K) Eoibi) AP 72 6,500 84%
3H6H(K) b, ABR 72 7,000 83%
3H7H(GE) Eoibi) AP 72 7,000 83%
3H8H(X) o) ABR 72 7,000 83%
3H9H(H) Eoibi) AP 72 7,000 83%
3H10H(H) b, ABR 72 6,500 84%
3H11H(XN) Eoibi) AP 72 6,500 84%
3H12H(K) o) ABR 72 7,000 83%
3H13H(XK) Eoibi) AP 72 6,500 84%
3H14H(&) o) ABR 72 7,000 83%
3H15H(%) Eoibi) AP 72 7,000 83%
3H16H(H) o) ABR 72 7,000 83%
3H17H(AH) poibi) AP 72 7,000 83%
3H18H(X) b ABR 72 6,500 84%
3H19H(K) poibi) AP 72 6,500 84%
3H20H(K) b ABR 72 8,500 79%
3H21H(®) poibi) AP 72 8,500 79%
3H22H(L) b ABR 72 9,000 78%
3H23H(H) poibi) AP 72 8,500 79%
3H24H(H) b ABR 72 6,500 84%
3H25H(XN) Eoibi) KB 72 6,500 84%
3H26H(K) o) ABR 72 6,500 84%
3H27H(XK) Eoibi) KB 72 7,000 83%
3H28H(5&) o) ABR 72 7,500 81%
3H29H (%) Eoibi) KB 72 7,500 81%
12A1H(H) AN e 73 8,500 79%
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12H3H(X) ABR it 73 8,000 80%
12H4H(K) AN ot 73 7,500 81%
12H5H(K) ABR it 73 7,500 81%
12H6H(%) AN ot 73 8,500 79%
12H9H(H) AP it 73 8,500 79%
12H108(CN) AN ot 73 6,500 84%
12H11H(K) ABR it 73 8,000 80%
12H12H(K) AN ot 73 7,500 81%
12H13H(E) ABR it 73 7,500 81%
12H14H(X) AN ot 73 7,500 81%
12H16H(H) ABR it 73 7,500 81%
12H178(CN) AN ot 73 7,000 83%
12H18H(K) AP it 73 7,000 83%
12H19H(K) AN ot 73 7,500 81%
12H20H (&) AN ik 73 7,500 81%
12H21H(X) AN it 73 7,500 81%
12H22H(H) AN ok 73 8,500 79%
12H23H(A) AN it 73 8,000 80%
12H24H(N) AN ok 73 7,500 81%
12H25H(K) AN it 73 7,500 81%
12H26H(K) AN ok 73 7,500 81%

1H6H(H) AN it 73 7,500 80%

1878B(X) AN ok 73 7,500 80%

1H8H(K) AN it 73 7,500 80%

1H9H(K) AN ok 73 6,000 84%
1H10H(E) AN it 73 7,500 80%
1H11H(L) AN ok 73 8,500 78%
1812H((H) AN it 73 7,500 80%
1H13H(H) ABR ik 73 8,500 78%
1H14H(X) AN it 73 7,000 82%
1H15H(K) ABR ik 73 6,000 84%
1H16H(K) AN it 73 6,500 83%
1H17H(ER) ABR ik 73 7,500 80%
1H18H(L) AN it 73 7,000 82%
1H19H(H) ABR ik 73 7,000 82%
1820H(H) AN it 73 7,000 82%
1H21H(CX) ABR ik 73 7,000 82%
1H22H(K) AN it 73 6,500 83%
1H23H(K) ABR ik 73 6,000 84%
1H24H(E) AN it 73 6,500 83%
1H25H(XL) ABR ik 73 6,500 83%
1H26H(H) AN it 73 8,000 79%
1H27H(H) AN ot 73 6,500 83%
1H28H(X) AN it 73 6,500 83%
1H29H(K) AN ot 73 6,500 83%
1H30H(K) AN it 73 6,500 83%
1H31H(ER) AN it 73 6,500 83%

2H1H(X) AN it 73 6,500 83%

2H2H(H) AN it 73 7,500 80%

2H3H((A) AN it 73 6,500 83%

2H4H(N) AN it 73 6,000 84%

2H5H(K) AN it 73 6,000 84%

2H6H(RK) AN it 73 6,000 84%

2H7H(E) AN it 73 7,000 82%

2H8H(X) AN e 73 9,000 76%
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2H9H(H) ABR it 73 8,500 78%
2H10H(AH) AN ot 73 7,000 82%
2H11H(N) ABR it 73 9,000 76%
2H12H(K) AN ot 73 6,000 84%
2H13H(XK) AP it 73 6,000 84%
2H14H(&) AN ot 73 6,000 84%
2H15H(%) ABR it 73 6,000 84%
2H16H(H) AN ot 73 7,000 82%
2H17H(H) ABR it 73 7,000 82%
2H18H(N) AN ot 73 6,000 84%
2H19H(K) ABR it 73 6,000 84%
2H20H(K) AN ot 73 6,000 84%
2H21H(5&) AP it 73 9,000 76%
2H22H(L) AN ot 73 7,500 80%
2H23H(H) AN ik 73 8,000 79%
2H24H(H) AN it 73 9,000 76%
2H25H(X) AN ok 73 6,500 83%
2H26H(K) AN it 73 6,000 84%
2H27H(K) AN ok 73 6,500 83%
2H28H (&) AN it 73 6,000 84%
3H1H(X) AN ok 73 6,500 84%
3H2H((H) AN it 73 7,500 81%
3H3H(H) AN ok 73 7,000 83%
3H48(X) AN it 73 6,500 84%
3H5HK) AN ok 73 6,500 84%
3H6H(K) AN it 73 7,000 83%
3H7H(GE) AN ok 73 6,500 84%
3H8H(L) AN it 73 6,500 84%
3H9H(H) ABR ik 73 6,500 84%
3H10H(A) AN it 73 6,500 84%
3H11HX) ABR ik 73 6,500 84%
3H12H(K) AN it 73 6,500 84%
3H13H(K) ABR ik 73 6,500 84%
3H14H(®) AN it 73 7,000 83%
3H15H(%) ABR ik 73 6,500 84%
3H16H(H) AN it 73 6,500 84%
3H17H(H) ABR ik 73 6,500 84%
3H18H(N) AN it 73 6,500 84%
3H19H(K) ABR ik 73 7,000 83%
3H20H(XK) AN it 73 7,500 81%
3H21H(5&) ABR ik 73 7,000 83%
3H22H(L) AN it 73 7,000 83%
3H23H(H) AN ot 73 8,500 79%
3H24H(H) AN it 73 6,500 84%
3H25H(X) AN ot 73 6,500 84%
3H26H(K) AN it 73 6,500 84%
3H27H(K) AN it 73 6,500 84%
3H28H(5&) AN it 73 6,500 84%
3H29H(%) AN it 73 6,500 84%
12852H(H) Eoibi) KB 74 8,000 80%
12H3H(X) o) ABR 74 7,500 81%
12H4H(K) Eoibi) KB 74 7,000 83%
12H5H(K) o) ABR 74 7,000 83%
12H6H(E) Eoibi) KB 74 7,500 81%
12H7H(XL) it KB 74 8,000 80%




a%H [XF& B IBEX#il

1259H(H) ok AP 74 8,500 79%
12H108(CN) Eoibis) N 74 7,000 83%
12H11H(K) b AP 74 6,500 84%
12H12H(K) it AN 74 8,000 80%
12H13H(E) b AP 74 7,000 83%
12H14H(X) it AN 74 7,500 81%
12H15H(H) b AP 74 7,500 81%
12H16H(A) it N 74 7,500 81%
12H17H(CN) b AP 74 7,000 83%
12H18H(K) Eoibis) AN 74 6,500 84%
12H19H(XK) b AP 74 7,500 81%
12H20H(&) it AN 74 7,000 83%
12H21H(X) b AP 74 7,500 81%
12H22H(H) it AN 74 7,500 81%
12H23H(AH) o) AP 74 7,500 81%
12H248(N) ik AN 74 7,500 81%
12H25H(0K) Eolb) AP 74 7,500 81%
12H26H(K) ik AN 74 7,500 81%

1H6H(A) R AP 74 7,500 80%

1H7HN) Eoibi) AN 74 7,000 82%

1H8H(K) Eolb) AP 74 7,000 82%

1H9H(K) ik KB 74 6,500 83%
1H10HGER) R AP 74 7,500 80%
1H11H(XL) ik AN 74 8,000 79%
1H12H(H) Eolb) AP 74 6,500 83%
1813H(H) ik KB 74 8,500 78%
1H14H(KX) R AP 74 6,000 84%
1H15H(0K) Eoibi) AP 74 6,000 84%
1H16H(K) o) ABR 74 7,000 82%
1H17H(E) Eoibi) AP 74 6,000 84%
1H18H(L) b, ABR 74 7,000 82%
1819H((H) Eoibi) AP 74 7,500 80%
1H20H(H) o) ABR 74 6,000 84%
1H21H(X) Eoibi) AP 74 6,500 83%
1H22H(K) b, ABR 74 7,000 82%
1H23H(K) Eoibi) AP 74 6,000 84%
1H24H(E) o) ABR 74 6,500 83%
1H25H(L) Eoibi) AP 74 6,500 83%
1H26H(H) o) ABR 74 6,500 83%
1827H(H) Eoibi) AP 74 6,000 84%
1H28H(XN) o) ABR 74 6,000 84%
1H29H(K) poibi) AP 74 6,500 83%
1H30H(RK) b ABR 74 6,000 84%
1H31HGE) poibi) AP 74 7,000 82%

2H1H(X) b ABR 74 6,000 84%

2H2H((H) poibi) AP 74 6,000 84%

2H3H(H) b ABR 74 6,000 84%

2H48(X) poibi) AP 74 6,000 84%

2H5HK) b ABR 74 6,000 84%

2H6H(K) Eoibi) KB 74 6,500 83%

2H78(E) o) ABR 74 6,000 84%

2H8H(L) Eoibi) KB 74 9,000 76%

2H9H(H) o) ABR 74 6,500 83%
2H10H(AH) Eoibi) KB 74 7,000 82%
2H11HX) it KB 74 9,000 76%
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2H12H(K) ok AP 74 6,500 83%
2H13H(K) Eoibis) N 74 6,000 84%
2H14H(5&) b AP 74 7,500 80%
2H15H(L) it AN 74 6,500 83%
2H16H(H) b AP 74 6,000 84%
2H17H(AH) it AN 74 6,000 84%
2H18H(X) b AP 74 6,000 84%
2H19H(K) it N 74 6,000 84%
2H20H(XK) b AP 74 6,000 84%
2H21H(&) Eoibis) AN 74 8,500 78%
2H22H(L) b AP 74 8,000 79%
2H23H(H) it AN 74 7,500 80%
2H24H(H) b AP 74 9,000 76%
2H25H(N) it AN 74 6,000 84%
2H26H(K) o) AP 74 6,000 84%
2H27H(K) ik AN 74 6,000 84%
2H28H(5&) Eolb) AP 74 7,500 80%

3H1H(TE) ik AN 74 7,500 81%
3H2H(H) R AP 74 6,500 84%
3H3HA) Eoibi) AN 74 6,500 84%
3H4BH(X) Eolb) AP 74 6,500 84%
3H5H0K) ik KB 74 7,000 83%
3H6H(K) R AP 74 6,500 84%
3H7H(GE) ik AN 74 7,000 83%
3H8H(X) Eolb) AP 74 6,500 84%
3H9H(H) ik KB 74 7,000 83%
3H10H(H) R AP 74 6,500 84%
3H11H(XN) Eoibi) AP 74 6,500 84%
3H12H(K) o) ABR 74 6,500 84%
3H13H(XK) Eoibi) AP 74 6,500 84%
3H14H(&) b, ABR 74 7,000 83%
3H15H(%) Eoibi) AP 74 6,500 84%
3H16H(H) o) ABR 74 7,000 83%
3H17H(A) Eoibi) AP 74 6,500 84%
3H18H(X) b, ABR 74 6,500 84%
3H19H(K) Eoibi) AP 74 6,500 84%
3H20H(K) o) ABR 74 8,000 80%
3H21H(:®) Eoibi) AP 74 8,000 80%
3H22H(L) o) ABR 74 8,500 79%
3H23H(H) Eoibi) AP 74 9,000 78%
3H24H(H) o) ABR 74 6,500 84%
3H25H(XN) poibi) AP 74 6,500 84%
3H26H(K) b ABR 74 6,500 84%
3H27H(XK) poibi) AP 74 6,500 84%
3H28H(5&) b ABR 74 7,500 81%
3H29H(%) poibi) AP 74 7,000 83%
12H1H(H) ABR EER 75 8,000 78%
1282H(H) AN RS 75 7,160 81%
12H3H(X) ABR EX 75 5,660 85%
12H4H(K) AN RS 75 5,660 85%
12H5H(K) ABR EX 75 5,660 85%
12H6H(E) AN RS 75 5,660 85%
12H7H(L) ABR E 75 5,660 85%
1288H(H) AN RS 75 8,000 78%
12H9H(H) AN EX 75 8,000 78%
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12H108(CX) ABR 75 5,660 85%
12H11H(K) AN 75 5,660 85%
12H12H(K) ABR 75 5,660 85%
12H13H(%&) ABR 75 7,160 81%
12H14H(X) ABR 75 7,160 81%
12H15H(H) AN 75 8,000 78%
12H16H((H) ABR 75 7,160 81%
12H17H(CN) AN 75 5,660 85%
12H18H(K) ABR 75 5,660 85%
12H19H(K) AN 75 7,160 81%
12H208 (&) ABR 75 5,660 85%
12H21H(X) ABR 75 5,660 85%
12H22H(H) AP 75 8,000 78%
12H23H(H) AN 75 7,160 81%
12H24H(N) AN 75 5,660 85%
12H25H(K) AN 75 7,160 81%
12H26H(K) AN 75 7,160 81%

156H(H) AN 75 7,160 80%
1878B(X) AN 75 7,160 80%
1H8H(K) AN 75 5,660 84%
1H9H(K) AN 75 7,160 80%
1H10H(E) ABR 75 5,660 84%
1H11H(XL) AN 75 5,660 84%
1H12H(H) AN 75 7,160 80%
1H13H(H) AN 75 7,160 80%
1H14H(X) AN 75 7,160 80%
1H15H(K) AN 75 5,660 84%
1H16H(K) AN 75 5,660 84%
1H17H(ER) ABR 75 5,660 84%
1H18H(L) KPR 75 5,660 84%
1H19H(H) ABR 75 7,160 80%
1820H(H) AN 75 5,660 84%
1H21H(CX) ABR 75 5,660 84%
1H22H(K) AN 75 5,660 84%
1H23H(K) ABR 75 5,660 84%
1H24H(E) KPR 75 5,660 84%
1H25H(XL) ABR 75 5,660 84%
1826H(H) AN 75 7,160 80%
1H27H(H) ABR 75 5,660 84%
1H28H(X) AN 75 5,660 84%
1H29H(K) ABR 75 5,660 84%
1H30H(K) AN 75 5,660 84%
1H31H(ER) ABR 75 5,660 84%
2H1H(L) KPR 75 5,660 84%
2H2H(H) ABR 75 5,660 84%
2H3H((A) AN 75 5,660 84%
2H48(X) ABR 75 7,160 80%
2H5B8(0K) AN 75 5,660 84%
2H6H(K) ABR 75 5,660 84%
2H7H (&) KPR 75 5,660 84%
2H8H(X) ABR 75 5,660 84%
2H9H(H) AN 75 5,660 84%
2H10H(H) ABR 75 5,660 84%
2H11HX) AN 75 7,160 80%
2H12H(K) AN 75 5,660 84%
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2H13H(XK) ABR EER 75 5,660 84%
2H14H(&) ABR EELR 75 5,660 84%
2H15H(L) ABR EER 75 5,660 84%
2H16H(H) AN EELR 75 5,660 84%
2H17H(H) AP EER 75 5,660 84%
2H18H(X) AN EELR 75 5,660 84%
2H19H(K) ABR EER 75 5,660 84%
2H20H(K) AN EELR 75 5,660 84%
2H21H(®) ABR EER 75 7,160 80%
2H22H(L) ABR EELR 75 5,660 84%
2H23H(H) ABR EER 75 7,160 80%
2H24H(H) AN EELR 75 7,160 80%
2H25H(N) AP EER 75 7,160 80%
2H26H(K) AN EELR 75 5,660 84%
2H27H(K) AN EER 75 5,660 84%
2H28H (&) ABR RS 75 5,660 84%

3H1H(X) AN EER 75 7,160 81%

3H2H((H) AN RER 75 7,160 81%

3H3H(H) AN EER 75 5,660 85%

3H48(X) AN RER 75 5,660 85%

3H5H(K) AN EER 75 5,660 85%

3H6H(K) AN RER 75 5,660 85%

3H7H(GE) AN EER 75 5,660 85%

3H8H(TL) ABR RER 75 7,160 81%

3H9H(H) AN EER 75 7,160 81%
3H10H(H) AN RER 75 5,660 85%
3H11HCXN) AN EER 75 5,660 85%
3H12H(K) AN RER 75 5,660 85%
3H13H(K) ABR EER 75 5,660 85%
3H14H(®) KPR RER 75 5,660 85%
3H15H(%) ABR EER 75 7,160 81%
3H16H(H) AN RER 75 7,160 81%
3H17H(H) ABR EER 75 5,660 85%
3H18H(N) AN RER 75 5,660 85%
3H19H(K) ABR E 75 5,660 85%
3H20H(XK) AN RS 75 5,660 85%
3H21H(5&) ABR EER 75 5,660 85%
3H22H(L) KPR RER 75 7,160 81%
3H23H(H) ABR ERS 75 7,160 81%
3H24H(H) AN RS 75 5,660 85%
3H25H(X) ABR ERS 75 5,660 85%
3H26H(K) AN RS 75 5,660 85%
3H27H(K) ABR EX 75 5,660 85%
3H28H (%) AN RS 75 5,660 85%
3H29H(%) ABR E 75 7,160 81%
1281H(H) ) AP 76 8,000 78%
12H2H(H) S N 76 7,160 81%
12H3H(X) ) AP 76 7,160 81%
12H4H(K) S N 76 7,160 81%
12H5H(K) ) KB 76 7,160 81%
12H6H(E) eSS ABR 76 7,160 81%
12H7H(L) ) KB 76 7,160 81%
12H8H(H) eSS ABR 76 8,000 78%
12859H(H) ) KB 76 7,160 81%
12H10H(N) eSS KB 76 7,160 81%
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12H11H(K) EeT KPR 76 7,160 81%
12H12H(K) RER N 76 7,160 81%
12H13H(E) S AP 76 7,160 81%
12H14H(X) RER AN 76 7,160 81%
12H15H(H) E AP 76 8,000 78%
12H16H(AH) RER AN 76 7,160 81%
12H17H(CN) S AP 76 7,160 81%
12H18H(K) EELR N 76 7,160 81%
12H19H(K) S AP 76 7,160 81%
12H20H(%&) RER AN 76 7,160 81%
12H21H(X) RS AP 76 7,160 81%
12H22H(H) ) AN 76 7,160 81%
12H23H(H) S AP 76 7,160 81%
12H24H(N) ) AN 76 7,160 81%
12H25H(0K) EER AP 76 7,160 81%
12H26H(K) ) ABR 76 7,160 81%

1H6H(A) RER AP 76 8,000 77%
1H7HN) ) AN 76 7,160 80%
1H8H(K) EER AP 76 7,160 80%
1H9H(XK) ) ABR 76 7,160 80%
1H10HGER) RER AP 76 7,160 80%
1H11H(XL) ) ABR 76 5,660 84%
1H12H(H) RER AP 76 5,660 84%
1H13H(H) ) ABR 76 8,000 77%
1H14H(X) EER AP 76 5,660 84%
1H15H(K) ) ABR 76 5,660 84%
1H16H(K) EER AP 76 7,160 80%
1H17H(E) ) KPR 76 7,160 80%
1H18H(L) RER ABR 76 5,660 84%
1H19H(H) ) ABR 76 7,160 80%
1H20H(H) EELR ABR 76 5,660 84%
1H21H(CKX) ) KPR 76 5,660 84%
1H22H(K) EER ABR 76 5,660 84%
1H23H(K) ) ABR 76 5,660 84%
1H24H(E) RER ABR 76 5,660 84%
1H25H(XL) ) KPR 76 5,660 84%
1H26H(H) RER ABR 76 7,160 80%
1H27H(H) ) ABR 76 5,660 84%
1H28H(X) EER ABR 76 5,660 84%
1H29H(K) ) ABR 76 5,660 84%
1H30H(K) EER ABR 76 5,660 84%
1H31HGE) ) AP 76 5,660 84%
2H1H(X) S ABR 76 5,660 84%
2H2H((H) ) AP 76 5,660 84%
2H3H(H) S N 76 5,660 84%
2H48(X) ) AP 76 5,660 84%
2H5HK) S N 76 5,660 84%
2H6H(K) ) KPR 76 5,660 84%
2H7H(ER) S ABR 76 5,660 84%
2H8H(L) ) KB 76 7,160 80%
2H9H(H) eSS ABR 76 7,160 80%
2H10H(AH) ) KB 76 5,660 84%
2H11H(X) eSS N 76 7,160 80%
2H12H(K) ) KB 76 5,660 84%
2H13H(K) eSS KB 76 7,160 80%
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2H14H(®) EeT KPR 76 5,660 84%
2H15H(L) RER N 76 5,660 84%
2H16H(H) E AP 76 7,160 80%
2H17H(H) RER AN 76 7,160 80%
2H18H(N) E AP 76 7,160 80%
2H19H(K) RER AN 76 7,160 80%
2H20H(XK) S AP 76 7,160 80%
2H21H(&) RER N 76 7,160 80%
2H22H(L) E AP 76 5,660 84%
2H23H(H) RER AN 76 7,160 80%
2H24H(H) RS AP 76 7,160 80%
2H25H(X) ) AN 76 5,660 84%
2H26H(K) S AP 76 5,660 84%
2H27H(K) ERE AN 76 5,660 84%
2H28H(5&) m' AP 76 5,660 84%
3H1H(X) S ABR 76 7,160 81%
3H2H(H) E AP 76 7,160 81%
3H3H(A) ERE ABR 76 5,660 85%
3H4H(N) m' AP 76 5,660 85%
3H5H0K) ) ABR 76 5,660 85%
3H6H(K) E AP 76 5,660 85%
3H7H(&E) ERE ABR 76 5,660 85%
3H8H(X) m' AP 76 7,160 81%
3H9H(H) ERE ABR 76 7,160 81%
3H10H(H) m' AP 76 5,660 85%
3H11HX) ) ABR 76 5,660 85%
3H12H(K) E AP 76 5,660 85%
3H13H(XK) ERS KPR 76 5,660 85%
3H14H(&) m' ABR 76 5,660 85%
3H15H(%) ) ABR 76 7,160 81%
3H16H(H) EeUT ABR 76 7,160 81%
3H17H(H) ERE KPR 76 5,660 85%
3H18H(X) u:' ABR 76 5,660 85%
3H19H(K) ERS ABR 76 5,660 85%
3H20H(K) u:' ABR 76 5,660 85%
3H21H(®) ) KPR 76 5,660 85%
3H22H(L) EeUT ABR 76 7,160 81%
3H23H(H) ERE ABR 76 7,160 81%
3H24H(H) u:' ABR 76 5,660 85%
3H25H(N) ERE ABR 76 5,660 85%
3H26H(K) u:' ABR 76 5,660 85%
3H27H(XK) ERS AP 76 5,660 85%
3H28H(5&) ﬁ'ﬁl ABR 76 5,660 85%
3H29H(L) ERS KPR 76 7,160 81%
12H1H(H) 7([5& PAV) 77 7,160 73%
1282H(H) AN PAV) 77 5,660 79%
12H3H(X) ABR Aa) 77 5,660 79%
12H4H(K) AN DAV 77 7,160 73%
12H5H(K) ABR Aa) 77 5,660 79%
12H6H(E) AN DAV 77 7,160 73%
12H7H(L) ABR PAV) 77 7,160 73%
1288H(H) AN DAV 77 5,660 79%
12H9H(H) ABR Aa) 77 7,160 73%
12H108(CN) AN DAV 77 7,160 73%
12H11H(K) AN PAV) 77 5,660 79%
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12H12H(K) ABR DAV 77 5,660 79%
12H13H(%&) ABR PAV) 77 7,160 73%
12H14H(%) ABR DAV 77 8,000 70%
12H15H(H) AN PAV) 77 7,160 73%
12H16H(H) AP DAV 77 5,660 79%
12H17H(CN) AN PAV) 77 5,660 79%
12H18H(K) ABR DAV 77 5,660 79%
12H19H(K) AN PAV) 77 5,660 79%
12H208 (&) ABR DAV 77 5,660 79%
12H21H(X) ABR PAV) 77 7,160 73%
12H22H(H) ABR DAV 77 5,660 79%
12H23H(H) AN PAV) 77 7,160 73%
12H24H(N) AP DAV 77 5,660 79%
12H25H(K) AN PAV) 77 7,160 73%
12H26H(K) AN X5 77 7,160 73%

1H6H(H) AN PAV) 77 7,160 71%
1878B(X) AN X5 77 5,660 77%
1H8H(K) AN PAV) 77 5,660 77%
1H9H(K) AN X5 77 7,160 71%
1H10H(E) ABR PAV) 77 7,160 71%
1H11H(XL) AN X5 77 8,000 68%
1H12H(H) AN PAV) 77 7,160 71%
1H13H(H) AN X5 77 7,160 71%
1H14H(X) AN PAV) 77 5,660 77%
1H15H(K) AN X5 77 5,660 77%
1H16H(K) AN PAV) 77 5,660 77%
1H17H(E) AN X5 77 5,660 77%
1H18H(L) KPR PA) 77 7,160 71%
1H19H(H) ABR PAVJ) 77 5,660 77%
1820H(H) AN PA) 77 5,660 77%
1H21H(CX) ABR PAVJ) 77 5,660 77%
1H22H(K) AN PA) 77 5,660 77%
1H23H(K) ABR PAVJ) 77 5,660 77%
1H24H(E) KPR PA) 77 7,160 71%
1H25H(XL) ABR PAVJ) 77 7,160 71%
1826H(H) AN PA) 77 5,660 77%
1H27H(H) ABR PAVJ) 77 5,660 77%
1H28H(X) AN PA) 77 5,660 77%
1H29H(K) ABR PAVJ) 77 5,660 77%
1H30H(K) AN PA) 77 5,660 77%
1H31H(GER) ABR PAV)) 77 5,660 77%
2H1H(L) AN DAV 77 8,000 68%
2H2H(H) ABR PAV) 77 5,660 77%
2H3H((A) AN DAV 77 5,660 77%
2H48(X) ABR Aa) 77 5,660 77%
2H5B8(0K) AN PAV) 77 5,660 77%
2H6H(K) ABR Aa) 77 5,660 77%
2H7H(&E) AN DAV 77 5,660 77%
2H8H(X) ABR PAV) 77 7,160 71%
2H9H(H) AN DAV 77 5,660 77%
2H10H(H) ABR Aa) 77 5,660 77%
2H11HX) AN DAV 77 5,660 77%
2H12H(K) ABR Aa) 77 5,660 77%
2H13H(XK) AN DAV 77 5,660 77%
2H14H(&) ABR PAV) 77 5,660 77%
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2H15H(%) ABR DAV 77 7,160 71%
2H16H(H) AN PAV) 77 5,660 77%
2H17H(H) ABR DAV 77 5,660 77%
2H18H(X) AN PAV) 77 5,660 77%
2H19H(K) AP DAV 77 5,660 77%
2H20H(K) AN PAV) 77 5,660 77%
2H21H(®) ABR DAV 77 5,660 77%
2H22H(L) ABR PAV) 77 7,160 71%
2H23H(H) ABR DAV 77 5,660 77%
2H24H(H) AN PAV) 77 5,660 77%
2H25H(N) ABR DAV 77 5,660 77%
2H26H(K) AN PAV) 77 5,660 77%
2H27H(XK) AP DAV 77 5,660 77%
2H28H (&) ABR PAV) 77 5,660 77%
3H1H(X) AN X5 77 7,160 73%
3H2H((H) AN PAV) 77 7,160 73%
3H3H(H) AN X5 77 5,660 79%
3H4B(X) AN PAV) 77 5,660 79%
3H5HK) AN X5 77 5,660 79%
3H6H(K) AN PAV) 77 5,660 79%
3H7H(GE) AN X5 77 7,160 73%
3H8H(TL) ABR PAV) 77 7,160 73%
3H9H(H) AN X5 77 7,160 73%
3H10H(H) AN PAV) 77 5,660 79%
3H11HX) AN X5 77 5,660 79%
3H12H(K) AN PAV) 77 5,660 79%
3H13H(K) AN X5 77 5,660 79%
3H14H(%) KPR PAV) 77 7,160 73%
3H15H(%) ABR PAVJ) 77 7,160 73%
3H16H(H) AN PAV) 77 7,160 73%
3H17H(H) ABR PAVJ) 77 5,660 79%
3H18H(N) AN PA) 77 5,660 79%
3H19H(K) ABR PAVJ) 77 5,660 79%
3H20H(XK) AN PA) 77 5,660 79%
3H21H(5&) ABR PAVJ) 77 7,160 73%
3H22H(L) KPR PAV) 77 7,160 73%
3H23H(H) ABR PAVJ) 77 7,160 73%
3H24H(H) AN PA) 77 5,660 79%
3H25H(X) ABR PAVJ) 77 5,660 79%
3H26H(K) AN PA) 77 5,660 79%
3H27H(K) ABR PAV)) 77 5,660 79%
3H28H (%) AN DAV 77 7,160 73%
3H29H(%) ABR PAV) 77 7,160 73%
1281H(H) PAV) KPR 78 7,160 73%
12H2H(H) PAV) N 78 5,660 79%
12H3H(X) PAV) KPR 78 5,660 79%
12H4H(K) PAV) N 78 5,660 79%
12H5H(K) PAV) AP 78 9,000 66%
12H6H(E) PAV) ABR 78 7,160 73%
12H7H(L) PAV) KPR 78 8,000 70%
12H8H(H) PAV) ABR 78 8,000 70%
12859H(H) PAV) KPR 78 5,660 79%

12H10H(N) PAV) N 78 5,660 79%
12H11H(K) PAV) KPR 78 7,160 73%
12H12H(K) PAV) KB 78 7,160 73%
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12H13H(E) A7 AP 78 7,160 73%
12H14H(X) PAV) N 78 7,160 73%
12H15H(H) ) AP 78 7,160 73%
12H16H(H) PAV) AN 78 5,660 79%
12H17H(CN) ) AP 78 5,660 79%
12H18H(K) PAV) AN 78 5,660 79%
12H19H(K) ) AP 78 5,660 79%
12H20H(%&) PAV) N 78 5,660 79%
12H21H(X) %) AP 78 8,000 70%
12H22H(H) PAV) AN 78 8,000 70%
12H23H(H) ) AP 78 7,160 73%
12H24H(N) PAV) AN 78 7,160 73%
12H25H(K) ) AP 78 7,160 73%
12H26H(K) PAV) AN 78 7,160 73%

1H6H(A) PA) AP 78 7,160 71%
1H7H(N) PAV) AN 78 7,160 71%
1H8H(K) PA) AP 78 5,660 77%
1H9H(XK) PAV) AN 78 5,660 77%
1H10HGER) PAV) AP 78 5,660 77%
1H11H(XL) PAV) AN 78 8,000 68%
1H12H(H) PA) AP 78 7,160 71%
1H13H(H) PAV) KB 78 7,160 71%
1H14H(X) PAV) AP 78 5,660 77%
1H15H(K) PAV) AN 78 5,660 77%
1H16H(K) PA) AP 78 5,660 77%
1H17H(GE) PAV) KB 78 5,660 77%
1H18H(L) PAV) AP 78 7,160 71%
1H19H(H) PAV) AP 78 7,160 71%
1H20H(H) PAV) ABR 78 5,660 77%
1H21H(KX) PAV) AP 78 7,160 71%
1H22H(K) PAV) ABR 78 5,660 77%
1H23H(K) PAV) KPR 78 5,660 77%
1H24H(E) PAV) ABR 78 7,160 71%
1H25H(L) PAV) AP 78 7,160 71%
1H26H(H) PAV) ABR 78 7,160 71%
1H27H(H) PAV) AP 78 5,660 77%
1H28H(X) PAV) ABR 78 5,660 77%
1H29H(K) PAV) ABR 78 5,660 77%
1H30H(K) PAV) ABR 78 5,660 77%
1H31HGE) PAV) AP 78 5,660 77%
2H1H(X) PAV) ABR 78 7,160 71%
2H2H((H) PAV) KPR 78 5,660 77%
2H3H(H) PAV) N 78 5,660 77%
2H48(X) PAV) KPR 78 5,660 77%
2H5HK) PAV) N 78 5,660 77%
2H6H(K) PAV) AP 78 5,660 77%
2H7H(ER) PAV) ABR 78 5,660 77%
2H8H(X) PAV) KPR 78 8,000 68%
2H9H(H) PAV) ABR 78 5,660 77%
2H10H(AH) PAV) KPR 78 5,660 77%
2H11H(X) PAV) N 78 5,660 77%
2H12H(K) PAV) KB 78 5,660 77%
2H13H(K) PAV) N 78 5,660 77%
2H14H(®) PAV) KPR 78 5,660 77%
2H15H(L) PAV) KB 78 7,160 71%
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2H16H(H) A7 AP 78 5,660 77%
2H17H(H) PAV) N 78 5,660 77%
2H18H(N) ) AP 78 5,660 77%
2H19H(K) PAV) AN 78 5,660 77%
2H20H(XK) ) AP 78 5,660 77%
2H21H(&) PAV) AN 78 5,660 77%
2H22H(L) ) AP 78 7,160 71%
2H23H(H) PAV) N 78 5,660 77%
2H24H(H) %) AP 78 5,660 77%
2H25H(X) PAV) AN 78 5,660 77%
2H26H(K) ) AP 78 5,660 77%
2H27H(K) PAV) AN 78 5,660 77%
2H28H(5&) ) AP 78 5,660 77%

3H1H(T) PAV) AN 78 7,160 73%

3H2H(H) PA) AP 78 7,160 73%

3H3H(A) PAV) AN 78 5,660 79%

3H4H(N) PA) AP 78 5,660 79%

3H5H0K) PAV) AN 78 5,660 79%

3H6H(K) PAV) AP 78 5,660 79%

3H7H(GE) PAV) AN 78 7,160 73%

3H8H(X) PA) AP 78 7,160 73%

3H9H(H) PAV) KB 78 7,160 73%
3H10H(H) PAV) AP 78 5,660 79%
3H11HX) PAV) AN 78 5,660 79%
3H12H(K) PA) AP 78 5,660 79%
3H13H(K) PAV) KB 78 5,660 79%
3H14H(®) PAV) AP 78 7,160 73%
3H15H(%) PAV) AP 78 7,160 73%
3H16H(H) PAV) ABR 78 7,160 73%
3H17H(H) PAV) AP 78 5,660 79%
3H18H(X) PAV) ABR 78 5,660 79%
3H19H(K) PAV) KPR 78 5,660 79%
3H20H(K) PAV) ABR 78 5,660 79%
3H21H(:®) PAV) AP 78 7,160 73%
3H22H(%) PAV) ABR 78 7,160 73%
3H23H(H) PAV) AP 78 7,160 73%
3H24H(H) PAV) ABR 78 5,660 79%
3H25H(N) PAV) AP 78 5,660 79%
3H26H(K) PAV) ABR 78 5,660 79%
3H27H(XK) PAV) ABR 78 7,160 73%
3H28H(5&) PAV) ABR 78 7,160 73%
3H29H(%) PAV) KPR 78 7,160 73%
12H1H(H) ABR =) 79 11,000 73%
1282H(H) AN | 79 8,000 81%
12H3H(X) ABR B5S 79 7,160 83%
12H4H(K) AN & 79 8,000 81%
12H5H(K) ABR B5S 79 7,160 83%
12H6H(E) AN | 79 8,000 81%
12H7H(XL) ABR =) 79 8,000 81%
1288H(H) AN i 79 8,000 81%
12H9H(H) ABR BES 79 8,000 81%
12H108(CN) AN i 79 7,160 83%
12H11H(CK) ABR BES 79 7,160 83%
12H12H(K) AN & 79 8,000 81%
12H13H(%&) ABR B5S 79 7,160 83%
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12H14H(%) ABR =) 79 8,000 81%
12H15H(H) AN B5S 79 8,000 81%
12H16H(H) ABR = 79 8,000 81%
12H17H(CN) AN B5S 79 7,160 83%
12H18H(K) AP B 79 7,160 83%
12H19H(K) AN B5S 79 7,160 83%
12H208 (&) ABR = 79 7,160 83%
12H21H(X) ABR B5S 79 8,000 81%
12H22H(H) ABR = 79 8,000 81%
12H23H(H) AN B5S 79 7,160 83%
12H248(XN) ABR = 79 7,160 83%
12H25H(K) AN B5S 79 8,000 81%
12H26H(K) AP B 79 8,000 81%

156H(H) AN B5S 79 8,000 80%
1878B(X) AN = 79 8,000 80%
1H8H(K) AN (=) 79 7,160 82%
1H9H(K) AN = 79 7,160 82%
1H10H(E) AN (=) 79 8,000 80%
1H11H(XL) AN = 79 9,000 77%
1H12H(H) AN (=) 79 8,000 80%
1H13H(H) AN = 79 9,000 77%
1H14H(X) AN (=) 79 8,000 80%
1H15H(K) AN = 79 7,160 82%
1H16H(K) AN (=) 79 7,160 82%
1H17H(E) AN = 79 7,160 82%
1H18H(L) AN (=) 79 8,000 80%
1H19H((H) AN = 79 7,160 82%
1820H(H) AN (=) 79 7,160 82%
1H21H(CX) ABR B 79 7,160 82%
1H22H(K) AN (=) 79 7,160 82%
1H23H(K) ABR B 79 8,000 80%
1H24H(E) AN (=) 79 8,000 80%
1H25H(XL) ABR B 79 7,160 82%
1826H(H) AN (=) 79 9,000 77%
1H27H(H) ABR B 79 7,160 82%
1H28H(X) AN (=) 79 7,160 82%
1H29H(K) ABR B 79 7,160 82%
1H30H(K) AN (=) 79 7,160 82%
1H31H(GER) ABR B 79 7,160 82%
2H1H(EL) AN (=) 79 7,160 82%
2H2H(H) ABR B 79 7,160 82%
2H3H((A) AN | 79 8,000 80%
2H48(X) ABR B5S 79 8,000 80%
2H5B8(0K) AN & 79 7,160 82%
2H6H(K) ABR B5S 79 7,160 82%
2H7H(GE) AN | 79 8,000 80%
2H8H(X) ABR =) 79 8,000 80%
2H9H(H) AN | 79 8,000 80%
2H10H(H) ABR B5S 79 7,160 82%
2H11HX) AN i 79 7,160 82%
2H12H(K) ABR BES 79 7,160 82%
2H13H(XK) AN & 79 7,160 82%
2H14H(&) ABR B 79 7,160 82%
2H15H(%) AN i 79 7,160 82%
2H16H(H) ABR B5S 79 8,000 80%
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2H17H(H) ABR =) 79 7,160 82%
2H18H(N) AN B5S 79 7,160 82%
2H19H(K) ABR = 79 7,160 82%
2H20H(K) AN B5S 79 7,160 82%
2H21H(5&) AP B 79 7,160 82%
2H22H(L) AN B5S 79 8,000 80%
2H23H(H) ABR = 79 7,160 82%
2H24H(AH) AN B5S 79 8,000 80%
2H25H(N) ABR = 79 7,160 82%
2H26H(K) AN B5S 79 7,160 82%
2H27H(XK) ABR = 79 7,160 82%
2H28H (&) AN B5S 79 7,160 82%

3H1H(X) AP B 79 8,000 81%

3H2H(H) AN B5S 79 8,000 81%

3H3H(H) AN = 79 7,160 83%

3H48(X) AN B5S 79 7,160 83%

3H5HK) AN = 79 7,160 83%

3H6H(K) AN B5S 79 7,160 83%

3H7H(GE) AN = 79 7,160 83%

3H8H(TL) AN B5S 79 8,000 81%

3H9H(H) AN = 79 8,000 81%
3H10H(AH) AN B5S 79 7,160 83%
3H11HCXN) AN = 79 7,160 83%
3H12H(K) AN B5S 79 7,160 83%
3H13H(K) AN = 79 7,160 83%
3H14H(:®) AN B5S 79 7,160 83%
3H15H(%) AN = 79 8,000 81%
3H16H(H) AN B5S 79 8,000 81%
3H17H(H) ABR B 79 7,160 83%
3H18H(N) AN B5S 79 7,160 83%
3H19H(K) ABR B 79 7,160 83%
3H20H(XK) AN B5S 79 7,160 83%
3H21H(5&) ABR B 79 7,160 83%
3H22H(L) AN B5S 79 8,000 81%
3H23H(H) ABR B 79 8,000 81%
3H24H(AH) AN B5S 79 7,160 83%
3H25H(X) ABR B 79 7,160 83%
3H26H(K) AN B5S 79 7,160 83%
3H27H(K) ABR B 79 7,160 83%
3H28H (&) AN B5S 79 7,160 83%
3H29H(%) ABR B 79 8,000 81%
1281H(H) & AP 80 8,000 81%
12H2H(H) =) N 80 8,000 81%
12H3H(X) & AP 80 7,160 83%
12H4H(K) =) N 80 7,160 83%
12H5H(K) & AP 80 7,160 83%
12H6H(E) =) N 80 8,000 81%
1287H(XL) & AP 80 8,000 81%
12H8H(H) =) N 80 8,000 81%
12859H(H) & KB 80 8,000 81%
12H10H(CN) =) N 80 8,000 81%
12H11H(K) & KB 80 8,000 81%
12H12H(K) =) N 80 8,000 81%
12H138(E) & KB 80 8,000 81%
12H14H(X) BE KB 80 8,000 81%
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12H15H(H) =] AP 80 8,000 81%
12H16H(A) RS N 80 8,000 81%
12H178(CX) BS AP 80 7,160 83%
12H18H(K) RS AN 80 8,000 81%
12H19H(K) BS AP 80 8,000 81%
12H20H(%&) RS AN 80 8,000 81%
12H21H(X) =] AP 80 8,000 81%
12H22H(H) RS N 80 8,000 81%
12H23H(H) =] AP 80 7,160 83%
12H248(N) RS AN 80 8,000 81%
12H25H(K) BS AP 80 8,000 81%
12H26H(K) RS AN 80 8,000 81%

1H6H(H) =] AP 80 8,000 80%
1H7H(N) RS AN 80 8,000 80%
1H8H(K) B AP 80 7,160 82%
1H9H(XK) RS AN 80 7,160 82%
1H10HGER) =] AP 80 7,160 82%
1H11H(XL) RS AN 80 9,000 77%
1H12H(H) =] AP 80 8,000 80%
1813H(H) RS AN 80 9,000 77%
1H14H(X) B AP 80 7,160 82%
1H15H(K) RS KB 80 7,160 82%
1H16H(K) B AP 80 7,160 82%
1H17H(GE) RS AN 80 8,000 80%
1H18H(L) =] AP 80 8,000 80%
1819H((H) RS KB 80 7,160 82%
1H20H(H) =] AP 80 7,160 82%
1H21H(X) RS AP 80 7,160 82%
1H22H(K) B ABR 80 7,160 82%
1H23H(K) RS AP 80 7,160 82%
1H24H(E) =] ABR 80 8,000 80%
1H25H(L) RS AP 80 7,160 82%
1H26H(H) =] ABR 80 8,000 80%
1827H(H) RS AP 80 8,000 80%
1H28H(X) B ABR 80 8,000 80%
1H29H(K) RS AP 80 8,000 80%
1H30H(K) B ABR 80 8,000 80%
1H31HGE) RS AP 80 8,000 80%
2H1H(X) =] ABR 80 7,160 82%
2H2H((H) RS AP 80 8,000 80%
2H3H((A) BS ABR 80 7,160 82%
2H48(X) & AP 80 7,160 82%
2H5HK) =) N 80 7,160 82%
2H6H(K) & AP 80 7,160 82%
2H7H(ER) =) N 80 7,160 82%
2H8H(X) & AP 80 8,000 80%
2H9H(H) =) ABR 80 8,000 80%
2H10H(H) & AP 80 7,160 82%
2H11H(X) =) N 80 8,000 80%
2H12H(K) & KB 80 8,000 80%
2H13H(K) =) N 80 7,160 82%
2H14H(®) & KB 80 8,000 80%
2H15H(L) =) N 80 7,160 82%
2H16H(H) & KB 80 7,160 82%
2H17H(H) BE KB 80 7,160 82%




a%H [XF& B IBEX#il
2H18H(N) =] AP 80 7,160 82%
2H19H(K) RS N 80 7,160 82%
2H20H(XK) BS AP 80 7,160 82%
2H21H(&) RS AN 80 8,000 80%
2H22H(L) =] AP 80 8,000 80%
2H23H(H) RS AN 80 8,000 80%
2H24H(H) =] AP 80 8,000 80%
2H25H(N) RS N 80 7,160 82%
2H26H(K) BS AP 80 7,160 82%
2H27H(K) RS AN 80 7,160 82%
2H28H(5&) =] AP 80 7,160 82%
3H1H(TE) RS AN 80 8,000 81%
3H2H((H) =] AP 80 8,000 81%
3H3HA) RS AN 80 7,160 83%
3H4H(N) B AP 80 7,160 83%
3H5H0K) RS AN 80 7,160 83%
3H6H(R) B AP 80 7,160 83%
3H7H(GE) RS AN 80 7,160 83%
3H8H(X) =] AP 80 8,000 81%
3H9H(H) RS AN 80 8,000 81%
3H10H(H) =] AP 80 7,160 83%
3H11H(N) RS KB 80 7,160 83%
3H12H(K) B AP 80 7,160 83%
3H13H(K) RS AN 80 7,160 83%
3H14H(%) =] AP 80 7,160 83%
3H15H(L) RS KB 80 8,000 81%
3H16H(H) =] AP 80 8,000 81%
3H17H(A) RS AP 80 7,160 83%
3H18H(X) B ABR 80 7,160 83%
3H19H(K) RS AP 80 7,160 83%
3H20H(K) B ABR 80 7,160 83%
3H21H(®) RS AP 80 7,160 83%
3H22H(L) =] ABR 80 8,000 81%
3H23H(H) RS AP 80 8,000 81%
3H24H(H) B ABR 80 7,160 83%
3H25H(N) RS AP 80 7,160 83%
3H26H(K) B ABR 80 7,160 83%
3H27H(XK) RS AP 80 7,160 83%
3H28H(5&) =] ABR 80 7,160 83%
3H29H(%) RS AP 80 8,000 81%
12H1H((H) ABR B 81 11,000 73%
1282H(H) AN & 81 8,000 81%
12H3H(X) ABR B5S 81 7,160 83%
12H4H(K) AN & 81 7,160 83%
12H5H(K) ABR B5S 81 7,160 83%
12H6H(E) AN & 81 7,160 83%
12H7H(XL) ABR B5S 81 8,000 81%
1258H(H) AN & 81 8,000 81%
12H9H(H) ABR B5S 81 8,000 81%

12H108(CN) AN & 81 8,000 81%
12H11H(CK) ABR BES 81 8,000 81%
12H12H(K) AN & 81 8,000 81%
12H13H(%&) ABR BES 81 8,000 81%
12H14H(X) AN & 81 8,000 81%
12H15H(H) AN B5S 81 8,000 81%
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12H16H(H) ABR == 81 8,000 81%
12H17H(CN) AN B5S 81 7,160 83%
12H18H(K) ABR = 81 8,000 81%
12H19H(K) AN B5S 81 7,160 83%
12H208 (&) AP B 81 7,160 83%
12H21H(X) AN B5S 81 7,160 83%
12H22H(H) ABR = 81 8,000 81%
12H23H(H) AN B5S 81 8,000 81%
12H248(XN) ABR = 81 8,000 81%
12H25H(K) AN B5S 81 8,000 81%
12H26H(K) ABR = 81 8,000 81%

156H(H) AN B5S 81 9,000 77%
1H7H(X) AP B 81 7,160 82%
1H8H(K) AN B5S 81 7,160 82%
1H9H(K) AN B5 81 7,160 82%
1H10H(E) AN B5S 81 8,000 80%
1H11H(XL) AN B5 81 9,000 77%
1812H(H) AN B5S 81 8,000 80%
1H13H(H) AN B5 81 9,000 77%
1H148H0X) AN B5S 81 7,160 82%
1H15H(K) AN B5 81 7,160 82%
1H16H(K) AN B5S 81 7,160 82%
1H17H(GER) AN B5 81 7,160 82%
1H18H(L) AN B5S 81 7,160 82%
1H19H((H) AN = 81 8,000 80%
1820H(H) AN B5S 81 7,160 82%
1H21H(KX) AN B5 81 7,160 82%
1H22H(K) AN B5S 81 7,160 82%
1H23H(K) ABR BS 81 7,160 82%
1H24H(E) AN B5S 81 7,160 82%
1H25H(XL) ABR B 81 8,000 80%
1826H(H) AN B5S 81 8,000 80%
1H27H(H) ABR BS 81 9,000 77%
1H28H(X) AN B5S 81 7,160 82%
1H29H(K) ABR BS 81 7,160 82%
1H30H(K) AN B5S 81 7,160 82%
1H31H(GER) ABR B 81 8,000 80%
2H1H(EL) AN B5S 81 8,000 80%
2H2H(H) ABR BS 81 7,160 82%
2H3H((A) AN B5S 81 8,000 80%
2H4H(N) ABR BS 81 7,160 82%
2H5B8(0K) AN & 81 7,160 82%
2H6H(K) ABR B5S 81 7,160 82%
2H7H(GE) AN & 81 8,000 80%
2H8H(X) ABR B5S 81 8,000 80%
2H9H(H) AN & 81 8,000 80%
2H10H(H) ABR B5S 81 8,000 80%
2H11H(N) AN & 81 8,000 80%
2H12H(K) ABR B5S 81 7,160 82%
2H13H(XK) AN & 81 7,160 82%
2H14H(&) ABR BES 81 7,160 82%
2H15H (%) AN & 81 8,000 80%
2H16H(H) ABR BES 81 8,000 80%
2H17H(AH) AN & 81 7,160 82%
2H18H(X) AN B5S 81 7,160 82%
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2H19H(K) ABR == 81 7,160 82%
2H20H(K) AN B5S 81 7,160 82%
2H21H(5E) ABR = 81 7,160 82%
2H22H(L) AN B5S 81 7,160 82%
2H23H(H) AP B 81 7,160 82%
2H24H(AH) AN B5S 81 8,000 80%
2H25H(N) ABR = 81 7,160 82%
2H26H(K) AN B5S 81 7,160 82%
2H27H(XK) ABR = 81 7,160 82%
2H28H (&) AN B5S 81 7,160 82%
3H1H(X) ABR = 81 8,000 81%
3H2H(H) AN B5S 81 8,000 81%
3H3H(A) AP B 81 7,160 83%
3H48(X) AN B5S 81 7,160 83%
3H5H(K) AN = 81 7,160 83%
3H6H(K) AN B5S 81 7,160 83%
3H7H(GE) AN = 81 7,160 83%
3H8H(TL) AN B5S 81 8,000 81%
3H9H(H) AN B5 81 8,000 81%
3H10H(AH) AN B5S 81 7,160 83%
3H11HX) AN = 81 7,160 83%
3H12H(K) AN B5S 81 7,160 83%
3H13H(K) AN = 81 7,160 83%
3H14H(:®) AN B5S 81 7,160 83%
3H15H(%) AN B5 81 8,000 81%
3H16H(H) AN B5S 81 8,000 81%
3H17H(H) AN = 81 7,160 83%
3H18H(N) AN B5S 81 7,160 83%
3H19H(K) ABR B 81 7,160 83%
3H20H(XK) AN B5S 81 7,160 83%
3H21H(5&) ABR B 81 7,160 83%
3H22H(L) AN B5S 81 8,000 81%
3H23H(H) ABR BS 81 8,000 81%
3H24H(AH) AN B5S 81 7,160 83%
3H25H(X) ABR B 81 7,160 83%
3H26H(K) AN B5S 81 7,160 83%
3H27H(K) ABR B 81 7,160 83%
3H28H (&) AN B5S 81 7,160 83%
3H29H(%) ABR BS 81 8,000 81%
1281H(H) RS AP 82 8,000 81%
12H2H(H) BS ABR 82 7,160 83%
12H3H(X) & AP 82 7,160 83%
12H4H(K) =) N 82 7,160 83%
12H5H(K) & AP 82 8,000 81%
12H6H(E) =) ABR 82 11,000 73%
1287H(XL) & AP 82 8,000 81%
12H8H(H) =) N 82 8,000 81%
12859H(H) & AP 82 8,000 81%
12H10H(CN) =) N 82 7,160 83%
12H11H(K) & KB 82 7,160 83%
12H12H(K) =) N 82 7,160 83%
12H138(E) & KB 82 8,000 81%
12H14H(X) =) ABR 82 7,160 83%
12515H(H) & KB 82 8,000 81%
12H16H(A) BE KB 82 8,000 81%




a%H [XF& B IBEX#il
12H178(CX) =] AP 82 7,160 83%
12H18H(K) RS N 82 8,000 81%
12H19H(K) BS AP 82 7,160 83%
12H20H(&) RS AN 82 7,160 83%
12H21H(X) =] AP 82 7,160 83%
12H22H(H) RS AN 82 8,000 81%
12H23H(H) =] AP 82 7,160 83%
12H248(N) RS N 82 8,000 81%
12H25H(K) BS AP 82 7,160 83%
12H26H(K) RS AN 82 11,000 73%

1H6H(H) =] AP 82 8,000 80%
1H7H(N) RS AN 82 9,000 77%
1H8H(K) BS AP 82 7,160 82%
1H9H(XK) RS AN 82 7,160 82%
1H10H(GER) =] AP 82 8,000 80%
1H11H(XL) RS AN 82 8,000 80%
1H12H(H) =] AP 82 8,000 80%
1813H(H) RS AN 82 8,000 80%
1H14H(X) B AP 82 8,000 80%
1H15H(K) RS AN 82 7,160 82%
1H16H(K) B AP 82 7,160 82%
1H17H(GE) RS KB 82 7,160 82%
1H18H(L) =] AP 82 8,000 80%
1819H((H) RS AN 82 8,000 80%
1H20H(H) =] AP 82 8,000 80%
1H21HCX) RS KB 82 7,160 82%
1H22H(K) B AP 82 7,160 82%
1H23H(K) RS AP 82 9,000 77%
1H24H(E) =] ABR 82 8,000 80%
1H25H(L) RS AP 82 8,000 80%
1H26H(H) =] ABR 82 8,000 80%
1827H(H) RS AP 82 7,160 82%
1H28H(X) B ABR 82 7,160 82%
1H29H(K) RS AP 82 7,160 82%
1H30H(RK) B ABR 82 7,160 82%
1H31HGE) RS AP 82 7,160 82%
2H1H(X) =] ABR 82 7,160 82%
2H2H((H) RS AP 82 7,160 82%
2H3H((A) B ABR 82 7,160 82%
2H48(X) RS AP 82 8,000 80%
2H5H0K) BS ABR 82 7,160 82%
2H6H(K) & AP 82 7,160 82%
2H7H(ER) =) N 82 7,160 82%
2H8H(X) & AP 82 8,000 80%
2H9H(H) =) N 82 7,160 82%
2H10H(H) & AP 82 8,000 80%
2H11H(X) =) N 82 8,000 80%
2H12H(K) & AP 82 8,000 80%
2H13H(K) =) N 82 7,160 82%
2H14H(®) & KB 82 7,160 82%
2H15H(L) =) N 82 7,160 82%
2H16H(H) & KB 82 7,160 82%
2H17H(H) =) N 82 7,160 82%
2H18H(N) & KB 82 7,160 82%
2H19H(K) BE KB 82 7,160 82%
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2H20H(XK) =] AP 82 7,160 82%
2H21H(&) RS N 82 8,000 80%
2H22H(L) =] AP 82 8,000 80%
2H23H(H) RS AN 82 8,000 80%
2H24H(H) =] AP 82 8,000 80%
2H25H(N) RS AN 82 7,160 82%
2H26H(K) BS AP 82 7,160 82%
2H27H(K) RS N 82 7,160 82%
2H28H(5&) =] AP 82 7,160 82%

3H1H(TE) RS AN 82 8,000 81%

3H2H((H) =] AP 82 8,000 81%

3H3HA) RS AN 82 7,160 83%

3H48(X) BS AP 82 7,160 83%

3H5H0K) RS AN 82 7,160 83%

3H6H(R) B AP 82 7,160 83%

3H7H(GE) RS AN 82 7,160 83%

3H8H(X) =] AP 82 8,000 81%

3H9H(H) RS AN 82 8,000 81%
3H10H(H) =] AP 82 7,160 83%
3H11H(N) RS AN 82 7,160 83%
3H12H(K) B AP 82 7,160 83%
3H13H(K) RS KB 82 7,160 83%
3H14H(&) =] AP 82 7,160 83%
3H15H(L) RS AN 82 8,000 81%
3H16H(H) =] AP 82 8,000 81%
3H17H(A) RS KB 82 7,160 83%
3H18H(X) B AP 82 7,160 83%
3H19H(K) RS AP 82 7,160 83%
3H20H(K) B ABR 82 7,160 83%
3H21H(:®) RS AP 82 7,160 83%
3H22H(%) =] ABR 82 8,000 81%
3H23H(H) RS AP 82 8,000 81%
3H24H(H) B ABR 82 7,160 83%
3H25H(N) RS AP 82 7,160 83%
3H26H(K) B ABR 82 7,160 83%
3H27H(XK) RS AP 82 7,160 83%
3H28H(5&) =] ABR 82 7,160 83%
3H29H(%) RS AP 82 8,000 81%
12H1H((H) &l ik 83 13,700 76%
1282H(H) &l it 83 12,700 78%
12H3H(X) fE ] ik 83 10,700 81%
12H4H(K) &l it 83 10,200 82%
12H5H(K) =lid ot 83 10,700 81%
1258H(H) &l it 83 13,700 76%
12H9H(H) =lid ot 83 10,700 81%
12H108(XN) &l it 83 10,200 82%
12H11H(CK) =lid it 83 10,200 82%
12H12H(K) &l it 83 10,200 82%
12H13H(&) =lid it 83 10,700 81%
12H14H(X) &l it 83 10,200 82%
12H16H(H) =lid it 83 12,700 78%
12H17H(N) &l it 83 10,200 82%
12H18H(K) =lid it 83 10,200 82%
12H19H(K) &l it 83 9,700 83%
12H20H(&) &l e 83 10,700 81%




a%H [XF& B IBEX#il
12H248(X) &l it 83 11,200 80%
12H25H(K) &l ot 83 11,200 80%
12H26H(K) f& ] it 83 11,700 79%

156H(H) &l ot 83 13,700 75%
1A78BX) f& ] it 83 10,200 81%
1H8H(K) &l ot 83 9,700 82%
1H9H(K) f& ] it 83 10,200 81%
1H10H(ER) &l ot 83 10,200 81%
1H11H(XL) &l it 83 14,200 74%
1812H(H) &l ot 83 10,700 80%
1H13H(H) &l it 83 11,700 78%
1H14HX) &l ot 83 10,700 80%
1H15H(0K) &l it 83 10,200 81%
1H16H(K) &l ot 83 10,200 81%
1H17H(ER) &l ik 83 11,200 79%
1H18H(L) &l it 83 10,700 80%
1H19H((H) &l ok 83 10,200 81%
1820H(H) &l it 83 11,200 79%
1H21H(KX) & ] ok 83 11,200 79%
1H22H(K) &l it 83 9,700 82%
1H23H(RK) & ] ok 83 9,700 82%
1H24H(E) &l it 83 10,200 81%
1H25H(L) &l ok 83 10,700 80%
1826H(H) &l it 83 9,700 82%
1H27H(H) &l ok 83 9,700 82%
1H28H(X) &l it 83 9,700 82%
1H29H(K) &l ok 83 9,700 82%
1H30H(K) &l it 83 10,200 81%
1H31H(GER) &l ik 83 10,200 81%
2H1H(EL) &l it 83 9,700 82%
2H2H(H) &l ik 83 9,700 82%
2H3H((A) &l it 83 9,700 82%
2H48(X) & ik 83 9,700 82%
2H5BH(0K) &l it 83 9,700 82%
2H6H(K) & ik 83 9,700 82%
2H7H(GE) &l it 83 9,700 82%
2H8H(X) &l ik 83 11,700 78%
2H9H(H) &l it 83 9,700 82%
2H10H(H) & ik 83 11,700 78%
2H11H(N) &l it 83 10,700 80%
2H12H(K) &l ik 83 10,200 81%
2H13H(XK) &l it 83 9,700 82%
2H14H(&) =lid ot 83 10,200 81%
2H15H(%) &l it 83 9,700 82%
2H16H(H) =lid ot 83 9,700 82%
2H17H(AH) &l it 83 10,200 81%
2H18H(X) =lid it 83 9,700 82%
2H19H(K) &l it 83 9,700 82%
2H20H(K) =lid it 83 9,700 82%
2H21H(s®) &l it 83 10,200 81%
2H22H(%) =lid it 83 12,700 77%
2H23H(H) &l it 83 10,200 81%
2H24H(H) =lid it 83 11,200 79%
2H25H(N) &l it 83 9,700 82%
2H26H(K) &l e 83 10,200 81%
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2H27H(K) el Fe 83 10,200 81%
2H28H(2) e it 83 10,200 81%

381H(1) el F 83 10,200 82%

3H2H(H) 18 it 83 9,700 83%

3838(A) 12 F 83 9,700 83%

34BN 18 it 83 9,700 83%

385H0K) 12 iR 83 9,700 83%

3H6H(X) e it 83 10,200 82%

3E7H(®) 12 F 83 10,200 82%

3H8H(L) 18 it 83 11,200 80%

3898(H) 12 F 83 9,700 83%
35108H(B) 18 it 83 9,700 83%
38118 (N) 12 F 83 9,700 83%
3812H0K) 18 it 83 9,700 83%
3813H(XK) 12 Fe 83 10,200 82%
3H14H(2) & e 83 10,200 82%
3815H(1) 12 Fe 83 10,700 81%
3516H(H) & e 83 10,700 81%
3817H(B) 12 Fe 83 9,700 83%
3H18H(A) & e 83 9,700 83%
3819H(K) 12 Fe 83 9,700 83%
3H20H(XK) & e 83 11,200 80%
3821H(2) 12 Fe 83 10,200 82%
3H22H(1) 18 e 83 10,200 82%
3823H(H) 12 Fe 83 11,700 79%
3H24H(B) & e 83 9,700 83%
3825H(A) 12 Fe 83 9,700 83%
3H26H(K) el 8 83 9,700 83%
3H278(K) 12 Fe 83 9,700 83%
3H28H(2) 18 8 83 9,700 83%
3829H(1) 12 Fe 83 10,700 81%
12828(H) e 1am 84 11,700 79%
128118 (K) e el 84 13,700 76%
12812H(XK) e 1am 84 11,700 79%
12815H(H) R el 84 11,700 79%
12816H(A) e 1am 84 10,200 82%
128178(X) e el 84 10,700 81%
12518H(K) e 1am 84 12,700 78%
12820H(%) e el 84 13,700 76%
12823H(A) e 1am 84 10,700 81%
12824H(X) e el 84 11,700 79%
125258 (K) e tam 84 12,700 78%

1A68(8) e & 84 11,200 79%

1A78(N) e tam 84 10,700 80%

1A8H(K) e & 84 9,700 82%

1B9H(X) e tam 84 11,200 79%
1A108(%) e & 84 10,700 80%
1A128(H) e tam 84 10,700 80%
1A138(8) e & 84 11,200 79%
1814H(XN) i & 84 10,200 81%
18158 () e & 84 9,700 82%
1A16H(X) 8 tam 84 10,200 81%
1A178(%) e & 84 9,700 82%
1H19H(H) i & 84 12,700 77%
18208(H) it & 84 11,200 79%
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1H21H(X) ok @] 84 9,700 82%
1H22H(K) Eoibis) &l 84 9,700 82%
1H23H(K) b @] 84 10,200 81%
1H24H(E) it &l 84 10,700 80%
1H25H(XL) b @] 84 10,200 81%
1826H(H) it &l 84 9,700 82%
1H27H(H) b @] 84 9,700 82%
1H28H(X) it &l 84 10,200 81%
1H29H(K) b @] 84 10,200 81%
1H30H(K) Eoibis) &l 84 10,200 81%
1H31HGER) b @] 84 10,200 81%
2H1H(TE) it &l 84 11,700 78%
2H2H((H) b @] 84 9,700 82%
2H3H(A) it &l 84 9,700 82%
2H4B8(X) o) @] 84 10,200 81%
2H580K) ik e ] 84 10,200 81%
2H6H(K) Eolb) @] 84 9,700 82%
2H7H(GE) ik e ] 84 10,700 80%
2H8H(X) R @] 84 13,700 75%
2H9H(H) Eoibi) e ] 84 11,700 78%
2H10H(H) Eolb) @] 84 10,200 81%
2H11H(N) ik e ] 84 10,200 81%
2H12H(K) R @] 84 9,700 82%
2H13H(K) ik e ] 84 11,700 78%
2H14H(5&) Eolb) @] 84 9,700 82%
2H15H(L) ik e ] 84 10,200 81%
2H16H(H) R @] 84 10,200 81%
2H17H(AH) Eoibi) ] 84 10,200 81%
2H18H(X) o) ] 84 9,700 82%
2H19H(K) Eoibi) &[] 84 10,200 81%
2H20H(R) b, ] 84 10,700 80%
2H21H(s®) Eoibi) ] 84 11,700 78%
2H22H(%) o) fE 84 12,700 77%
2H23H(H) Eoibi) &[] 84 11,700 78%
2H24H(H) b, ] 84 11,700 78%
2H25H(N) Eoibi) ] 84 11,700 78%
2H26H(K) o) ] 84 10,200 81%
2H27H(XK) Eoibi) &[] 84 10,200 81%
2H28H(5&) o) ] 84 10,200 81%
3H1H(EL) Eoibi) &[] 84 10,200 82%
3H2H(H) o) @] 84 10,200 82%
3H3H(A) poibi) @] 84 10,200 82%
3H48(X) b e ] 84 10,200 82%
3H5H(0K) poibi) @] 84 10,200 82%
3H6H(K) b e ] 84 11,200 80%
3H7H(GE) poibi) @] 84 11,200 80%
3H8H(X) b e ] 84 11,200 80%
3H9H(H) poibi) @] 84 10,200 82%
3H10H(H) b e ] 84 10,200 82%
3H11H(XN) Eoibi) &[] 84 11,200 80%
3H12H(K) o) e ] 84 10,200 82%
3H13H(XK) Eoibi) &[] 84 10,200 82%
3H14H(&) o) e ] 84 10,700 81%
3H15H (%) Eoibi) &[] 84 11,700 79%
3H16H(H) it &l 84 10,200 82%
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3817H(B) B tam 84 13,700 76%
3H18H(A) it & 84 10,200 82%
3819H0K) Fbe & 84 10,200 82%
3H20H(K) it & 84 11,700 79%
3E21H(®) Fbe & 84 11,700 79%
3H22H(1) it & 84 10,200 82%
3823H(H) Fbe & 84 10,200 82%
3H24H(B) e & 84 10,200 82%
3825H(A) Fbe & 84 10,200 82%
3826H(K) e & 84 10,200 82%
38278(k) Fbe & 84 11,700 79%
3H28H(2) it & 84 10,700 81%
3829H(1) Fbe & 84 10,200 82%
12838 (N) 18 it 87 11,700 79%
12848 0K) 12 Fe 87 11,700 79%
12858 (K) 12 e 87 12,700 78%
12878(1) 12 Fe 87 13,700 76%
12H8H(H) f& b 87 13,700 76%
12810H(N) 12 Fe 87 11,700 79%
128118 (K) & e 87 10,700 81%
128 128(X) 12 Fe 87 12,700 78%
12513H(%) 18 e 87 12,700 78%
12814H(1) 12 Fe 87 10,700 81%
12817H(N) & e 87 11,700 79%
12818H(7K) 12 Fe 87 10,200 82%
12819H(K) & e 87 10,200 82%
12821H(+) 12 Fe 87 10,700 81%
128248 (N) el 8 87 11,200 80%
128258 (7K) 12 Fe 87 11,700 79%

186H(H) & S 87 12,700 77%
1A78(N) 12 Fe 87 10,200 81%
18B8H(K) & S 87 9,700 82%
1898 (K) 12 Fe 87 9,700 82%
1A10B(£) 18 8 87 10,700 80%
1A118(1) 12 Fe 87 12,700 77%
1A128(H) el 8 87 12,700 77%
1A138(8) 12 Fe 87 14,200 74%
1A148(N) el 8 87 10,700 80%
18158 (K) 12 Fe 87 10,200 81%
1816H(K) fahE S 87 9,700 82%
1A178(%) 12 e 87 10,200 81%
1818H(1) 1 Fe 87 10,200 81%
1A198(H) 12 e 87 11,700 78%
18208(8) el Fe 87 11,200 79%
18218 (N) 12 e 87 10,200 81%
182280K) el Fe 87 10,200 81%
1823H(K) 12 e 87 9,700 82%
18248(£) 1 R 87 10,200 81%
18258 (1) 12 e 87 10,200 81%
1826H(H) el e 87 10,700 80%
18278(8) 12 e 87 10,700 80%
18288 (N) el e 87 9,700 82%
18298 (7K) 12 e 87 10,200 81%
1830H(K) el e 87 10,200 81%
1831H(®) e it 87 9,700 82%
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2H1H(X) &l it 87 9,700 82%
2H2H((H) &l ot 87 10,200 81%
2H3H((A) &l it 87 10,200 81%
2H4B(X) &l ot 87 9,700 82%
2H58(0K) &l it 87 9,700 82%
2H6H(K) &l ot 87 9,700 82%
2H78(E) &l it 87 11,200 79%
2H8H(TL) &l ot 87 11,700 78%
2H9H(H) &l it 87 10,200 81%
2H10H(AH) &l ot 87 12,700 77%
2H11HX) f& ] it 87 12,700 77%
2H12H(K) &l ot 87 9,700 82%
2H13H(XK) f& ] it 87 9,700 82%
2H14H(&) &l ot 87 9,700 82%
2H15H(%) &l ik 87 11,700 78%
2H16H(H) &l it 87 10,700 80%
2H17H(H) &l ok 87 10,200 81%
2H18H(N) &l it 87 9,700 82%
2H19H(K) &l ok 87 10,200 81%
2H20H(K) &l it 87 10,700 80%
2H21H(5&) &l ok 87 9,700 82%
2H22H(L) &l it 87 11,200 79%
2H23H(H) &l ok 87 13,700 75%
2H24H(H) &l it 87 14,200 74%
2H25H(X) & ] ok 87 10,200 81%
2H26H(K) &l it 87 11,200 79%
2H27H(K) & ] ok 87 10,200 81%
2H28H (&) &l it 87 10,200 81%
3H1H(X) &l ik 87 9,700 83%
3H2H((H) &l it 87 11,200 80%
3H3H(H) & ik 87 10,200 82%
3H48(X) &l it 87 9,700 83%
3H5HK) &l ik 87 10,200 82%
3H6H(K) &l it 87 9,700 83%
3H7H(GE) &l ik 87 10,200 82%
3H8H(L) &l it 87 10,200 82%
3H9H(H) &l ik 87 11,700 79%
3H10H(A) &l it 87 11,200 80%
3H11H(X) & ik 87 10,200 82%
3H12H(K) &l it 87 10,200 82%
3H13H(RK) fE ] ik 87 10,700 81%
3H14H(®) &l it 87 13,700 76%
3H15H(%) =lid ot 87 10,700 81%
3H16H(H) &l it 87 11,700 79%
3H17H(H) =lid ot 87 10,200 82%
3H18H(N) &l it 87 10,700 81%
3H19H(K) =lid it 87 10,200 82%
3H20H(XK) &l it 87 10,200 82%
3H21H(&) =lid it 87 10,200 82%
3H22H(L) &l it 87 11,200 80%
3H23H(H) =lid it 87 13,700 76%
3H24H(H) &l it 87 10,700 81%
3H25H(X) =lid it 87 9,700 83%
3H26H(K) &l it 87 10,200 82%
3H27H(K) &l e 87 10,200 82%
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3H28H(5&) &l it 87 10,700 81%
3H29H(L) &l ot 87 11,200 80%
1251H(H) b @] 88 13,700 76%
1282H(H) it &l 88 13,700 76%
12H3H(X) b @] 88 10,200 82%
12H4H(K) it &l 88 10,200 82%
12H5H(K) b @] 88 13,700 76%
12H6H(%) it &l 88 11,700 79%
1287H(XL) b @] 88 11,700 79%
1289H(H) Eoibis) &l 88 11,700 79%
12H10H(N) b @] 88 10,200 82%
12H11H(K) it &l 88 10,200 82%
12H12H(K) b @] 88 11,700 79%
12H13H(%&) it &l 88 13,700 76%
12H14H(X) o) @] 88 13,700 76%
12H15H(H) ik e ] 88 11,700 79%
12H16H(A) Eolb) @] 88 12,700 78%
12H17H(CN) ik e ] 88 10,200 82%
12H18H(K) R @] 88 11,700 79%
12H19H(XK) Eoibi) e ] 88 11,700 79%
12H22H(H) Eolb) @] 88 10,200 82%
12H23H(A) ik e ] 88 11,700 79%
12H24H(N) R @] 88 11,200 80%
12H25H(K) ik e ] 88 12,700 78%

1H6H(A) Eolb) @] 88 11,700 78%

1H7H(N) ik e ] 88 10,700 80%

1H8H(K) R @] 88 9,700 82%

1H9H(K) Eoibi) ] 88 11,200 79%
1H10H(GER) o) fE 88 12,700 77%
1H11H(XL) Eoibi) &[] 88 10,200 81%
1H12H(H) b, ] 88 10,200 81%
1813H(H) Eoibi) ] 88 11,200 79%
1H14H(CKN) o) ] 88 10,200 81%
1H15H(0K) Eoibi) &[] 88 9,700 82%
1H16H(K) b, ] 88 9,700 82%
1H18H(L) Eoibi) ] 88 10,700 80%
1H19H(H) o) ] 88 11,200 79%
1820H(H) Eoibi) &[] 88 11,200 79%
1H21H(KX) o) ] 88 9,700 82%
1H22H(K) Eoibi) &[] 88 10,200 81%
1H23H(K) o) @] 88 10,200 81%
1H24H(&E) poibi) @] 88 10,200 81%
1H25H(L) b e ] 88 9,700 82%
1H26H(H) poibi) @] 88 10,200 81%
1H27H(H) b e ] 88 10,200 81%
1H28H(X) poibi) @] 88 9,700 82%
1H29H(K) b e ] 88 9,700 82%
1H30H(K) poibi) @] 88 10,200 81%
1H31H(ER) b e ] 88 11,200 79%

2H1H(L) Eoibi) &[] 88 9,700 82%

2H2H(H) o) e ] 88 9,700 82%

2H3H((A) Eoibi) &[] 88 9,700 82%

2H48(X) o) e ] 88 10,200 81%

2H5H(K) Eoibi) &[] 88 9,700 82%

2H6H(K) it &l 88 10,200 81%
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2H7H(E) ok @] 88 11,700 78%
2H8H(TL) Eoibis) &l 88 10,700 80%
2H9H(H) b @] 88 10,200 81%
2H10H(AH) it &l 88 9,700 82%
2H11HX) b @] 88 10,700 80%
2H12H(K) it &l 88 9,700 82%
2H13H(XK) b @] 88 9,700 82%
2H14H(&) it &l 88 9,700 82%
2H15H(%) b @] 88 9,700 82%
2H16H(H) Eoibis) &l 88 9,700 82%
2H17H(H) b @] 88 9,700 82%
2H18H(N) it &l 88 9,700 82%
2H19H(K) b @] 88 10,200 81%
2H20H(K) it &l 88 10,700 80%
2H21H(5&) o) il 88 12,700 77%
2H22H(L) ik e ] 88 11,700 78%
2H23H(H) Eolb) @] 88 10,200 81%
2H24H(H) ik e ] 88 12,700 77%
2H25H(X) R @] 88 10,700 80%
2H26H(K) Eoibi) e ] 88 9,700 82%
2H27H(K) Eolb) @] 88 9,700 82%
2H28H (&) ik e ] 88 10,700 80%
3H1H(X) R @] 88 9,700 83%
3H2H((H) ik e ] 88 11,200 80%
3H3H(H) Eolb) @] 88 9,700 83%
3H48(X) ik e ] 88 9,700 83%
3H5HK) R @] 88 9,700 83%
3H6H(K) Eoibi) ] 88 10,200 82%
3H7H(GE) o) ] 88 10,700 81%
3H8H(L) Eoibi) &[] 88 10,200 82%
3H9H(H) b, ] 88 10,700 81%
3H10H(A) Eoibi) ] 88 9,700 83%
3H11H(X) o) ] 88 9,700 83%
3H12H(K) Eoibi) &[] 88 9,700 83%
3H13H(K) b, ] 88 9,700 83%
3H14H(%) Eoibi) ] 88 11,200 80%
3H15H(%) o) ] 88 10,200 82%
3H16H(H) Eoibi) &[] 88 10,200 82%
3H17H(H) o) ] 88 9,700 83%
3H18H(N) Eoibi) &[] 88 10,200 82%
3H19H(K) o) @] 88 10,200 82%
3H20H(XK) poibi) @] 88 11,700 79%
3H21H(&) b e ] 88 11,200 80%
3H22H(L) poibi) @] 88 9,700 83%
3H23H(H) b e ] 88 10,200 82%
3H24H(H) poibi) @] 88 9,700 83%
3H25H(X) b e ] 88 9,700 83%
3H26H(K) poibi) @] 88 9,700 83%
3H27H(K) b e ] 88 9,700 83%
3H28H(5&) Eoibi) &[] 88 11,200 80%




fBEH (X[ B IBEX4il

3H29H(%) ok | @] 88 9,700 | 83%

BHTRZEE IEBERZE - REEREE (TOh7) - KIRERZE () -ERZZERBBRTE. MESIBADKE.
Rz EE ICHNA Tl iRE fEERE AR 2 22BN SHCRDOTRURITET.

#ERE (1R1XEAE)

Fi% 1 KA3701 (NE180MA)

flis : KA290M ()\E150M)

HhER : KA440M (\E220M)

Y KA340M (\E170M)

fafE 1 KA110M (MNE50M)



